MR RBRE EER(2A1B~3A1AEERS)

JAL/JTA/JAC/RAC

st R FAEEIS] INRAR R R EIS| SIRENLERIRBEIE
X #ad | BHBO A = = =

——— VRN L. 2 B R T

XD | XEQ [ KEG EIEIES EIEIES EIEE S

RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EH% [HEGH) JTA/RAC[JAL/JTA 55,500 5% 27,750 52% 35,500 39%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 59,300 7% 29,650 54% 37,950 41%
REFE [HEGER JTA [JAL/JTA 59,300 7% 29,650 54% 37,950 41%
KB (BEFE) JTA JAL 59,300 16% 29,650 58% 37,950 46%
KB (7 =% @31 | KRk () | R= CRA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
ZimplFE | RECHEH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
KB (B8TE) =% 3 | Kbk (B3#E) 5| = CRIEA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
HLIE (T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
SN ESACREED) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR (FFH =8Il [ KBr (FFH % | 3R CHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
B  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
Khx (BE7E) =#BJIl | XBx (BE7E) % | 3R CHHEH) JAL JAL 40,900 34% 20,450 67% 26,200 58%
BN  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
SipEs  [HECHH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR (BE7E) =8B | KBx (RE7E) 5| 3R CHEH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
fiER  [HECHH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR (BFH) =5 [ KB (R FH) %[ 3R CHEH) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HEE [ER(CHHE) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KR (BE7E) = /5 | KB (BEdE) %[ 3R CHEH) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HEE [ERER(CHH) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 41,300 23% 20,650 62% 26,450 51%
BHEER [HAECHHE) JAL JAL 41,300 23% 20,650 62% 26,450 51%
ABR FFD) % | /R CHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
ZR%  [HECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KBR (B97E) = =R ZR% [HECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KB () =Rk [ KRR (R FH HE JAC JAC 20,500 35% 10,250 67% 13,100 58%
(B HE JAC JAC 20,500 35% 10,250 67% 13,100 58%
KB (FF) =187 5| X0k (F BERE JAC JAC 32,600 17% 16,300 59% 20,850 47%
BYE BRE JAC JAC 32,600 17% 16,300 59% 20,850 47%
KR (FFH =82 [ Xk (FF AR (BBER) JAL _[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EO% [HEGH) JTA/RAC| JAL 43,000 17% 21,500 58% 27,500 47%
KR (BAE) == [ KB (BE7E) F| P48 (BBIR) JAL/JTA|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EH% [HEGH) JTA/RAC[JAL/JTA 43,000 17% 21,500 58% 27,500 47%
KR (BFH =FR1E [ KB (RFH) F| 04 (BREH) JAL JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEGER JTA JAL 48,400 15% 24,200 58% 31,000 46%
KR (BEE) =FR1E | KBx (REFE) 5| P48 (BBIR) JAL/JTA| JTA 48,400 15% 24,200 58% 31,000 46%
AEH [HEER JTA [JAL/JTA 48,400 15% 24,200 58% 31,000 46%
LR (FE) =% 5| & EE (P ED) F[4LIE T i) JAL JAL 39,800 32% 19,900 66% 25,450 57%
ZEmAFE R EFTR JAL JAL 39,800 32% 19,900 66% 25,450 57%
AHE(FEH) ==& |£5E (hE) £ G5 JTA [JTA/RAC 44,000 22% 22,000 61% 28,150 50%
EH% [HEGH) JTA/RAC| JTA 44,000 22% 22,000 61% 28,150 50%
AT E (FE) =RiE[£5E () 2 G5 JTA JTA 53,000 14% 26,500 57% 33,900 45%
AEH  [HEGER) JTA JTA 53,000 14% 26,500 57% 33,900 45%
LR G F %) =/Ma[ALIR F Fad) [ H X CHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
MR (R CHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
FLOR G T %) = Rel L1 [4LI% (T ) 3| R CHH) JAL JAL 35,000 45% 17,500 72% 22,400 65%
EIE ESACET:)) JAL JAL 35,000 45% 17,500 72% 22,400 65%
IR EF%) =L B[R @ T 2| HR CHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
LEB% [FECHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
IR (B F %) = IO 8 | #LIR BT %) % R CRH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
WOFEFE [HECHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
AR BT %) =HE 4R @ T % HR CHH) JAL JAL 37,400 42% 18,700 71% 23,950 63%
= R (CHH) JAL JAL 37,400 42% 18,700 71% 23,950 63%
IR BT %) =B AR @ T %[ /R CHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
mEH [FECHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
IR BT %) == [ALIR FFa) 2| HR CHE) JAL JAL 39,900 37% 19,950 68% 25,550 59%
=% [FECHHE) JAL JAL 39,900 37% 19,950 68% 25,550 59%
IR (BT %) ==& AR G ) % R CREA) JAL JAL 41,400 36% 20,700 68% 26,500 59%
=A% [FECHH) JAL JAL 41,400 36% 20,700 68% 26,500 59%
IR (BT %) =AU [ALIR G F#) | R CREA) JAL JAL 43,700 33% 21,850 67% 27,950 57%
WL ["ERCHEH) JAL JAL 43,700 33% 21,850 67% 27,950 57%
ALIR BT 5% =LA [4LIR B F#%) 5| S CRIE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
LAMFE |RZECHEH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
LR BT %) = K5 LR F T % RR CHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
> FR CHHE) JAL JAL 42,000 39% 21,000 70% 26,900 61%
IR BT %) =R [4LIR @ T 2| HR CHEH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
RB%  [HAECHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
IR GBI T %) = RE AR [4LIR (T %[ RR CHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
A% [HECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
FLIR BT %) = =6 [4LIR (T 2| R CHH) JAL JAL 44,000 37% 22,000 69% 28,150 60%
ER%E [RRCRA) JAL JAL 44,000 37% 22,000 69% 28,150 60%
AR FFR) =ERS[ ARG TR | R CRA) JAL JAL 49,000 32% 24,500 66% 31,350 57%
BERE%E |RFE(HH) JAL JAL 49,000 32% 24,500 66% 31,350 57%
IR (B FR) =BEXS LI FT%) %[ /R CRH) JAL JAL 50,000 37% 25,000 69% 32,000 60%
EEAEH [RR(HH) JAL JAL 50,000 37% 25,000 69% 32,000 60%
AL BT 2% = GBI | ALIR (B F %) %[ R R (BIE) JAL _[JAL/JTA 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL [JAL/JTA 51,200 32% 25,600 66% 32,750 57%
£EHE (PEH) JAL JTA 51,200 33% 25,600 66% 32,750 57%
128 JAL JTA 51,200 35% 25,600 67% 32,750 58%
HR (B! F|RE (BH) JAL/JTA] JAL 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL/JTA| JAL 51,200 32% 25,600 66% 32,750 57%
£HE (PEH) JTA JAL 51,200 33% 25,600 66% 32,750 57%
128 JTA JAL 51,200 35% 25,600 67% 32,750 58%
12 =% 3l w\EE [EECHH) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
ST EGACREE)) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (i T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
2=l BE% [FECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
B  [HECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
1= =2 BE% [FECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
fipgs [ERECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
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[EEEETN BE% [FECHH) JAL JAL 52,100 31% 26,050 65% 33,350 56%
HER  [FECHE) JAL JAL 52,100 31% 26,050 65% 33,350 56%
12 =EKeE BE% [FECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
BHAER [FECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
ER=F% BER [FHECHH) JAL JAL 42,900 36% 21,450 68% 27,450 59%
KR (EFH JAL JAL 42,900 27% 21,450 63% 27,450 53%
B L ESACED) JAL JAL 42,900 36% 21,450 68% 27,450 59%
KR (EFH JAL JAL 42,900 27% 21,450 63% 27,450 53%
'EE==iR BE% [FECHH) JAL JAL 42,400 36% 21,200 68% 27,150 59%
ZR%  [HECHH) JAL JAL 42,400 36% 21,200 68% 27,150 59%
EE=1t5 [ e I PN A=) JAL JAL 41,400 27% 20,700 64% 26,500 54%
&R [ KRURFD JAL JAL 41,400 27% 20,700 64% 26,500 54%
fBE=#A BE%E [HER(HH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
MEFEX [REREH JAL JAL 42,300 31% 21,150 65% 27,050 56%
AR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
2@ =L BER [FHECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (FFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
=R =" BE% [ XBR(UFRD JAL JAL 37,000 27% 18,500 64% 23,700 53%
FR% [ KERURFD JAL JAL 37,000 27% 18,500 64% 23,700 53%
2=/ B|E%E [HER(CHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IR E S-A€ET:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
wER=2= FIrE A b A € ) JTA [JTA/RAC 38,000 16% 19,000 58% 24,300 46%
EH% [EGH) JTA/RAC|  JTA 38,000 16% 19,000 58% 24,300 46%
RBE=FH1E A b - 161 ) JTA JTA 38,700 23% 19,350 62% 24,750 51%
AEH [HEER JTA JTA 38,700 23% 19,350 62% 24,750 51%
i =Ila ZHAFE IR EFHTR) JAL JAL 30,500 39% 15,250 69% 19,500 61%
IWES  |+REFHFH) JAL JAL 30,500 39% 15,250 69% 19,500 61%
A =R Zimp % | RECHE) JAL JAL 41,200 35% 20,600 67% 26,350 58%
IR E S-1€EL:)) JAL JAL 41,200 35% 20,600 67% 26,350 58%
23 Al = RE Ll Zimp % | RECHEH) JAL JAL 45,000 37% 22,500 68% 28,800 60%
EE ESACET:)) JAL JAL 45,000 37% 22,500 68% 28,800 60%
LimAl=HE ZimpFE | RECHEH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
HEH [RRCRA) JAL JAL 43,500 40% 21,750 70% 27,850 62%
i A =l i A R (CHH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
WL [HERCHEH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
JENTENR A MBI [FECHH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
MM [HECHH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
TBI=ML MBI [HECHE) JAL JAL 45,000 35% 22,500 68% 28,800 59%
EIE ESACET:)) JAL JAL 45,000 35% 22,500 68% 28,800 59%
BINI=HE MBI [FHECHH) JAL JAL 42,500 40% 21,250 70% 27,200 62%
EXx |[ERCRHA) JAL JAL 42,500 40% 21,250 70% 27,200 62%
JENI=#211 BN  [HECHH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
WL [HERCHH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
SRR =/ fipEs  [HECHHE) JAL JAL 39,000 36% 19,500 68% 24,950 59%
MMAFE R CHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
12 =Rl LI fipEse [ CHHE) JAL JAL 45,000 35% 22,500 67% 28,800 58%
FELFE  [HECRA) JAL JAL 45,000 35% 22,500 67% 28,800 58%
SR =HE fipEs  [HECHH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
EXx |[ERCRHA) JAL JAL 43,500 38% 21,750 69% 27,850 60%
gipg =411 HiEHE [HE(CHH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
Wl [FECHH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
HIL=/M2 HHFE [HERCHEH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
A [EE(CHE) JAL JAL 39,600 34% 19,800 67% 25,350 58%
HIE=MRL HLE%  [FECHHE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
EIE ESACET:)) JAL JAL 45,000 34% 22,500 67% 28,800 58%
HL=HE HEE [ER(CHH) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HEX [EHFECHHA) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HIL=H10 BHFE [HERCHEH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
WL [HERCHH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
B =/ R BHEER [HECHHE) JAL JAL 34,100 36% 17,050 68% 21,800 59%
NRF [FEECHE) JAL JAL 34,100 36% 17,050 68% 21,800 59%
B =1L BHEER [HECHHE) JAL JAL 44,000 28% 22,000 64% 28,150 54%
EE ESACET:)) JAL JAL 44,000 28% 22,000 64% 28,150 54%
HEE=HE BHAER [FECHHE) JAL JAL 42,500 32% 21,250 66% 27,200 57%
HEH [RRCRA) JAL JAL 42,500 32% 21,250 66% 27,200 57%
BEE=HL BHEER  [FECHHE) JAL JAL 48,400 24% 24,200 62% 31,000 51%
WL [FECHH) JAL JAL 48,400 24% 24,200 62% 31,000 51%
R =t A BHAER  [HECHHE) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEE=X% BHEER  [FECHHE) JAL JAL 40,500 40% 20,250 70% 25,900 61%
A% [FECHH) JAL JAL 40,500 40% 20,250 70% 25,900 61%
HEE=RE BHfER [FECHH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
RB% [HECHH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
BEE=FREA BEER  [FECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
A% [FECHH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=25 BEER  [HECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
ER%E [RRCRA) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=ERS BHEER [HECHHE) JAL JAL 43,000 39% 21,500 69% 27,500 61%
BRE%E |RFE(HH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
HE=BEXS BE R (CHH) JAL JAL 49,000 37% 24,500 68% 31,350 60%
EEAEH |RR(HH) JAL JAL 49,000 37% 24,500 68% 31,350 60%
BEH=/M EH%E  [ER(EH) JAL JAL 32,000 38% 16,000 69% 20,500 61%
AR [FEECHE) JAL JAL 32,000 38% 16,000 69% 20,500 61%
EH=RLL EHA%  [FECHH) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EIE ESACET:)) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EH=L5 EHA%  [HAECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
LEB% [FECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
FEH=ILOFE EH%E [ER(EH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
WOFEF [HECHE) JAL JAL 39,000 40% 19,500 70% 24,950 61%
EH=HE HH =R CRE) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAL JAC 36,800 34% 18,400 67% 23,550 58%
HEH [ERCRHA) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (FH JAC JAL 36,800 34% 18,400 67% 23,550 58%
EH=RE BEHA%  [FECHH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
mER [HECHH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
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EH=mi EH%E  [ER(EH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
=2 [HRER(CHEH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
=24 BEHA%  [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
=A% [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
BEH=L EH%E  [ER(EH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
Wl [FECHHE) JAL JAL 37,000 40% 18,500 70% 23,700 62%
BEHR=IdAM EH%E [ER(EH) JAL JAL 42,900 36% 21,450 68% 27,450 59%
LA R (CHH) JAL JAL 42,900 36% 21,450 68% 27,450 59%
EH=KX% EHA%  [FECHH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
A% [FECHH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
EH=RB B T ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAL 42,000 33% 21,000 66% 26,900 57%
RB% [HAECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
EH=EX B ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
AR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
REA% [HFECHH) JAL JAL 40,500 39% 20,250 70% 25,900 61%
EH=24 B T ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
BEFE [RRECRA) JAL JAL 40,500 39% 20,250 70% 25,900 61%
AR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
EH=ERS B ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAC 42,000 34% 21,000 67% 26,900 58%
BREX |[RE(HH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAC JAL 42,000 34% 21,000 67% 26,900 58%
EH=BEXS EHE [ER(BH) JAL JAL 46,400 39% 23,200 70% 29,700 61%
BEXER [RE(HH) JAL JAL 46,400 39% 23,200 70% 29,700 61%
KR (FH JAL JAL 46,400 36% 23,200 68% 29,700 59%
ZIR=/ £ |RECHH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
£ |RECHH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
=iR=EW £ |RE(HEH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
£ |RECHH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
ZR=IE% £ |RECHEH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
£ |RECHEH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=WOFE £ |RECHH) JAL JAL 39,000 39% 19,500 70% 24,950 61%
% |HECRHA) JAL JAL 39,000 39% 19,500 70% 24,950 61%
ZIR=HZE £ |RECHH) JAL JAL 37,900 38% 18,950 69% 24,250 60%
£ [EHEFECRMA) JAL JAL 37,900 38% 18,950 69% 24,250 60%
ZR=#5 £ [RRCHA) JAL JAL 34,000 42% 17,000 71% 21,750 63%
£ |RECHH) JAL JAL 34,000 42% 17,000 71% 21,750 63%
ZiR=@i £ [EHEFECRMA) JAL JAL 36,000 39% 18,000 69% 23,050 61%
£ |RECHH) JAL JAL 36,000 39% 18,000 69% 23,050 61%
ZiR=14H £ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
£ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
ZiR=#1 £ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
£ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
ZiR=JthM £ [EHFECRMA) JAL JAL 42,400 36% 21,200 68% 27,150 59%
FR CHHE) JAL JAL 42,400 36% 21,200 68% 27,150 59%
ZIR=X% £ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
£ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
ZiR=R& £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
£ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
ZIR=RER £ |RECHEH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZiR=8& £ |RECHH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRMA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZR=ERS £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
EAES:ACE:D) JAL JAL 42,000 39% 21,000 69% 26,900 61%
SR=FBEXE ZiR%  [HECHH) JAL JAL 46,400 39% 23,200 69% 29,700 61%
EEAEH [RR(HH) JAL JAL 46,400 39% 23,200 69% 29,700 61%
BE=/ PEE [FRERCEH JAL JAL 30,900 34% 15,450 67% 19,800 57%
IR E S-A€EL:)) JAL JAL 30,900 34% 15,450 67% 19,800 57%
FAE =L BEEX [FRERCEH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
FELFE  [EECRA) JAL JAL 32,000 41% 16,000 71% 20,500 63%
MHE=L5 PEEX [HRERCEH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
LEB% [FFECHH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
#EA=LAFE PEE [FRERCEH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
WOFEFE R CHE) JAL JAL 37,000 38% 18,500 69% 23,700 60%
MHE=HE AR [HECHH) JAL JAL 33,100 41% 16,550 70% 20,500 63%
KR (FH JAL JAC 33,100 37% 16,550 68% 20,500 61%
HEH [ERCRA) JAL JAL 33,100 41% 16,550 70% 20,500 63%
KR (EFH JAC JAL 33,100 37% 16,550 68% 20,500 61%
MHA=ES TEF [EECHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
mE%E [ER(CHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
MHA=E1 PEE [FRERCEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
2% [HERCHEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
ME=2% PEE [FRRERCEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
2% [HERCHEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
FE=L BEEX [HRERCEH JAL JAL 36,000 36% 18,000 68% 23,050 59%
Wl [FECHHE) JAL JAL 36,000 36% 18,000 68% 23,050 59%
FE=dt M PEE [FRERCEH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
LAME |RFECHEH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
ME=X% MEFEX [REREH JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (EFH JAL JAL 37,000 29% 18,500 65% 23,700 55%
X% [HECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (FFH JAL JAL 37,000 29% 18,500 65% 23,700 55%
MEH=RI& AR [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (FH JAL JAL 39,000 34% 19,500 67% 24,950 57%
RE% [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (EFH JAL JAL 39,000 34% 19,500 67% 24,950 57%
FHE=REX AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
A% [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%




MR E@REE5I EER(2A1HE~3A1HEES) JAL/JTA/JAG/RAC

st R FAEEIS] INRHBIEHREIS] SARENVERFRIRMEES]
B A #ad | BHBO A= BEH BEE BEH
e 2/1-3/1 e | 2ien e | 2ien T s
REO® | RKEQ | XREG EEES EEIES EEIES
MH==I& AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
AR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
BEFE [RRECRA) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
ME=ERS MEE [ER(CEH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAL JAC 40,500 32% 20,250 66% 25,900 57%
EREH [HECHH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAC JAL 40,500 32% 20,250 66% 25,900 57%
MEA=EXXE AR [FECHH) JAL JAL 46,400 34% 23,200 67% 29,700 58%
EBEXER [RE(HH) JAL JAL 46,400 34% 23,200 67% 29,700 58%
KR (EFH JAL JAL 46,400 33% 23,200 66% 29,700 57%
Wiz =/hk Wiz %  |[RECRA) JAL JAL 29,600 26% 14,800 63% 18,950 53%
IR E S-1CEL:)) JAL JAL 29,600 26% 14,800 63% 18,950 53%
IRz =R W% |[RECRA) JAL JAL 32,000 34% 16,000 67% 20,500 58%
FELFE  [HECRA) JAL JAL 32,000 34% 16,000 67% 20,500 58%
W =55 W% |[RECRA) JAL JAL 33,000 33% 16,500 66% 21,100 57%
LEB% [FECHH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
Wiz =10 54 W% |[RECRA) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WOFERFE R CHE) JAL JAL 37,000 30% 18,500 65% 23,700 55%
W =H=E W% [RRECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
AR (EFH JAL JAC 33,000 35% 16,500 68% 21,100 59%
HEH [ERCRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
KR (EFH JAC JAL 33,000 35% 16,500 68% 21,100 59%
=% W% |[RECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
mEH [FECHH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
Wi =mn W% [EFECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
2% [HRERCHEH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
iR =m=% W% |[RECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
=A% [FECHH) JAL JAL 33,000 33% 16,500 67% 21,100 57%
Wiz =#xL W% |[RECRA) JAL JAL 33,000 34% 16,500 67% 21,100 58%
WL [FECHHE) JAL JAL 33,000 34% 16,500 67% 21,100 58%
Wiz =4t A LAME |RFECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
wk=X% W% [RRECRA) JAL JAL 38,000 29% 19,000 65% 24,300 55%
AR (EFH JAL JAL 38,000 26% 19,000 63% 24,300 53%
X% [HECHH) JAL JAL 38,000 29% 19,000 65% 24,300 55%
KR (EFH JAL JAL 38,000 26% 19,000 63% 24,300 53%
W =Ki& W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
RE% [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
=X W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
A% [HAECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =& W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
BEFE [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =ERSE W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (FFH JAL JAC 41,000 30% 20,500 65% 26,250 55%
EREH [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (FFH JAC JAL 41,000 30% 20,500 65% 26,250 55%
e =H=E mEFE [ KEREEFD JAL JAC 32,000 36% 16,000 68% 20,500 59%
HEHX [ KREEFD JAC JAL 32,000 36% 16,000 68% 20,500 59%
e =X &R [ XREREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
K% | KREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
e =RiE WEFE [ XREREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
RIBFE [ XREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
s =HReAR EFE [ XREREEFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
REARFE | KR(EFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
& ==& &R [ KEREEFD JAL JAL 39,000 28% 19,500 64% 24,950 54%
=B [ KR (EF JAL JAL 39,000 28% 19,500 64% 24,950 54%
me=ERrRs &R [ KEREEFD JAL JAC 39,000 32% 19,500 66% 24,950 57%
BREXE |XKRGEFD JAC JAL 39,000 32% 19,500 66% 24,950 57%
[MEEESESN-] &SR [ KEREEFD JAL JAL 44,200 34% 22,100 67% 28,300 58%
BEAEH |KREFD JAL JAL 44,200 34% 22,100 67% 28,300 58%
FR=HE FR% [ KERURFD JAL JAC 29,000 40% 14,500 70% 18,550 62%
EL PNACGE)) JAC JAL 29,000 40% 14,500 70% 18,550 62%
FR=K% FR% [ KERURFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
X% | KREEFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
FR=RIE FR% [ KBRURFD JAL JAL 37,000 32% 18,500 66% 23,700 57%
RIBE [ KREEFD JAL JAL 37,000 32% 18,500 66% 23,700 57%
FR=EEX FR% [ KBRUFRFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
REAFE [ KR(EFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=E4 FR% [ KBRURFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
EiEFE [ KR(EF JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=ERS FE% [ KBRUFRFD JAL JAC 37,000 34% 18,500 67% 23,700 58%
ERE KR (EFH JAC JAL 37,000 34% 18,500 67% 23,700 58%
M= IR E S-1€EL:)) JAL JAL 30,200 42% 15,100 71% 19,350 63%
FELFE [HECHA) JAL JAL 30,200 42% 15,100 71% 19,350 63%
IMA=TR5 NRFE [FECHE) JAL JAL 30,900 41% 15,450 71% 19,800 62%
LEB% [FECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
IMA=LAFER IR E S-1€EL:)) JAL JAL 34,700 39% 17,350 69% 22,200 61%
WOFEF [3HECHE) JAL JAL 34,700 39% 17,350 69% 22,200 61%
IMA=HHE MR [FECHE) JAL JAL 31,500 41% 15,750 70% 20,150 62%
HEH [RRCRA) JAL JAL 31,500 41% 15,750 70% 20,150 62%
INR=TES R [EHEFECHE) JAL JAL 29,500 43% 14,750 71% 18,900 63%
EEH |[FECHH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
INR=E MMAFE R CHH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
2% [HRER(CHEH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
INR=TE4 IR E S-ACEL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
2% [HRERCHEH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
MEY=HALL MNRFE [HEECHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
WL [FECHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
Y=L IR S-A€EL:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
EAMFE |[RECHEH JAL JAL 36,800 37% 18,400 69% 23,550 60%




MR E@REE5I EER(2A1HE~3A1HEES) JAL/JTA/JAG/RAC

et LeES =] INRARRIRMEIS| SIREMNLERIRBEIE
X #ad | BHBO A= = = =

——— VYRR L. 2 B L

QD | XEQ [ KEG EIEIES EIETE S EIETE S

IMR=K5 MY [HECHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
A% [FECHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
MNR=FIE IR E S-1€EL:)) JAL JAL 39,000 36% 19,500 68% 24,950 59%
RB% [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
INR=FER IR E S-1€EL:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
REA% [HFECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
INR=FIF IR E S 1€EL:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
ER%E [RRECRA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IMA=FERE IMAFE [RECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
EREH [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMA=TEXES MAE  [EE(CHHE) JAL JAL 46,400 32% 23,200 66% 29,700 56%
EEAEH [RE(HH) JAL JAL 46,400 32% 23,200 66% 29,700 56%
IMA=FTH NS [ (FRER) JTA [JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EaHE [FEGER JTA/RAC| JTA 55,500 5% 27,750 52% 35,500 39%
IMNR=F1E AMNFE B (BRER) JTA JTA 59,300 7% 29,650 54% 37,950 41%
AEHE [HEGER) JTA JTA 59,300 7% 29,650 54% 37,950 41%
=& EE €T JTA [JTA/RAC 43,000 17% 21,500 58% 27,500 47%
BEH% [EGH) JTA/RAC|  JTA 43,000 17% 21,500 58% 27,500 47%
[EITEE=E] ENE I ET 16 ) JTA JTA 48,400 15% 24,200 58% 31,000 46%
AEH [HEER JTA JTA 48,400 15% 24,200 58% 31,000 46%
EHN=EF =% & JAL JAC 27,700 36% 13,850 68% 17,750 59%
I 5 & JAC JAL 27,700 36% 13,850 68% 17,750 59%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH EX JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHHE) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
EHA%  [FECHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPB(INER) ==IR [h#8 (ARER) % | 3R CHEH) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
ZR% [HECHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPHB(INER) =FAE [h4E (BRER) | 3R CHEH) JAL/JTA] JAL 45,000 31% 22,500 66% 28,800 56%
AR [FECHH) JAL _[JAL/JTA 45,000 31% 22,500 66% 28,800 56%
SPHB(INER) = LT [ih#8 (ARER) % | 3R CHE) JAL/JTA] JAL 45,000 24% 22,500 62% 28,800 51%
W% |[RECRA) JAL _[JAL/JTA 45,000 24% 22,500 62% 28,800 51%
ARBONE) =Ile MBI R  ERE JTA JAL 45,200 36% 22,600 68% 28,950 59%
& F 128 JAL JTA 45,200 36% 22,600 68% 28,950 59%
SPAB(IRER) =/ SR 48 (ARER) % | 3R CHE) JAL/JTA] JAL 40,900 35% 20,450 67% 26,200 58%
AR [HE CHE) JAL _[JAL/JTA 40,900 35% 20,450 67% 26,200 58%
SRR =nm (TEGRX] & JTA JAL 31,500 38% 15,750 69% 20,150 61%
=] & JAL JTA 31,500 38% 15,750 69% 20,150 61%
ShEE(RER) =L [(MEGERIHX] & JTA JAC 27,900 42% 13,950 71% 17,850 63%
FALLFE & JAC JTA 27,900 42% 13,950 71% 17,850 63%
RR(PE) =BEAB|[ZR(ABX| ERE JAL JAC 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
BEAER | BERE JAC JAL 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
ER(CABE)=ERB[ER(FHE)%] ERS JAL JAC 43,950 30% 22,000 65% 28,150 55%
BEAE JAL JAC 43,950 21% 22,000 61% 28,100 50%
ERER BRE JAC JAL 43,950 30% 22,000 65% 28,150 55%
BEAE JAC JAL 43,950 21% 22,000 61% 28,100 50%
ER(CABR) =#zB[ZEx(FHE) %] ERS JAL JAC 45,050 31% 22,550 66% 28,850 56%
BEAE JAL JAC 45,900 23% 22,950 61% 29,400 51%
[FFAEES BRE JAC JAL 45,050 31% 22,550 66% 28,850 56%
BEAE JAC JAL 45,900 23% 22,950 61% 29,400 51%
HRHE) =FkRH|ERCIA)%| ERS JAL JAC 46,950 31% 23,500 66% 30,050 56%
HKRER | ERS JAC JAL 46,950 31% 23,500 66% 30,050 56%
BEAE JAC JAL 46,950 25% 23,500 63% 30,050 52%
i BEKXE [ JAC JAC JAL | 46,950 38% 23,500 69% 30,050 60%
RROPE)=5# AR (PR %] ERS JAL JAC 47,350 32% 23,700 66% 30,300 57%
EX-t3 ERS JAC JAL 47,350 32% 23,700 66% 30,300 57%
BEAE JAC JAL 47,300 28% 23,650 64% 30,250 54%
ShKBER | BEKAE [ JAC JAC JAL | 47,300 35% 23,650 68% 30,250 59%
KR () =BERE[ AR (B E| ERS JAC JAC 38,550 23% 19,300 61% 24,700 51%
BEAEHR | BERE JAC JAC 38,550 23% 19,300 61% 24,700 51%
KB () =ERE| KR (FHFE| _ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAL JAC 39,000 15% 19,550 57% 24,950 45%
ERER ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BELE JAC JAL 39,000 15% 19,550 57% 24,950 45%
KR (B =EZB|XKR(FM %] ERS JAC JAC 40,100 25% 20,050 63% 25,700 52%
BELE JAL JAC 41,000 17% 20,500 59% 26,250 47%
[FFAEES ERS JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAC JAL 41,000 17% 20,500 59% 26,250 47%
KR () =hk RE | KBR P | ER JAC JAC 41,650 26% 20,850 63% 26,700 53%
HKBEHE | BERE JAC JAC 41,650 26% 20,850 63% 26,700 53%
KRB =5# [KIR(BEFH%] ERS JAC JAC 42,050 27% 21,050 64% 26,950 53%
S5 BRES JAC JAC 42,050 27% 21,050 64% 26,950 53%
BE=EXXE BE % BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
BEAEHR | BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
BER=ER5 [EEES ERE JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
EREH ERS JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ER=z5 [EEES ERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BELE JAC JAC 32,350 29% 16,200 64% 20,700 54%
[FFAEES BRE JAC JAC 32,350 29% 16,200 64% 20,700 54%
EXE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BE=4KBE B3 BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
HKBREHE | BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
BEAE JAC JAC 33,900 31% 16,950 65% 21,700 56%
i BEKXE [ JAC JAC JAC | 33,900 45% 16,950 73% 21,700 65%
ER=5#H FERES ERE JAC JAC 34,300 31% 17,150 65% 21,950 56%
EX-t3 BRE JAC JAC 34,300 31% 17,150 65% 21,950 56%
BEAE JAC JAC 34,300 34% 17,150 67% 21,950 58%
HKBRER | BEKX JAC JAC JAC 34,300 42% 17,150 71% 21,950 63%




Ml E@E5 EER(SA2H~15AEERD)

JAL/JTA/JAC/RAC

st R FAEEIS] INRAR R RMEIS| SIREMNERIRBEIE]
X it | BHHO A E—75H E—75H E—75H

a0 | FE0 | EEG) 3/2-3/15 251% -2 3/2-3/15 251% -2 3/2-3/15 251% -3
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EH% [HEGH) JTA/RAC[JAL/JTA 57,700 6% 28,850 53% 35,500 42%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 61,500 8% 30,750 54% 37,950 43%
REFE [HEGER JTA [JAL/JTA 61,500 8% 30,750 54% 37,950 43%
KB (BEFE) JTA JAL 61,500 18% 30,750 59% 37,950 50%
KB (7 =% @31 | KRk () | R= CRA) JAL JAL 45,500 33% 22,750 66% 27,850 59%
LR (T %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
ZimplFE | RECHEH) JAL JAL 45,500 33% 22,750 66% 27.850 59%
KB (B8TE) =% 3 | Kbk (B3#E) 5| = CRIEA) JAL JAL 45,500 33% 22,750 66% 27,850 59%
HLIE (T %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
SN ESACREED) JAL JAL 45,500 33% 22,750 66% 27,850 59%
LR (T %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
KR (FFH =heJIl [ KBx (7 F1) %[ 3R CHEH) JAL JAL 43,100 35% 21,550 67% 26,200 60%
B  [HECHE) JAL JAL 43,100 35% 21,550 67% 26,200 60%
KR (BE7E) =h )1l | KB (BE7E) %[ 3R CHEH) JAL JAL 43,100 35% 21,550 67% 26,200 60%
BN  [HECHE) JAL JAL 43,100 35% 21,550 67% 26,200 60%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
SipEs  [HECHH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
KR (BE7E) =8B | KBx (RE7E) 5| 3R CHEH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
fiER  [HECHH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
KR (BFH) =5 [ KB (R FH) %[ 3R CHEH) JAL JAL 43,100 34% 21,550 67% 26,200 60%
HEE [ER(CHHE) JAL JAL 43,100 34% 21,550 67% 26,200 60%
KR (BE7E) = /5 | KB (BEdE) %[ 3R CHEH) JAL JAL 43,100 34% 21,550 67% 26,200 60%
HEE [ERER(CHH) JAL JAL 43,100 34% 21,550 67% 26,200 60%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 44,000 24% 22,000 62% 26,450 55%
BHEER [HAECHHE) JAL JAL 44,000 24% 22,000 62% 26,450 55%
ABR FFD) % | /R CHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
ZR%  [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KBR (B97E) = =R ZR% [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KB () =Rk [ KRR (R FH HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
(B HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
KB (FF) =187 5| X0k (F BERE JAC JAC 32,600 22% 16,300 61% 20,850 50%
BYE BRE JAC JAC 32,600 22% 16,300 61% 20,850 50%
KR (FFH =82 [ Xk (FF AR (BBER) JAL _[JTA/RAC 46,000 16% 23,000 58% 27,500 50%
EO% [HEGH) JTA/RAC| JAL 46,000 16% 23,000 58% 27,500 50%
KR (BAE) == [ KB (BE7E) F| P48 (BBIR) JAL/JTA|JTA/RAC 46,000 16% 23,000 58% 27,500 50%
EH% [HEGH) JTA/RAC[JAL/JTA 46,000 16% 23,000 58% 27,500 50%
KR (BFH =FR1E [ KB (RFH) F| 04 (BREH) JAL JTA 50,600 16% 25,300 58% 31,000 49%
AEHE [HEGER JTA JAL 50,600 16% 25,300 58% 31,000 49%
KR (BEE) =FR1E | KBx (REFE) 5| P48 (BBIR) JAL/JTA| JTA 50,600 16% 25,300 58% 31,000 49%
AEH [HEER JTA [JAL/JTA 50,600 16% 25,300 58% 31,000 49%
LR (FE) =% 5| & EE (P ED) F[4LIE T i) JAL JAL 42,000 33% 21,000 67% 25,450 60%
ZEmAFE R EFTR JAL JAL 42,000 33% 21,000 67% 25,450 60%
AHE(FEH) ==& |£5E (hE) £ G5 JTA [JTA/RAC 47,000 21% 23,500 60% 28,150 53%
EH% [HEGH) JTA/RAC| JTA 47,000 21% 23,500 60% 28,150 53%
2EE (P =HiE[ 2R hE) %[ 548 GLEH) JTA JTA 55,200 15% 27,600 57% 33,900 48%
AEH  [HEGER) JTA JTA 55,200 15% 27,600 57% 33,900 48%
IR (BT ) =/MA[ALIR G | R CREA) JAL JAL 36,000 40% 18,000 70% 21,450 64%
MR (R CHE) JAL JAL 36,000 40% 18,000 70% 21,450 64%
FLOR G T %) = Rel L1 [4LI% (T ) 3| R CHH) JAL JAL 37,000 46% 18,500 73% 22,400 67%
EIE ESACET:)) JAL JAL 37,000 46% 18,500 73% 22,400 67%
IR EF%) =L B[R @ T 2| HR CHH) JAL JAL 38,000 45% 19,000 72% 23,050 66%
LEB% [FECHH) JAL JAL 38,000 45% 19,000 72% 23,050 66%
IR (B F %) = IO 8 | #LIR BT %) % R CRH) JAL JAL 43,000 41% 21,500 70% 26,900 63%
WOFEFE [HECHE) JAL JAL 43,000 41% 21,500 70% 26,900 63%
AR BT %) =HE 4R @ T % HR CHH) JAL JAL 40,000 42% 20,000 71% 23,950 65%
= R (CHH) JAL JAL 40,000 42% 20,000 71% 23,950 65%
IR BT %) =B AR @ T %[ /R CHH) JAL JAL 41,000 39% 20,500 70% 24,950 63%
mEH [FECHH) JAL JAL 41,000 39% 20,500 70% 24,950 63%
IR (BT == [ALR G TR % R CRA) JAL JAL 42,000 38% 21,000 69% 25,550 62%
=% [FECHHE) JAL JAL 42,000 38% 21,000 69% 25,550 62%
IR (BT %) ==& AR G ) % R CREA) JAL JAL 44,000 36% 22,000 68% 26,500 62%
=A% [FECHH) JAL JAL 44,000 36% 22,000 68% 26,500 62%
IR (BT %) =AU [ALIR G F#) | R CREA) JAL JAL 46,000 34% 23,000 67% 27,950 60%
WL [FECHH) JAL JAL 46,000 34% 23,000 67% 27,950 60%
ALIR BT 5% =LA [4LIR B F#%) 5| S CRIE) JAL JAL 45,000 40% 22,500 70% 26,900 64%
LAMFE |RZECHEH) JAL JAL 45,000 40% 22,500 70% 26,900 64%
LR BT %) = K5 LR F T % RR CHH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
> FR CHHE) JAL JAL 45,000 39% 22,500 69% 26,900 63%
IR BT %) =R [4LIR @ T 2| HR CHEH) JAL JAL 47,000 39% 23,500 69% 28,150 63%
RB%  [HAECHH) JAL JAL 47,000 39% 23,500 69% 28,150 63%
IR GBI T %) = RE AR [4LIR (T %[ RR CHH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
A% [HECHH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
FLIR BT %) = =6 [4LIR (T 2| R CHH) JAL JAL 47,000 37% 23,500 68% 28,150 62%
ER%E [RRCRA) JAL JAL 47,000 37% 23,500 68% 28,150 62%
AR FFR) =ERS[ ARG TR | R CRA) JAL JAL 52,000 32% 26,000 66% 31,350 59%
BERE%E |RFE(HH) JAL JAL 52,000 32% 26,000 66% 31,350 59%
IR (B FR) =BEXS LI FT%) %[ /R CRH) JAL JAL 53,000 37% 26,500 68% 33,900 60%
EEAEH [RR(HH) JAL JAL 53,000 37% 26,500 68% 33,900 60%
AL BT 2% = GBI | ALIR (B F %) %[ R R (BIE) JAL _[JAL/JTA 54,000 31% 27,000 66% 32,750 58%
KB (BFE) JAL [JAL/JTA 54,000 32% 27,000 66% 32,750 59%
£EHE (PEH) JAL JTA 54,000 33% 27,000 66% 32,750 59%
128 JAL JTA 54,000 35% 27,000 67% 32,750 60%
HR (B! F|RE (BH) JAL/JTA] JAL 54,000 31% 27,000 66% 32,750 58%
KB (BFE) JAL/JTA| JAL 54,000 32% 27,000 66% 32,750 59%
£HE (PEH) JTA JAL 54,000 33% 27,000 66% 32,750 59%
128 JTA JAL 54,000 35% 27,000 67% 32,750 60%
12 =% 3l w\EE [EECHH) JAL JAL 55,000 33% 27,500 67% 33,350 59%
HLIE (T %) JAL JAL 55,000 28% 27,500 64% 33,350 57%
ST EGACREE)) JAL JAL 55,000 33% 27,500 67% 33,350 59%
HLIE (i T %) JAL JAL 55,000 28% 27,500 64% 33,350 57%
2=l BE% [FECHH) JAL JAL 55,000 32% 27,500 66% 33,350 59%
B  [HECHH) JAL JAL 55,000 32% 27,500 66% 33,350 59%
1= =2 BE% [FECHH) JAL JAL 55,000 31% 27,500 66% 33,350 58%
fipgs [ERECHH) JAL JAL 55,000 31% 27,500 66% 33,350 58%




MERIsEHERS EER(BA2B~158EES) JAL/JTA/JAC/RAG

et LelES ] INRARRIRMEIS| SIREMNLERRIRBEIE
R @Rm® | R BOEE E—7% E—78 E—7%

M T = TSR s 3/2-3/15 i &% | 3/2-3/15 i &% | 3/2-3/15 i Bz
REO® | KEQ | XREG EEIES EEES EEIES
[EEEETN BE% [FECHH) JAL JAL 55,000 31% 27,500 65% 33,350 58%
HER  [FECHE) JAL JAL 55,000 31% 27,500 65% 33,350 58%
12 =EKeE BE% [FECHH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
BHAER [FECHH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
ER=F% BER [FHECHH) JAL JAL 45,000 37% 22,500 68% 27,450 61%
KR (EFH JAL JAL 45,000 29% 22,500 64% 27,450 56%
B L ESACED) JAL JAL 45,000 37% 22,500 68% 27,450 61%
KR (EFH JAL JAL 45,000 29% 22,500 64% 27,450 56%
'EE==iR BE% [FECHH) JAL JAL 44,500 37% 22,250 68% 27,150 62%
ZR%  [HECHH) JAL JAL 44,500 37% 22,250 68% 27,150 62%
EE=1t5 [ e I PN A=) JAL JAL 43,500 29% 21,750 65% 26,500 57%
&R [ KRURFD JAL JAL 43,500 29% 21,750 65% 26,500 57%
fBE=#A BE%E [HER(HH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
MEFEX [REREH JAL JAL 45,000 32% 22,500 66% 27,050 59%
AR (EFH JAL JAL 45,000 24% 22,500 62% 27,050 54%
2@ =L BER [FHECHH) JAL JAL 42,000 29% 21,000 65% 24,950 58%
KR (EFH JAL JAL 42,000 28% 21,000 64% 24,950 57%
W% [RRECRA) JAL JAL 42,000 29% 21,000 65% 24,950 58%
KR (FFH JAL JAL 42,000 28% 21,000 64% 24,950 57%
=R =" BE% [ XBR(UFRD JAL JAL 38,700 30% 19,350 65% 23,700 57%
FR% [ KERURFD JAL JAL 38,700 30% 19,350 65% 23,700 57%
2=/ BE% [HEECHE) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IR E S-A€ET:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
wER=2= FIrE A b A € ) JTA [JTA/RAC 40,000 17% 20,000 59% 24,300 50%
EH% [EGH) JTA/RAC|  JTA 40,000 17% 20,000 59% 24,300 50%
RBE=FH1E A b - 161 ) JTA JTA 40,500 25% 20,250 62% 24,750 54%
AEH [HEER JTA JTA 40,500 25% 20,250 62% 24,750 54%
i =Ila ZHAFE IR EFHTR) JAL JAL 33,000 39% 16,500 70% 19,500 64%
IWES  |+REFHFH) JAL JAL 33,000 39% 16,500 70% 19,500 64%
A =R Zimp % | RECHE) JAL JAL 44,000 35% 22,000 67% 26,350 61%
AR [FEECHE) JAL JAL 44,000 35% 22,000 67% 26,350 61%
23 Al = RE Ll Zimp % | RECHEH) JAL JAL 48,000 37% 24,000 68% 28,800 62%
EE ESACET:)) JAL JAL 48,000 37% 24,000 68% 28,800 62%
LimAl=HE ZimpFE | RECHEH) JAL JAL 46,000 40% 23,000 70% 27,850 64%
HEH [RRCRA) JAL JAL 46,000 40% 23,000 70% 27,850 64%
i A =l i A R (CHH) JAL JAL 52,800 32% 26,400 66% 31,700 59%
WL [FECHHE) JAL JAL 52,800 32% 26,400 66% 31,700 59%
JETTETR A MBI [FECHH) JAL JAL 44,000 33% 22,000 67% 25,350 61%
MNRFE  [FECHE) JAL JAL 44,000 33% 22,000 67% 25,350 61%
TBI=ML MBI [HECHE) JAL JAL 48,000 35% 24,000 68% 28,800 61%
EIE ESACET:)) JAL JAL 48,000 35% 24,000 68% 28,800 61%
BII=HE MBI [FHECHH) JAL JAL 46,000 39% 23,000 69% 27,200 64%
EXx |[ERCRHA) JAL JAL 46,000 39% 23,000 69% 27,200 64%
JENI=#211 BIIFE [HECHH) JAL JAL 52,500 31% 26,250 65% 31,700 58%
WL [HERCHH) JAL JAL 52,500 31% 26,250 65% 31,700 58%
SRR =/ fipEs  [HECHHE) JAL JAL 41,200 37% 20,600 68% 24,950 62%
MMAFE R CHH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
12 =Rl LI fipEse [ CHHE) JAL JAL 48,000 35% 24,000 67% 28,800 61%
FELFE  [HECRA) JAL JAL 48,000 35% 24,000 67% 28,800 61%
SR =HE fipEs  [HECHH) JAL JAL 46,000 38% 23,000 69% 27,850 63%
EXx |[ERCRHA) JAL JAL 46,000 38% 23,000 69% 27,850 63%
SIER =410 fipEs  [HECHH) JAL JAL 52,800 30% 26,400 65% 31,700 58%
Wl [FECHH) JAL JAL 52,800 30% 26,400 65% 31,700 58%
HIL=/M2 HHFE [HERCHEH) JAL JAL 44,000 32% 22,000 66% 25,350 61%
A [EE(CHE) JAL JAL 44,000 32% 22,000 66% 25,350 61%
HIE=MRL HLE%  [FECHHE) JAL JAL 48,000 34% 24,000 67% 28,800 60%
EIE ESACET:)) JAL JAL 48,000 34% 24,000 67% 28,800 60%
HL=HE HEE [ER(CHH) JAL JAL 45,000 39% 22,500 70% 27,200 63%
HEH [RRCRA) JAL JAL 45,000 39% 22,500 70% 27,200 63%
HIL=H10 BHFE [HERCHEH) JAL JAL 52,500 30% 26,250 65% 31,700 58%
WL [HERCHH) JAL JAL 52,500 30% 26,250 65% 31,700 58%
B =/ R BHEER [HECHHE) JAL JAL 36,400 37% 18,200 68% 21,800 62%
M [HECHE) JAL JAL 36,400 37% 18,200 68% 21,800 62%
B =1L BHEER [HECHHE) JAL JAL 47,000 29% 23,500 64% 28,150 57%
EE ESACET:)) JAL JAL 47,000 29% 23,500 64% 28,150 57%
HEE=HE BHAER [FECHHE) JAL JAL 45,000 33% 22,500 67% 27,200 60%
HEH [RRCRA) JAL JAL 45,000 33% 22,500 67% 27,200 60%
BEE=HL BHEER  [FECHHE) JAL JAL 51,500 24% 25,750 62% 31,000 54%
WL [FECHH) JAL JAL 51,500 24% 25,750 62% 31,000 54%
R =t A BHAER  [HECHHE) JAL JAL 54,000 26% 27,000 63% 32,700 55%
HEE=X% BHEER  [FECHHE) JAL JAL 43,000 40% 21,500 70% 25,900 64%
A% [FECHH) JAL JAL 43,000 40% 21,500 70% 25,900 64%
HEE=RE BHfER [FECHH) JAL JAL 45,000 40% 22,500 70% 26,900 64%
RB% [HECHH) JAL JAL 45,000 40% 22,500 70% 26,900 64%
BEE=FREA BEER  [FECHHE) JAL JAL 45,000 38% 22,500 69% 26,900 63%
A% [FECHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
HE=25 BEER  [HECHHE) JAL JAL 45,000 38% 22,500 69% 26,900 63%
ER%E [RRCRA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
HE=ERS BHEER [HECHHE) JAL JAL 46,000 38% 23,000 69% 27,500 63%
BRE%E |RFE(HH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
HE=BEXS BE R (CHH) JAL JAL 52,000 37% 26,000 68% 33,300 59%
EEAEH |RR(HH) JAL JAL 52,000 37% 26,000 68% 33,300 59%
BEH=/M EH%E  [ER(EH) JAL JAL 34,000 40% 17,000 70% 20,500 64%
AR [FEECHE) JAL JAL 34,000 40% 17,000 70% 20,500 64%
EH=RLL EHA%  [FECHH) JAL JAL 38,000 41% 19,000 71% 23,050 64%
EIE ESACET:)) JAL JAL 38,000 41% 19,000 71% 23,050 64%
EH=L5 EHA%  [HAECHH) JAL JAL 39,000 40% 19,500 70% 23,700 64%
LEB% [FECHH) JAL JAL 39,000 40% 19,500 70% 23,700 64%
FEH=ILOFE EH%E [ER(EH) JAL JAL 41,000 41% 20,500 70% 24,950 64%
WOFEF [HECHE) JAL JAL 41,000 41% 20,500 70% 24,950 64%
EH=HE HH =R CRE) JAL JAL 38,800 41% 19,400 71% 23,550 64%
KR (EFH JAL JAC 38,800 34% 19,400 67% 23,550 60%
HEH [ERCRHA) JAL JAL 38,800 41% 19,400 71% 23,550 64%
KR (FH JAC JAL 38,800 34% 19,400 67% 23,550 60%
EH=RE BEHA%  [FECHH) JAL JAL 36,000 44% 18,000 72% 21,750 66%
mER [HECHH) JAL JAL 36,000 44% 18,000 72% 21,750 66%




Ml E@E5 EER(SA2H~15AEERD)

JAL/JTA/JAC/RAC

st R FAEEIS| INRARRIRMEIS| SIREMNLERRIRBEIE
XFH #ad | BHBO A= - - —
= =~T == T =55 3/2-3/15 E—o% -3 3/2-3/15 E—o% -3 3/2-3/15 E—o% -3
XD | XEQ [ KEG EIEIES EIETES EIETES
EH=mi EH%E  [ER(EH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
=2 [HRER(CHEH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
=24 BEHA%  [FECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
=A% [FECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
BEH=L EH%E  [ER(EH) JAL JAL 39,000 41% 19,500 71% 23,700 64%
Wl [FECHHE) JAL JAL 39,000 41% 19,500 71% 23,700 64%
BEHR=IdAM EH%E [ER(EH) JAL JAL 45,000 37% 22,500 68% 27,450 61%
LA R (CHH) JAL JAL 45,000 37% 22,500 68% 27,450 61%
EH=KX% EHA%  [FECHH) JAL JAL 41,000 42% 20,500 71% 24,950 64%
A% [FECHH) JAL JAL 41,000 42% 20,500 71% 24,950 64%
EH=RB B T ESACED) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KR (EFH JAL JAL 45,000 33% 22,500 66% 26,900 60%
RB% [HAECHH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
EH=EX B ESACED) JAL JAL 43,000 40% 21,500 70% 25,900 64%
AR (EFH JAL JAL 43,000 33% 21,500 67% 25,900 60%
REA% [HFECHH) JAL JAL 43,000 40% 21,500 70% 25,900 64%
EH=24 B T ESACED) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KR (EFH JAL JAL 43,000 33% 21,500 67% 25,900 60%
BEFE [RRECRA) JAL JAL 43,000 40% 21,500 70% 25,900 64%
AR (EFH JAL JAL 43,000 33% 21,500 67% 25,900 60%
EH=ERS B ESACED) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KR (EFH JAL JAC 45,000 34% 22,500 67% 26,900 60%
BREX |[RE(HH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KR (EFH JAC JAL 45,000 34% 22,500 67% 26,900 60%
EH=BEXS EHE [ER(BH) JAL JAL 49,000 39% 24,500 70% 31,350 61%
BEXER [RE(HH) JAL JAL 49,000 39% 24,500 70% 31,350 61%
KR (FH JAL JAL 49,000 37% 24,500 68% 31,350 59%
ZIR=/ £ |RECHH) JAL JAL 34,000 39% 17,000 70% 20,500 63%
£ |RECHH) JAL JAL 34,000 39% 17,000 70% 20,500 63%
=iR=EW £ |RE(HEH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
£ |RECHH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
ZR=IE% £ |RECHEH) JAL JAL 39,000 40% 19,500 70% 23,700 63%
£ |RECHEH) JAL JAL 39,000 40% 19,500 70% 23,700 63%
ZR=WOFE £ |RECHH) JAL JAL 41,000 40% 20,500 70% 24,950 64%
% |HECRHA) JAL JAL 41,000 40% 20,500 70% 24,950 64%
ZIR=HZE £ |RECHH) JAL JAL 39,900 39% 19,950 69% 24,250 63%
£ [EHEFECRMA) JAL JAL 39,900 39% 19,950 69% 24,250 63%
ZR=#5 £ [RRCHA) JAL JAL 36,000 43% 18,000 72% 21,750 66%
£ |RECHH) JAL JAL 36,000 43% 18,000 72% 21,750 66%
ZiR=@i £ [EHEFECRMA) JAL JAL 38,000 40% 19,000 70% 23,050 64%
£ |RECHH) JAL JAL 38,000 40% 19,000 70% 23,050 64%
ZiR=14H £ |RECHH) JAL JAL 38,000 42% 19,000 71% 23,050 65%
£ |RECHH) JAL JAL 38,000 42% 19,000 71% 23,050 65%
ZiR=#1 £ |RECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
£ |RECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
ZiR=dchm £ [EHFECRMA) JAL JAL 44,500 37% 22,250 68% 27,150 62%
R (CHH) JAL JAL 44,500 37% 22,250 68% 27,150 62%
ZIR=X% £ |RECHH) JAL JAL 41,000 41% 20,500 71% 24,950 64%
£ |RECHH) JAL JAL 41,000 41% 20,500 71% 24,950 64%
ZiR=R& £ |RECHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
£ |RECHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
ZIR=RER £ |RECHEH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
£ |RECHEH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
ZiR=8& £ |RECHH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
£ |RECHH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
ZR=ERS £ |RECHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
EAES:ACE:D) JAL JAL 45,000 38% 22,500 69% 26,900 63%
SR=FBEXE ZiR%  [HECHH) JAL JAL 49,000 39% 24,500 69% 31,350 61%
EEAEH [RR(HH) JAL JAL 49,000 39% 24,500 69% 31,350 61%
BE=/ PEE [FRERCEH JAL JAL 33,000 35% 16,500 68% 19,800 61%
AR [FEECHE) JAL JAL 33,000 35% 16,500 68% 19,800 61%
FAE =L BEEX [FRERCEH) JAL JAL 34,000 42% 17,000 71% 20,500 65%
FELFE  [EECRA) JAL JAL 34,000 42% 17,000 71% 20,500 65%
MHE=L5 PEEX [HRERCEH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
LEB% [FFECHH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
#EA=LAFE PEE [FRERCEH) JAL JAL 39,000 39% 19,500 69% 23,700 63%
WOFEFE R CHE) JAL JAL 39,000 39% 19,500 69% 23,700 63%
MHE=HE AR [HECHH) JAL JAL 34,000 44% 17,000 72% 20,500 66%
KR (FH JAL JAC 34,000 39% 17,000 69% 20,500 63%
HEH [ERCRA) JAL JAL 34,000 44% 17,000 72% 20,500 66%
KR (EFH JAC JAL 34,000 39% 17,000 69% 20,500 63%
MHA=ES TEF [EECHHE) JAL JAL 34,000 42% 17,000 71% 20,500 65%
mE%E [ER(CHHE) JAL JAL 34,000 42% 17,000 71% 20,500 65%
MHA=E1 PEE [FRERCEH) JAL JAL 36,000 38% 18,000 69% 21,750 63%
2% [HERCHEH) JAL JAL 36,000 38% 18,000 69% 21,750 63%
ME=2% PEE [FRRERCEH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
2% [HERCHEH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
FE=L BEEX [HRERCEH JAL JAL 38,000 38% 19,000 69% 23,050 62%
Wl [FECHHE) JAL JAL 38,000 38% 19,000 69% 23,050 62%
FE=dt M PEE [FRERCEH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
LAME |RFECHEH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
ME=X% MEFEX [REREH JAL JAL 39,000 40% 19,500 70% 23,700 63%
KR (EFH JAL JAL 39,000 31% 19,500 66% 23,700 58%
X% [HECHH) JAL JAL 39,000 40% 19,500 70% 23,700 63%
KR (FFH JAL JAL 39,000 31% 19,500 66% 23,700 58%
MEH=RI& AR [HECHH) JAL JAL 41,200 39% 20,600 70% 24,950 63%
KR (FH JAL JAL 41,200 35% 20,600 67% 24,950 60%
RE% [HECHH) JAL JAL 41,200 39% 20,600 70% 24,950 63%
KR (EFH JAL JAL 41,200 35% 20,600 67% 24,950 60%
FHE=REX AR [HECHH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KR (EFH JAL JAL 41,000 33% 20,500 66% 24,950 59%
A% [HECHH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KR (EFH JAL JAL 41,000 33% 20,500 66% 24,950 59%




MERIsEHERS EER(BA2B~158EES) JAL/JTA/JAC/RAG

st R FAEEIS| INREBIEHREIS] SAREANVERFRIRMEES]
BXFE #ad | BHBO A= E—55 E—5E E—5E

a0 | FE0 | EEG) 3/2-3/15 251% -3 3/2-3/15 251% -3 3/2-3/15 251% -3
MH==I& AR [HECHH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
AR (EFH JAL JAL 41,000 33% 20,500 66% 24,950 59%
BEFE [RRECRA) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KR (EFH JAL JAL 41,000 33% 20,500 66% 24,950 59%
MHE=ERS MEE [ER(CEH) JAL JAL 43,000 37% 21,500 68% 25,900 62%
KR (EFH JAL JAC 43,000 33% 21,500 67% 25,900 60%
EREH [HECHH) JAL JAL 43,000 37% 21,500 68% 25,900 62%
KR (EFH JAC JAL 43,000 33% 21,500 67% 25,900 60%
MEA=EXXE AR [FECHH) JAL JAL 49,000 35% 24,500 67% 31,350 58%
EBEXER [RE(HH) JAL JAL 49,000 35% 24,500 67% 31,350 58%
KR (EFH JAL JAL 49,000 33% 24,500 67% 31,350 57%
Wiz =/hk Wiz %  |[RECRA) JAL JAL 32,000 28% 16,000 64% 18,950 57%
AR [HECHE) JAL JAL 32,000 28% 16,000 64% 18,950 57%
IRz =R W% |[RECRA) JAL JAL 34,000 35% 17,000 68% 20,500 61%
FELFE  [HECRA) JAL JAL 34,000 35% 17,000 68% 20,500 61%
W =55 W% |[RECRA) JAL JAL 35,000 34% 17,500 67% 21,100 60%
LEB% [FECHH) JAL JAL 35,000 34% 17,500 67% 21,100 60%
Wiz =10 54 W% |[RECRA) JAL JAL 39,000 32% 19,500 66% 23,700 58%
WOFERFE R CHE) JAL JAL 39,000 32% 19,500 66% 23,700 58%
W =H=E W% [RRECRA) JAL JAL 35,000 35% 17,500 68% 21,100 61%
AR (EFH JAL JAC 35,000 36% 17,500 68% 21,100 61%
HEH [ERCRA) JAL JAL 35,000 35% 17,500 68% 21,100 61%
KR (EFH JAC JAL 35,000 36% 17,500 68% 21,100 61%
=% W% |[RECRA) JAL JAL 34,000 35% 17,000 67% 20,500 61%
mEH [FECHH) JAL JAL 34,000 35% 17,000 67% 20,500 61%
Wi =mn W% [EFECRA) JAL JAL 34,000 35% 17,000 67% 20,500 61%
2% [HRERCHEH) JAL JAL 34,000 35% 17,000 67% 20,500 61%
iR =m=% W% |[RECRA) JAL JAL 35,000 35% 17,500 68% 21,100 61%
=A% [FECHH) JAL JAL 35,000 35% 17,500 68% 20,500 62%
Wiz =#xL W% |[RECRA) JAL JAL 35,000 36% 17,500 68% 20,500 62%
WL [FECHHE) JAL JAL 35,000 36% 17,500 68% 20,500 62%
Wiz =4t A LAME |RFECHH) JAL JAL 42,000 29% 21,000 65% 24,950 58%
wk=X% W% [RRECRA) JAL JAL 40,000 31% 20,000 66% 24,300 58%
AR (EFH JAL JAL 40,000 28% 20,000 64% 24,300 56%
X% [HECHH) JAL JAL 40,000 31% 20,000 66% 24,300 58%
KR (EFH JAL JAL 40,000 28% 20,000 64% 24,300 56%
W =Ki& W% [RRECRA) JAL JAL 43,000 30% 21,500 65% 26,250 57%
KR (EFH JAL JAL 43,000 31% 21,500 65% 26,250 58%
RE% [HECHH) JAL JAL 43,000 30% 21,500 65% 26,250 57%
KR (EFH JAL JAL 43,000 31% 21,500 65% 26,250 58%
=X W% [RRECRA) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
A% [HAECHH) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
W =& W% [RRECRA) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
BEFE [RRECRA) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
W =ERSE W% [RRECRA) JAL JAL 43,000 30% 21,500 65% 26,250 57%
KR (FFH JAL JAC 43,000 32% 21,500 66% 26,250 58%
EREH [HECHH) JAL JAL 43,000 30% 21,500 65% 26,250 57%
KR (FFH JAC JAL 43,000 32% 21,500 66% 26,250 58%
e =H=E mEFE [ KEREEFD JAL JAC 34,000 36% 17,000 68% 20,500 62%
HEHX [ KREEFD JAC JAL 34,000 36% 17,000 68% 20,500 62%
e =X &R [ XREREEFD JAL JAL 38,000 30% 19,000 65% 23,050 58%
K% | KREEFD JAL JAL 38,000 30% 19,000 65% 23,050 58%
e =RiE WEFE [ XREREEFD JAL JAL 41,000 33% 20,500 66% 24,950 59%
RIBFE [ XREEFD JAL JAL 41,000 33% 20,500 66% 24,950 59%
s =HReAR EFE [ XREREEFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
REARFE | KR(EFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
& ==& &R [ KEREEFD JAL JAL 41,000 30% 20,500 65% 24,950 57%
=B [ KR (EF JAL JAL 41,000 30% 20,500 65% 24,950 57%
me=ERrRs &R [ KEREEFD JAL JAC 41,000 34% 20,500 67% 24,950 60%
BREXE |XKRGEFD JAC JAL 41,000 34% 20,500 67% 24,950 60%
[MEEESESN-] &SR [ KEREEFD JAL JAL 46,300 35% 23,150 68% 29,650 58%
BEAEH |KREFD JAL JAL 46,300 35% 23,150 68% 29,650 58%
FR=HE FR% [ KERURFD JAL JAC 31,000 40% 15,500 70% 18,550 64%
EL PNACGE)) JAC JAL 31,000 40% 15,500 70% 18,550 64%
FR=K% FR% [ KERURFD JAL JAL 36,000 32% 18,000 66% 21,750 59%
X% | KREEFD JAL JAL 36,000 32% 18,000 66% 21,750 59%
FR=RIE FR% [ KBRURFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
RIBE [ KREEFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
FR=EEX FR% [ KBRUFRFD JAL JAL 38,000 33% 19,000 67% 23,050 59%
REAFE [ KR(EFD JAL JAL 38,000 33% 19,000 67% 23,050 59%
FR=E4 FR% [ KBRURFD JAL JAL 38,000 33% 19,000 67% 23,050 59%
EiEFE [ KR(EF JAL JAL 38,000 33% 19,000 67% 23,050 59%
FR=ERS FE% [ KBRUFRFD JAL JAC 39,000 35% 19,500 68% 23,700 61%
ERE KR (EFH JAC JAL 39,000 35% 19,500 68% 23,700 61%
MR =FE 1L IR E S-1€EL:)) JAL JAL 32,400 43% 16,200 71% 19,350 66%
FIL% [EHEFECHA) JAL JAL 32,400 43% 16,200 71% 19,350 66%
IMA=TR5 NRFE [FECHE) JAL JAL 33,000 42% 16,500 71% 19,800 65%
LEB% [FECHH) JAL JAL 33,000 42% 16,500 71% 19,800 65%
IMA=LAFER IR E S-1€EL:)) JAL JAL 37,000 39% 18,500 70% 22,200 63%
WOFEF [3HECHE) JAL JAL 37,000 39% 18,500 70% 22,200 63%
IMA=HHE MR [FECHE) JAL JAL 34,000 41% 17,000 71% 20,150 65%
HEH [RRCRA) JAL JAL 34,000 41% 17,000 71% 20,150 65%
INR=TES R [EHEFECHE) JAL JAL 31,700 43% 15,850 72% 18,900 66%
EEH |[FECHH) JAL JAL 31,700 43% 15,850 72% 18,900 66%
INR=E MMAFE R CHH) JAL JAL 32,000 43% 16,000 71% 18,950 66%
2% [HRER(CHEH) JAL JAL 32,000 43% 16,000 71% 18,950 66%
INR=TE4 MRFE [HECHE) JAL JAL 34,000 41% 17,000 71% 20,150 65%
2% [HRERCHEH) JAL JAL 34,000 41% 17,000 71% 20,150 65%
MEY=HALL MNRFE [HEECHE) JAL JAL 34,200 41% 17,100 71% 20,500 65%
WL [FECHHE) JAL JAL 34,200 41% 17,100 71% 20,500 65%
INR=FERM IR S-A€EL:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
EAMFE |[RECHEH JAL JAL 39,000 38% 19,500 69% 23,550 63%




MERIsEHERS EER(BA2B~158EES) JAL/JTA/JAC/RAG

et LelES ] INRARRIRMEIS| SIREMNLERRIRBEIE
XFH #ad | BHBO A= E—5E E—5E CT—5H

a0 | FE0 | EEG) 3/2-3/15 251% -3 3/2-3/15 251% -3 3/2-3/15 251% -3
INR=K5 MRF [FECHE) JAL JAL 38,000 39% 19,000 69% 22,850 63%
A% [FECHH) JAL JAL 38,000 39% 19,000 69% 22,850 63%
MNR=FIE IR E S-1€EL:)) JAL JAL 41,200 37% 20,600 68% 24,950 62%
RB% [HECHH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
INR=FER IR E S-1€EL:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
REA% [HFECHH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
INR=FIF IR E S 1€EL:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
ER%E [RRECRA) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IMA=FERE IMAFE [RECHH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
EREH [HECHH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IMA=TEXES MAE  [EE(CHHE) JAL JAL 49,000 32% 24,500 66% 31,350 57%
EEAEH [RE(HH) JAL JAL 49,000 32% 24,500 66% 31,350 57%
IMA=FTH NS [ (FRER) JTA [JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EaHE [FEGER JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
IMNR=F1E AMNFE B (BRER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
AEHE [HEGER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
=& EE €T JTA [JTA/RAC 46,000 16% 23,000 58% 27,500 50%
BEH% [EGH) JTA/RAC|  JTA 46,000 16% 23,000 58% 27,500 50%
[EITEE=E] ENE I ET 16 ) JTA JTA 50,600 16% 25,300 58% 31,000 49%
AEH [HEER JTA JTA 50,600 16% 25,300 58% 31,000 49%
EHN=EF =% & JAL JAC 27,700 42% 13,850 71% 17,750 63%
I 5 & JAC JAL 27,700 42% 13,850 71% 17,750 63%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH EX JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHHE) JAL/JTA] JAL 49,500 34% 24,750 67% 29,750 60%
EHA%  [FECHH) JAL _[JAL/JTA 49,500 34% 24,750 67% 29,750 60%
SPB(INER) ==IR [h#8 (ARER) % | 3R CHEH) JAL/JTA] JAL 49,500 34% 24,750 67% 29,750 60%
ZR% [HECHH) JAL _[JAL/JTA 49,500 34% 24,750 67% 29,750 60%
SPHB(INER) =FAE [h4E (BRER) | 3R CHEH) JAL/JTA] JAL 48,000 31% 24,000 66% 28,800 59%
AR [FECHH) JAL _[JAL/JTA 48,000 31% 24,000 66% 28,800 59%
SPHB(INER) = LT [ih#8 (ARER) % | 3R CHE) JAL/JTA] JAL 48,000 24% 24,000 62% 28,800 55%
W% |[RECRA) JAL _[JAL/JTA 48,000 24% 24,000 62% 28,800 55%
ARBONE) =Ile MBI R  ERE JTA JAL 47,300 37% 23,650 69% 28,950 62%
& F 128 JAL JTA 47,300 37% 23,650 69% 28,950 62%
SPAB(IRER) =/ SR 48 (ARER) % | 3R CHE) JAL/JTA] JAL 43,000 36% 21,500 68% 26,200 61%
AR [HE CHE) JAL _[JAL/JTA 43,000 36% 21,500 68% 26,200 61%
SRR =nm (TEGRX] & JTA JAL 32,400 42% 16,200 71% 20,150 64%
=] & JAL JTA 32,400 42% 16,200 71% 20,150 64%
ShEE(RER) =L [(MEGERIHX] & JTA JAC 29,200 44% 14,600 72% 17,850 66%
FALLFE & JAC JTA 29,200 44% 14,600 72% 17,850 66%
RR(PE) =BEAB|[ZR(ABX| ERE JAL JAC 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
BEAER | BERE JAC JAL 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
ER(CABE)=ERB[ER(FHE)%] ERS JAL JAC 45,350 31% 22,700 65% 28,150 57%
BEAE JAL JAC 45,350 22% 22,700 61% 28,100 51%
ERER BRE JAC JAL 45,350 31% 22,700 65% 28,150 57%
BEAE JAC JAL 45,350 22% 22,700 61% 28,100 51%
ER(CABR) =#zB[ZEx(FHE) %] ERS JAL JAC 46,950 33% 23,500 66% 28,850 59%
BEAE JAL JAC 47,800 23% 23,900 61% 29,400 52%
[FFAEES BRE JAC JAL 46,950 33% 23,500 66% 28,850 59%
BEAE JAC JAL 47,800 23% 23,900 61% 29,400 52%
HRHE) =FkRH|ERCIA)%| ERS JAL JAC 48,350 32% 24,200 66% 30,050 57%
HKRER | ERS JAC JAL 48,350 32% 24,200 66% 30,050 57%
BEAE JAC JAL 48,350 26% 24,200 63% 30,050 54%
i BEKXE [ JAC JAC JAL | 48350 38% 24,200 69% 30,050 61%
RROPE)=5# AR (PR %] ERS JAL JAC 48,750 32% 24,400 66% 30,300 58%
EX-t3 ERS JAC JAL 48,750 32% 24,400 66% 30,300 58%
BEAE JAC JAL 48,700 28% 24,350 64% 30,250 56%
ShKBER | BEKAE [ JAC JAC JAL | 48700 35% 24,350 68% 30,250 60%
KR () =BERE[ AR (B E| ERS JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEAEHR | BERE JAC JAC 40,700 25% 20,350 63% 24,700 55%
KB () =ERE| KR (FHFE| _ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAL JAC 40,600 15% 20,350 58% 24,950 48%
ERER ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BELE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR (B =EZB|XKR(FM %] ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
BELE JAL JAC 42,900 17% 21,450 59% 26,250 49%
[FFAEES ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR () =hk RE | KBR P | ER JAC JAC 43,250 26% 21,650 63% 26,700 54%
HKBEHE | BERE JAC JAC 43,250 26% 21,650 63% 26,700 54%
KRB =5# [KIR(BEFH%] ERS JAC JAC 43,650 27% 21,850 64% 26,950 55%
S5 BRES JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=EXXE BE % BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
BEAEHR | BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
BER=ER5 [EEES ERE JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEAE JAC JAC 33,650 19% 16,850 59% 20,600 50%
EREH ERS JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEAE JAC JAC 33,650 19% 16,850 59% 20,600 50%
ER=z5 FEES ERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BELE JAC JAC 34,150 25% 17,100 62% 20,700 54%
[FFAEES BRE JAC JAC 34,150 31% 17,100 66% 20,700 58%
EXE JAC JAC 34,150 25% 17,100 62% 20,700 54%
BE=4KBE B3 BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
HKBREHE | BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
BEAE JAC JAC 35,300 28% 17,650 64% 21,700 56%
i BEKXE [ JAC JAC JAC | 35,300 43% 17,650 71% 21,700 65%
ER=5#H FERES ERE JAC JAC 35,700 31% 17,850 66% 21,950 58%
EX-t3 BRE JAC JAC 35,700 31% 17,850 66% 21,950 58%
BEAE JAC JAC 35,700 31% 17,850 66% 21,950 58%
HKBRER | BEKX JAC JAC JAC 35,700 39% 17,850 70% 21,950 63%




MRl E#RBNS IEER(SA16H~24HEES)

JAL/JTA/JAC/RAC

st R FAEEIS] INRAR R RMEIS| SIREMNERIRBEIE]
X it | BHHO A E—75H E—75H E—75H

a0 | FE0 | EEG) 3/16-3/24 251% {ig#% |3/16-3/24 251% g% |3/16-3/24 251% -3
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EH% [HEGH) JTA/RAC[JAL/JTA 57,700 6% 28,850 53% 35,500 42%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 61,500 8% 30,750 54% 37,950 43%
REFE [HEGER JTA [JAL/JTA 61,500 8% 30,750 54% 37,950 43%
KB (BEFE) JTA JAL 61,500 18% 30,750 59% 37,950 50%
KB (7 =% @31 | KRk () | R= CRA) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LR (T %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
ZimplFE | RECHEH) JAL JAL 50,600 25% 25,300 63% 27,850 59%
KB (B8TE) =% 3 | Kbk (B3#E) 5| = CRIEA) JAL JAL 50,600 25% 25,300 63% 27,850 59%
HLIE (T %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
SN ESACREED) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LR (T %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
KR (FFH =8Il [ KBr (FFH % | 3R CHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
B  [HECHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
Khx (BE7E) =#BJIl | XBx (BE7E) % | 3R CHHEH) JAL JAL 47,900 28% 23,950 64% 26,200 60%
BN  [HECHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
SipEs  [HECHH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
KR (BE7E) =8B | KBx (RE7E) 5| 3R CHEH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
fiER  [HECHH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
KR (BFH) =5 [ KB (R FH) %[ 3R CHEH) JAL JAL 47,900 26% 23,950 63% 26,200 60%
HEE [ER(CHHE) JAL JAL 47,900 26% 23,950 63% 26,200 60%
KR (BE7E) = /5 | KB (BEdE) %[ 3R CHEH) JAL JAL 47,900 26% 23,950 63% 26,200 60%
HEE [ERER(CHH) JAL JAL 47,900 26% 23,950 63% 26,200 60%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 48,000 18% 24,000 59% 26,450 55%
BHEER [HAECHHE) JAL JAL 48,000 18% 24,000 59% 26,450 55%
ABR FFD) % | /R CHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
ZR%  [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KBR (B97E) = =R ZR% [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KB () =Rk [ KRR (R FH HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
(B HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
KB (FF) =187 5| X0k (F BERE JAC JAC 32,600 22% 16,300 61% 20,850 50%
BYE BRE JAC JAC 32,600 22% 16,300 61% 20,850 50%
KR (FFH =82 [ Xk (FF AR (BBER) JAL _[JTA/RAC 50,000 9% 25,000 55% 27,500 50%
EO% [HEGH) JTA/RAC| JAL 50,000 9% 25,000 55% 27,500 50%
KR (BAE) == [ KB (BE7E) F| P48 (BBIR) JAL/JTA|JTA/RAC 50,000 9% 25,000 55% 27,500 50%
EH% [HEGH) JTA/RAC[JAL/JTA 50,000 9% 25,000 55% 27,500 50%
KR (BFH =FR1E [ KB (RFH) F| 04 (BREH) JAL JTA 52,000 14% 26,000 57% 31,000 49%
AEHE [HEGER JTA JAL 52,000 14% 26,000 57% 31,000 49%
KR (BEE) =FR1E | KBx (REFE) 5| P48 (BBIR) JAL/JTA| JTA 52,000 14% 26,000 57% 31,000 49%
AEH [HEER JTA [JAL/JTA 52,000 14% 26,000 57% 31,000 49%
LR (FE) =% 5| & EE (P ED) F[4LIE T i) JAL JAL 46,000 27% 23,000 63% 25,450 60%
ZEmAFE R EFTR JAL JAL 46,000 27% 23,000 63% 25,450 60%
AHE(FEH) ==& |£5E (hE) £ G5 JTA [JTA/RAC 51,000 14% 25,500 57% 28,150 53%
EH% [HEGH) JTA/RAC| JTA 51,000 14% 25,500 57% 28,150 53%
2EE (P =HiE[ 2R hE) %[ 548 GLEH) JTA JTA 55,200 15% 27,600 57% 33,900 48%
AEH  [HEGER) JTA JTA 55,200 15% 27,600 57% 33,900 48%
IR (BT ) =/MA[ALIR G | R CREA) JAL JAL 39,000 35% 19,500 67% 21,450 64%
MR (R CHE) JAL JAL 39,000 35% 19,500 67% 21,450 64%
FLOR G T %) = Rel L1 [4LI% (T ) 3| R CHH) JAL JAL 41,000 40% 20,500 70% 22,400 67%
EIE ESACET:)) JAL JAL 41,000 40% 20,500 70% 22,400 67%
IR EF%) =L B[R @ T 2| HR CHH) JAL JAL 42,000 39% 21,000 69% 23,050 66%
LEB% [FECHH) JAL JAL 42,000 39% 21,000 69% 23,050 66%
IR (B F %) = IO 8 | #LIR BT %) % R CRH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
WOFEFE [HECHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
AR BT %) =HE 4R @ T % HR CHH) JAL JAL 44,000 36% 22,000 68% 23,950 65%
= R (CHH) JAL JAL 44,000 36% 22,000 68% 23,950 65%
IR BT %) =B AR @ T %[ /R CHH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
mEH [FECHH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
IR (BT == [ALR G TR % R CRA) JAL JAL 46,000 32% 23,000 66% 25,550 62%
=% [FECHHE) JAL JAL 46,000 32% 23,000 66% 25,550 62%
IR (BT %) ==& AR G ) % R CREA) JAL JAL 48,000 31% 24,000 65% 26,500 62%
=A% [FECHH) JAL JAL 48,000 31% 24,000 65% 26,500 62%
IR (BT %) =AU [ALIR G F#) | R CREA) JAL JAL 51,000 27% 25,500 63% 27,950 60%
WL [FECHH) JAL JAL 51,000 27% 25,500 63% 27,950 60%
ALIR BT 5% =LA [4LIR B F#%) 5| S CRIE) JAL JAL 49,000 34% 24,500 67% 26,900 64%
LAMFE |RZECHEH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
LR BT %) = K5 LR F T % RR CHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
> FR CHHE) JAL JAL 49,000 33% 24,500 67% 26,900 63%
IR BT %) =R [4LIR @ T 2| HR CHEH) JAL JAL 51,000 34% 25,500 67% 28,150 63%
RB%  [HAECHH) JAL JAL 51,000 34% 25,500 67% 28,150 63%
IR GBI T %) = RE AR [4LIR (T %[ RR CHH) JAL JAL 50,000 33% 25,000 66% 27,500 63%
A% [HECHH) JAL JAL 50,000 33% 25,000 66% 27,500 63%
FLIR BT %) = =6 [4LIR (T 2| R CHH) JAL JAL 51,000 32% 25,500 66% 28,150 62%
ER%E [RRCRA) JAL JAL 51,000 32% 25,500 66% 28,150 62%
AR FFR) =ERS[ ARG TR | R CRA) JAL JAL 57,000 26% 28,500 63% 31,350 59%
BERE%E |RFE(HH) JAL JAL 57,000 26% 28,500 63% 31,350 59%
IR (B FR) =BEXS LI FT%) %[ /R CRH) JAL JAL 58,000 31% 29,000 65% 32,000 62%
EEAEH [RR(HH) JAL JAL 58,000 31% 29,000 65% 32,000 62%
AL BT 2% = GBI | ALIR (B F %) %[ R R (BIE) JAL _[JAL/JTA 59,000 25% 29,500 62% 32,750 58%
KB (BFE) JAL [JAL/JTA 59,000 26% 29,500 63% 32,750 59%
£EHE (PEH) JAL JTA 59,000 27% 29,500 63% 32,750 59%
128 JAL JTA 59,000 29% 29,500 64% 32,750 60%
HR (B! F|RE (BH) JAL/JTA] JAL 59,000 25% 29,500 62% 32,750 58%
KB (BFE) JAL/JTA| JAL 59,000 26% 29,500 63% 32,750 59%
£HE (PEH) JTA JAL 59,000 27% 29,500 63% 32,750 59%
128 JTA JAL 59,000 29% 29,500 64% 32,750 60%
12 =% 3l w\EE [EECHH) JAL JAL 60,000 27% 30,000 64% 33,350 59%
HLIE (T %) JAL JAL 60,000 22% 30,000 61% 33,350 57%
ST EGACREE)) JAL JAL 60,000 27% 30,000 64% 33,350 59%
HLIE (i T %) JAL JAL 60,000 22% 30,000 61% 33,350 57%
2=l BE% [FECHH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
B  [HECHH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
1= =2 BE% [FECHH) JAL JAL 60,000 25% 30,000 63% 33,350 58%
fipgs [ERECHH) JAL JAL 60,000 25% 30,000 63% 33,350 58%




MR EMEIS JEER(BA16B~24ARES) JAL/JTA/JAG/RAG

et LelES ] INRARRIRMEIS| SIREMNLERRIRBEIE
XFH #ad | BHBO A= E—5E E—5E C—5H

a0 | KE0 [ EEG) 3/16-3/24 251% g% |3/16-3/24 25|% g% |3/16-3/24 251% -3
[EEEETN BE% [FECHH) JAL JAL 60,000 24% 30,000 62% 33,350 58%
HER  [FECHE) JAL JAL 60,000 24% 30,000 62% 33,350 58%
12 =EKeE BE% [FECHH) JAL JAL 59,000 19% 29,500 59% 32,700 55%
BHAER [FECHH) JAL JAL 59,000 19% 29,500 59% 32,700 55%
ER=F% BER [FHECHH) JAL JAL 49,000 31% 24,500 66% 27,450 61%
KR (EFH JAL JAL 49,000 22% 24,500 61% 27,450 56%
B L ESACED) JAL JAL 49,000 31% 24,500 66% 27,450 61%
KR (EFH JAL JAL 49,000 22% 24,500 61% 27,450 56%
'EE==iR BE% [FECHH) JAL JAL 48,500 31% 24,250 66% 27,150 62%
ZR%  [HECHH) JAL JAL 48,500 31% 24,250 66% 27,150 62%
EE=1t5 [ e I PN A=) JAL JAL 47,500 23% 23,750 61% 26,500 57%
&R [ KRURFD JAL JAL 47,500 23% 23,750 61% 26,500 57%
fBE=#A BE%E [HER(HH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
MEFEX [REREH JAL JAL 49,000 25% 24,500 63% 27,050 59%
AR (EFH JAL JAL 49,000 17% 24,500 59% 27,050 54%
2@ =L BER [FHECHH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 23% 22,500 61% 24,950 57%
W% [RRECRA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (FFH JAL JAL 45,000 23% 22,500 61% 24,950 57%
=R =" BE% [ XBR(UFRD JAL JAL 43,300 22% 21,650 61% 23,700 57%
FR% [ KERURFD JAL JAL 43,300 22% 21,650 61% 23,700 57%
2=/ BE% [HEECHE) JAL JAL 43,000 32% 21,500 66% 23,550 63%
IR E S-A€ET:)) JAL JAL 43,000 32% 21,500 66% 23,550 63%
wER=2= FIrE A b A € ) JTA [JTA/RAC 44,000 9% 22,000 54% 24,300 50%
EH% [EGH) JTA/RAC|  JTA 44,000 9% 22,000 54% 24,300 50%
RBE=FH1E A b - 161 ) JTA JTA 47,100 12% 23,550 56% 24,750 54%
AEH [HEER JTA JTA 47,100 12% 23,550 56% 24,750 54%
i =Ila ZHAFE IR EFHTR) JAL JAL 36,000 33% 18,000 67% 19,500 64%
IWES  |+REFHFH) JAL JAL 36,000 33% 18,000 67% 19,500 64%
A =R Zimp % | RECHE) JAL JAL 48,000 29% 24,000 64% 26,350 61%
AR [FEECHE) JAL JAL 48,000 29% 24,000 64% 26,350 61%
23 Al = RE Ll Zimp % | RECHEH) JAL JAL 52,000 31% 26,000 66% 28,800 62%
EE ESACET:)) JAL JAL 52,000 31% 26,000 66% 28,800 62%
LimAl=HE ZimpFE | RECHEH) JAL JAL 50,000 35% 25,000 67% 27,850 64%
HEH [RRCRA) JAL JAL 50,000 35% 25,000 67% 27,850 64%
i A =l i A R (CHH) JAL JAL 57,200 26% 28,600 63% 31,700 59%
WL [FECHHE) JAL JAL 57,200 26% 28,600 63% 31,700 59%
JETTETR A MBI [FECHH) JAL JAL 48,000 27% 24,000 63% 25,350 61%
MNRFE  [FECHE) JAL JAL 48,000 27% 24,000 63% 25,350 61%
TBI=ML MBI [HECHE) JAL JAL 52,000 30% 26,000 65% 28,800 61%
EIE ESACET:)) JAL JAL 52,000 30% 26,000 65% 28,800 61%
BINI=HE BIIFE [FECHH) JAL JAL 49,700 34% 24,850 67% 27,200 64%
EXx |[ERCRHA) JAL JAL 49,700 34% 24,850 67% 27,200 64%
JENI=#211 BN  [HECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
WL [FECHHE) JAL JAL 57,200 24% 28,600 62% 31,700 58%
SRR =/ fipEs  [HECHHE) JAL JAL 45,000 31% 22,500 65% 24,950 62%
MMAFE R CHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
12 =Rl LI fipEse [ CHHE) JAL JAL 52,000 29% 26,000 65% 28,800 61%
FELFE  [HECRA) JAL JAL 52,000 29% 26,000 65% 28,800 61%
SR =HE fipEs  [HECHH) JAL JAL 49,700 33% 24,850 67% 27,850 63%
EXx |[ERCRHA) JAL JAL 49,700 33% 24,850 67% 27,850 63%
SIER =410 fipEs  [HECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
Wl [FECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
HIL=/M2 HHFE [HERCHEH) JAL JAL 48,000 26% 24,000 63% 25,350 61%
A [EE(CHE) JAL JAL 48,000 26% 24,000 63% 25,350 61%
HIE=MRL HLE%  [FECHHE) JAL JAL 52,000 29% 26,000 64% 28,800 60%
EIE ESACET:)) JAL JAL 52,000 29% 26,000 64% 28,800 60%
HL=HE HEE [ER(CHH) JAL JAL 49,000 34% 24,500 67% 27,200 63%
HEH [RRCRA) JAL JAL 49,000 34% 24,500 67% 27,200 63%
HIL=H10 BHFE [HERCHEH) JAL JAL 57,200 23% 28,600 62% 31,700 58%
WL [FECHHE) JAL JAL 57,200 23% 28,600 62% 31,700 58%
B =/ R BHEER [HECHHE) JAL JAL 40,000 31% 20,000 65% 21,800 62%
NRF [FEECHE) JAL JAL 40,000 31% 20,000 65% 21,800 62%
B =1L BHEER [HECHHE) JAL JAL 51,000 23% 25,500 61% 28,150 57%
EE ESACET:)) JAL JAL 51,000 23% 25,500 61% 28,150 57%
HEE=HE BHAER [FECHHE) JAL JAL 48,700 28% 24,350 64% 27,200 60%
HEX [EHFECHHA) JAL JAL 48,700 28% 24,350 64% 27,200 60%
BEE=HL BHEER  [FECHHE) JAL JAL 56,100 17% 28,050 59% 31,000 54%
WL [FECHH) JAL JAL 56,100 17% 28,050 59% 31,000 54%
R =t A BHAER  [HECHHE) JAL JAL 59,000 19% 29,500 59% 32,700 55%
HEE=X% BHEER  [FECHHE) JAL JAL 47,000 34% 23,500 67% 25,900 64%
A% [FECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
HEE=RE BHfER [FECHH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
RB% [HECHH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
BEE=FREA BEER  [FECHHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
A% [FECHH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
HE=25 BEER  [HECHHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
ER%E [RRCRA) JAL JAL 49,000 32% 24,500 66% 26,900 63%
HE=ERS BHEER [HECHHE) JAL JAL 50,000 33% 25,000 67% 27,500 63%
BRE%E |RFE(HH) JAL JAL 50,000 33% 25,000 67% 27,500 63%
HE=BEXS BE R (CHH) JAL JAL 57,000 30% 28,500 65% 31,350 62%
EEAEH |RR(HH) JAL JAL 57,000 30% 28,500 65% 31,350 62%
BEH=/M EH%E  [ER(EH) JAL JAL 37,000 34% 18,500 67% 20,500 64%
AR [FEECHE) JAL JAL 37,000 34% 18,500 67% 20,500 64%
EH=RLL EHA%  [FECHH) JAL JAL 42,000 35% 21,000 67% 23,050 64%
EIE ESACET:)) JAL JAL 42,000 35% 21,000 67% 23,050 64%
EH=L5 EHA%  [HAECHH) JAL JAL 43,000 34% 21,500 67% 23,700 64%
LEB% [FECHH) JAL JAL 43,000 34% 21,500 67% 23,700 64%
FEH=ILOFE EH%E [ER(EH) JAL JAL 45,000 35% 22,500 67% 24,950 64%
WOFEF [HECHE) JAL JAL 45,000 35% 22,500 67% 24,950 64%
EH=HE HH =R CRE) JAL JAL 42,700 35% 21,350 68% 23,550 64%
KR (EFH JAL JAC 42,700 28% 21,350 64% 23,550 60%
HEH [ERCRHA) JAL JAL 42,700 35% 21,350 68% 23,550 64%
KR (FH JAC JAL 42,700 28% 21,350 64% 23,550 60%
EH=RE BEHA%  [FECHH) JAL JAL 40,000 38% 20,000 69% 21,750 66%
mER [HECHH) JAL JAL 40,000 38% 20,000 69% 21,750 66%




MRl E#RBNS IEER(SA16H~24HEES)

JAL/JTA/JAC/RAC

st R FAEEIS| INRARRIRMEIS| SIREMNLERRIRBEIE
X #ZHt® | #HHO A= E—75H E—75H E—75H
0 | R [ KEG | 3/16-3/24 251% g% |3/16-3/24 25|% g% |3/16-3/24 251% -3
EH=mi EH%E  [ER(EH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
=2 [HRER(CHEH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
=24 BEHA%  [FECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
=A% [FECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
BEH=L EH%E  [ER(EH) JAL JAL 43,000 35% 21,500 68% 23,700 64%
Wl [FECHHE) JAL JAL 43,000 35% 21,500 68% 23,700 64%
BEHR=IdAM EH%E [ER(EH) JAL JAL 49,000 31% 24,500 66% 27,450 61%
LA R (CHH) JAL JAL 49,000 31% 24,500 66% 27,450 61%
EH=KX% EHA%  [FECHH) JAL JAL 45,000 36% 22,500 68% 24,950 64%
A% [FECHH) JAL JAL 45,000 36% 22,500 68% 24,950 64%
EH=RB B T ESACED) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAL JAL 49,000 27% 24,500 63% 26,900 60%
RB% [HAECHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
EH=EX B ESACED) JAL JAL 47,000 34% 23,500 67% 25,900 64%
AR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
REA% [HFECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
EH=24 B T ESACED) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
BEFE [RRECRA) JAL JAL 47,000 34% 23,500 67% 25,900 64%
AR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
EH=ERS B ESACED) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAL JAC 49,000 28% 24,500 64% 26,900 60%
BREX |[RE(HH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAC JAL 49,000 28% 24,500 64% 26,900 60%
EH=BEXS EHE [ER(BH) JAL JAL 53,000 34% 26,500 67% 29,700 63%
BEXER [RE(HH) JAL JAL 53,000 34% 26,500 67% 29,700 63%
KR (FH JAL JAL 53,000 31% 26,500 66% 29,700 62%
ZIR=/ £ |RECHH) JAL JAL 37,000 34% 18,500 67% 20,500 63%
£ |RECHH) JAL JAL 37,000 34% 18,500 67% 20,500 63%
=iR=EW £ |RE(HEH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
£ |RECHH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZR=IE% £ |RECHEH) JAL JAL 43,000 34% 21,500 67% 23,700 63%
£ |RECHEH) JAL JAL 43,000 34% 21,500 67% 23,700 63%
ZR=WOFE £ |RECHH) JAL JAL 45,000 34% 22,500 67% 24,950 64%
% |HECRHA) JAL JAL 45,000 34% 22,500 67% 24,950 64%
ZIR=HZE £ |RECHH) JAL JAL 43,900 33% 21,950 66% 24,250 63%
£ [EHEFECRMA) JAL JAL 43,900 33% 21,950 66% 24,250 63%
ZR=#5 £ [RRCHA) JAL JAL 40,000 37% 20,000 68% 21,750 66%
£ |RECHH) JAL JAL 40,000 37% 20,000 68% 21,750 66%
ZiR=@i £ [EHEFECRMA) JAL JAL 42,000 34% 21,000 67% 23,050 64%
£ |RECHH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZiR=14H £ |RECHH) JAL JAL 42,000 36% 21,000 68% 23,050 65%
£ |RECHH) JAL JAL 42,000 36% 21,000 68% 23,050 65%
ZiR=#1 £ |RECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
£ |RECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
ZiR=dchm £ [EHFECRMA) JAL JAL 48,500 31% 24,250 66% 27,150 62%
R (CHH) JAL JAL 48,500 31% 24,250 66% 27,150 62%
ZIR=X% £ |RECHH) JAL JAL 45,000 35% 22,500 68% 24,950 64%
£ |RECHH) JAL JAL 45,000 35% 22,500 68% 24,950 64%
ZiR=R& £ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
£ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
ZIR=RER £ |RECHEH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
£ |RECHEH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
ZiR=8& £ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
£ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
ZR=ERS £ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
EAES:ACE:D) JAL JAL 49,000 33% 24,500 66% 26,900 63%
SR=FBEXE ZiR%  [HECHH) JAL JAL 53,000 34% 26,500 67% 29,700 63%
EEAEH [RR(HH) JAL JAL 53,000 34% 26,500 67% 29,700 63%
BE=/ PEE [FRERCEH JAL JAL 36,000 29% 18,000 65% 19,800 61%
AR [FEECHE) JAL JAL 36,000 29% 18,000 65% 19,800 61%
FAE =L BEEX [FRERCEH) JAL JAL 37,000 37% 18,500 69% 20,500 65%
FELFE  [EECRA) JAL JAL 37,000 37% 18,500 69% 20,500 65%
MHE=L5 PEEX [HRERCEH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
LEB% [FFECHH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
#EA=LAFE PEE [FRERCEH) JAL JAL 43,000 32% 21,500 66% 23,700 63%
WOFEFE R CHE) JAL JAL 43,000 32% 21,500 66% 23,700 63%
MHE=HE AR [HECHH) JAL JAL 37,000 39% 18,500 69% 20,500 66%
KR (FH JAL JAC 37,000 33% 18,500 67% 20,500 63%
HEH [ERCRA) JAL JAL 37,000 39% 18,500 69% 20,500 66%
KR (EFH JAC JAL 37,000 33% 18,500 67% 20,500 63%
MHA=ES TEF [EECHHE) JAL JAL 37,000 37% 18,500 68% 20,500 65%
mE%E [ER(CHHE) JAL JAL 37,000 37% 18,500 68% 20,500 65%
MHA=E1 PEE [FRERCEH) JAL JAL 40,000 32% 20,000 66% 21,750 63%
2% [HERCHEH) JAL JAL 40,000 32% 20,000 66% 21,750 63%
ME=2% PEE [FRRERCEH) JAL JAL 40,000 34% 20,000 67% 21,750 64%
2% [HERCHEH) JAL JAL 40,000 34% 20,000 67% 21,750 64%
FE=L BEEX [HRERCEH JAL JAL 42,000 31% 21,000 66% 23,050 62%
Wl [FECHHE) JAL JAL 42,000 31% 21,000 66% 23,050 62%
FE=dt M PEE [FRERCEH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
LAME |RFECHEH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
ME=X% MEFEX [REREH JAL JAL 43,000 33% 21,500 67% 23,700 63%
KR (EFH JAL JAL 43,000 24% 21,500 62% 23,700 58%
X% [HECHH) JAL JAL 43,000 33% 21,500 67% 23,700 63%
KR (FFH JAL JAL 43,000 24% 21,500 62% 23,700 58%
MEH=RI& AR [HECHH) JAL JAL 45,000 34% 22,500 67% 24,950 63%
KR (FH JAL JAL 45,000 29% 22,500 64% 24,950 60%
RE% [HECHH) JAL JAL 45,000 34% 22,500 67% 24,950 63%
KR (EFH JAL JAL 45,000 29% 22,500 64% 24,950 60%
FHE=REX AR [HECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
A% [HECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%




MR EMEIS JEER(BA16B~24ARES) JAL/JTA/JAG/RAG

st R FAEEIS| INREBIEHREIS] SAREANVERFRIRMEES]
BXFE #ad | BHBO A= E—55 E—5E E—5E

0 | R [ KEG | 3/16-3/24 251% g% |3/16-3/24 25|% g% |3/16-3/24 251% -3
MH==I& AR [HECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
AR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
BEFE [RRECRA) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
MHE=ERS MEE [ER(CEH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
KR (EFH JAL JAC 47,000 27% 23,500 63% 25,900 60%
EREH [HECHH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
KR (EFH JAC JAL 47,000 27% 23,500 63% 25,900 60%
MEA=EXXE AR [FECHH) JAL JAL 51,000 32% 25,500 66% 29,700 61%
EBEXER [RE(HH) JAL JAL 51,000 32% 25,500 66% 29,700 61%
KR (EFH JAL JAL 51,000 31% 25,500 65% 29,700 60%
Wiz =/hk Wiz %  |[RECRA) JAL JAL 35,000 21% 17,500 61% 18,950 57%
IR E S-1CEL:)) JAL JAL 35,000 21% 17,500 61% 18,950 57%
IRz =R W% |[RECRA) JAL JAL 37,000 30% 18,500 65% 20,500 61%
FELFE  [HECRA) JAL JAL 37,000 30% 18,500 65% 20,500 61%
W =55 W% |[RECRA) JAL JAL 38,000 29% 19,000 64% 21,100 60%
LEB% [FECHH) JAL JAL 38,000 29% 19,000 64% 21,100 60%
Wiz =10 54 W% |[RECRA) JAL JAL 43,000 25% 21,500 62% 23,700 58%
WOFERFE R CHE) JAL JAL 43,000 25% 21,500 62% 23,700 58%
W =H=E W% [RRECRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
AR (EFH JAL JAC 38,000 30% 19,000 65% 21,100 61%
HEH [ERCRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
KR (EFH JAC JAL 38,000 30% 19,000 65% 21,100 61%
=% W% |[RECRA) JAL JAL 37,000 29% 18,500 64% 20,500 61%
mEH [FECHH) JAL JAL 37,000 29% 18,500 64% 20,500 61%
Wi =mn W% [EFECRA) JAL JAL 37,000 29% 18,500 64% 20,500 61%
2% [HRERCHEH) JAL JAL 37,000 29% 18,500 64% 20,500 61%
iR =m=% W% |[RECRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
=A% [FECHH) JAL JAL 38,000 30% 19,000 65% 21,100 61%
Wiz =#xL W% |[RECRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
WL [FECHHE) JAL JAL 38,000 30% 19,000 65% 21,100 61%
Wiz =4t A LAME |RFECHH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
wk=X% W% [RRECRA) JAL JAL 44,000 24% 22,000 62% 24,300 58%
AR (EFH JAL JAL 44,000 21% 22,000 60% 24,300 56%
X% [HECHH) JAL JAL 44,000 24% 22,000 62% 24,300 58%
KR (EFH JAL JAL 44,000 21% 22,000 60% 24,300 56%
W =Ki& W% [RRECRA) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KR (EFH JAL JAL 47,000 24% 23,500 62% 26,250 58%
RE% [HECHH) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KR (EFH JAL JAL 47,000 24% 23,500 62% 26,250 58%
=X W% [RRECRA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
A% [HAECHH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
W =& W% [RRECRA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
BEFE [RRECRA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
W =ERSE W% [RRECRA) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KR (FFH JAL JAC 47,000 26% 23,500 63% 26,250 58%
EREH [HECHH) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KR (FFH JAC JAL 47,000 26% 23,500 63% 26,250 58%
e =H=E mEFE [ KEREEFD JAL JAC 37,000 31% 18,500 65% 20,500 62%
HEHX [ KREEFD JAC JAL 37,000 31% 18,500 65% 20,500 62%
e =X &R [ XREREEFD JAL JAL 42,000 23% 21,000 61% 23,050 58%
K% | KREEFD JAL JAL 42,000 23% 21,000 61% 23,050 58%
e =RiE WEFE [ XREREEFD JAL JAL 45,000 26% 22,500 63% 24,950 59%
RIBFE [ XREEFD JAL JAL 45,000 26% 22,500 63% 24,950 59%
s =HReAR EFE [ XREREEFD JAL JAL 43,000 27% 21,500 63% 23,700 60%
REARFE | KR(EFD JAL JAL 43,000 27% 21,500 63% 23,700 60%
& ==& &R [ KEREEFD JAL JAL 45,000 23% 22,500 62% 24,950 57%
=B [ KR (EF JAL JAL 45,000 23% 22,500 62% 24,950 57%
me=ERrRs &R [ KEREEFD JAL JAC 45,000 27% 22,500 64% 24,950 60%
BREXE |XKRGEFD JAC JAL 45,000 27% 22,500 64% 24,950 60%
[MEEESESN-] &SR [ KEREEFD JAL JAL 50,800 29% 25,400 64% 28,300 60%
BEAEH |KREFD JAL JAL 50,800 29% 25,400 64% 28,300 60%
FR=HE FR% [ KERURFD JAL JAC 34,000 34% 17,000 67% 18,550 64%
EL PNACGE)) JAC JAL 34,000 34% 17,000 67% 18,550 64%
FR=K% FR% [ KERURFD JAL JAL 40,000 24% 20,000 62% 21,750 59%
X% | KREEFD JAL JAL 40,000 24% 20,000 62% 21,750 59%
FR=RIE FR% [ KBRURFD JAL JAL 43,000 27% 21,500 64% 23,700 60%
RIBE [ KREEFD JAL JAL 43,000 27% 21,500 64% 23,700 60%
FR=EEX FR% [ KBRUFRFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
REAFE [ KR(EFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=E4 FR% [ KBRURFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
EiEFE [ KR(EF JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=ERS FE% [ KBRUFRFD JAL JAC 43,000 29% 21,500 64% 23,700 61%
ERE KR (EFH JAC JAL 43,000 29% 21,500 64% 23,700 61%
M= IR E S-1€EL:)) JAL JAL 35,000 38% 17,500 69% 19,350 66%
FELFE [HECHA) JAL JAL 35,000 38% 17,500 69% 19,350 66%
IMA=TR5 NRFE [FECHE) JAL JAL 36,000 37% 18,000 68% 19,800 65%
LEB% [FECHH) JAL JAL 36,000 37% 18,000 68% 19,800 65%
IMA=LAFER IR E S-1€EL:)) JAL JAL 40,000 34% 20,000 67% 22,200 63%
WOFEF [3HECHE) JAL JAL 40,000 34% 20,000 67% 22,200 63%
IMA=HHE MR [FECHE) JAL JAL 37,000 36% 18,500 68% 20,150 65%
HEH [RRCRA) JAL JAL 37,000 36% 18,500 68% 20,150 65%
INR=TES R [EHEFECHE) JAL JAL 34,000 39% 17,000 70% 18,900 66%
EEH |[FECHH) JAL JAL 34,000 39% 17,000 70% 18,900 66%
INR=E MMAFE R CHH) JAL JAL 35,000 37% 17,500 69% 18,950 66%
2% [HRER(CHEH) JAL JAL 35,000 37% 17,500 69% 18,950 66%
INR=TE4 MRFE [HECHE) JAL JAL 37,000 36% 18,500 68% 20,150 65%
2% [HRERCHEH) JAL JAL 37,000 36% 18,500 68% 20,150 65%
MEY=HALL MNRFE [HEECHE) JAL JAL 37,000 36% 18,500 68% 20,500 65%
WL [FECHHE) JAL JAL 37,000 36% 18,500 68% 20,500 65%
INR=FERM IR S-A€EL:)) JAL JAL 43,000 32% 21,500 66% 23,550 63%
EAMFE |[RECHEH JAL JAL 43,000 32% 21,500 66% 23,550 63%




MRl E#RBNS IEER(SA16H~24HEES)

JAL/JTA/JAC/RAC

et LelES ] INRARRIRMEIS| SIREMNLERRIRBEIE
XFH #ad | BHBO A= E—5E E—5E E—5E

0 | R [ KEG | 3/16-3/24 25| = g% |3/16-3/24 25| = g% |3/16-3/24 e -3
INR=K5 MRF [FECHE) JAL JAL 42,000 32% 21,000 66% 22,850 63%
A% [FECHH) JAL JAL 42,000 32% 21,000 66% 22,850 63%
MNR=FIE IR E S-1€EL:)) JAL JAL 45,000 31% 22,500 65% 24,950 62%
RB% [HECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
INR=FER IR E S-1€EL:)) JAL JAL 43,000 32% 21,500 66% 23,550 63%
REA% [HFECHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=FIF IR E S 1€EL:)) JAL JAL 43,000 32% 21,500 66% 23,550 63%
ER%E [RRECRA) JAL JAL 43,000 32% 21,500 66% 23,550 63%
IMA=FERE IMAFE [RECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
EREH [HECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMA=TEXES MAE  [EE(CHHE) JAL JAL 49,000 32% 24,500 66% 29,700 59%
EEAEH [RE(HH) JAL JAL 49,000 32% 24,500 66% 29,700 59%
IMA=FTH NS [ (FRER) JTA [JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EaHE [FEGER JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
IMNR=F1E AMNFE B (BRER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
AEHE [HEGER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
=& EE €T JTA [JTA/RAC 50,000 9% 25,000 55% 27,500 50%
BEH% [EGH) JTA/RAC|  JTA 50,000 9% 25,000 55% 27,500 50%
[EITEE=E] ENE I ET 16 ) JTA JTA 52,000 14% 26,000 57% 31,000 49%
AEH [HEER JTA JTA 52,000 14% 26,000 57% 31,000 49%
EHN=EF =% & JAL JAC 27,700 42% 13,850 71% 17,750 63%
I 5 & JAC JAL 27,700 42% 13,850 71% 17,750 63%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH EX JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHHE) JAL/JTA] JAL 54,000 28% 27,000 64% 29,750 60%
EHA%  [FECHH) JAL _[JAL/JTA 54,000 28% 27,000 64% 29,750 60%
SPB(INER) ==IR [h#8 (ARER) % | 3R CHEH) JAL/JTA] JAL 54,000 28% 27,000 64% 29,750 60%
ZR% [HECHH) JAL _[JAL/JTA 54,000 28% 27,000 64% 29,750 60%
SPHB(INER) =FAE [h4E (BRER) | 3R CHEH) JAL/JTA] JAL 52,000 25% 26,000 63% 28,800 59%
AR [FECHH) JAL _[JAL/JTA 52,000 25% 26,000 63% 28,800 59%
SPHB(INER) = LT [ih#8 (ARER) % | 3R CHE) JAL/JTA] JAL 52,000 18% 26,000 59% 28,800 55%
W% |[RECRA) JAL _[JAL/JTA 52,000 18% 26,000 59% 28,800 55%
ARBONE) =Ile MBI R  ERE JTA JAL 52,800 30% 26,400 65% 28,950 62%
& F 128 JAL JTA 52,800 30% 26,400 65% 28,950 62%
SPAB(IRER) =/ SR 48 (ARER) % | 3R CHE) JAL/JTA] JAL 48,000 28% 24,000 64% 26,200 61%
AR [HE CHE) JAL _[JAL/JTA 48,000 28% 24,000 64% 26,200 61%
SRR =nm (TEGRX] & JTA JAL 32,400 42% 16,200 71% 20,150 64%
=] & JAL JTA 32,400 42% 16,200 71% 20,150 64%
ShEE(RER) =L [(MEGERIHX] & JTA JAC 33,500 36% 16,750 68% 17,850 66%
FALLFE & JAC JTA 33,500 36% 16,750 68% 17,850 66%
RR(PE) =BEAB|[ZR(ABX| ERE JAL JAC 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
BEAER | BERE JAC JAL 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
ER(CABE)=ERB[ER(FHE)%] ERS JAL JAC 45,350 31% 22,700 65% 28,150 57%
BEAE JAL JAC 45,350 22% 22,700 61% 28,100 51%
ERER BRE JAC JAL 45,350 31% 22,700 65% 28,150 57%
BEAE JAC JAL 45,350 22% 22,700 61% 28,100 51%
ER(CABR) =#zB[ZEx(FHE) %] ERS JAL JAC 46,950 33% 23,500 66% 28,850 59%
BEAE JAL JAC 47,800 23% 23,900 61% 29,400 52%
[FFAEES BRE JAC JAL 46,950 33% 23,500 66% 28,850 59%
BEAE JAC JAL 47,800 23% 23,900 61% 29,400 52%
HRHE) =FkRH|ERCIA)%| ERS JAL JAC 48,350 32% 24,200 66% 30,050 57%
HKRER | ERS JAC JAL 48,350 32% 24,200 66% 30,050 57%
BEAE JAC JAL 48,350 26% 24,200 63% 30,050 54%
i BEKXE [ JAC JAC JAL | 48350 38% 24,200 69% 30,050 61%
RROPE)=5# AR (PR %] ERS JAL JAC 48,750 32% 24,400 66% 30,300 58%
EX-t3 ERS JAC JAL 48,750 32% 24,400 66% 30,300 58%
BEAE JAC JAL 48,700 28% 24,350 64% 30,250 56%
ShKBER | BEKAE [ JAC JAC JAL | 48700 35% 24,350 68% 30,250 60%
KR () =BERE[ AR (B E| ERS JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEAEHR | BERE JAC JAC 40,700 25% 20,350 63% 24,700 55%
KB () =ERE| KR (FHFE| _ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAL JAC 40,600 15% 20,350 58% 24,950 48%
ERER ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BELE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR (B =EZB|XKR(FM %] ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
BELE JAL JAC 42,900 17% 21,450 59% 26,250 49%
[T ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR () =hk RE | KBR P | ER JAC JAC 43,250 26% 21,650 63% 26,700 54%
HKBEHE | BERE JAC JAC 43,250 26% 21,650 63% 26,700 54%
KRB =5# [KIR(BEFH%] ERS JAC JAC 43,650 27% 21,850 64% 26,950 55%
S5 BRES JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=EXXE BE % BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
BEAEHR | BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
BER=ER5 [EEES ERE JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEAE JAC JAC 33,650 19% 16,850 59% 20,600 50%
EREH ERS JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEAE JAC JAC 33,650 19% 16,850 59% 20,600 50%
ER=z5 FEES ERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BELE JAC JAC 34,150 25% 17,100 62% 20,700 54%
[FFAEES BRE JAC JAC 34,150 31% 17,100 66% 20,700 58%
EXE JAC JAC 34,150 25% 17,100 62% 20,700 54%
BE=4KBE B3 BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
HKBREHE | BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
BEAE JAC JAC 35,300 28% 17,650 64% 21,700 56%
i BEKXE [ JAC JAC JAC | 35,300 43% 17,650 71% 21,700 65%
ER=5#H FERES ERE JAC JAC 35,700 31% 17,850 66% 21,950 58%
EX-t3 BRE JAC JAC 35,700 31% 17,850 66% 21,950 58%
BEAE JAC JAC 35,700 31% 17,850 66% 21,950 58%
HKBRER | BEKX JAC JAC JAC 35,700 39% 17,850 70% 21,950 63%
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RED | REQ -
RROHA) =% [EZECHMA)F| 4 EBH) |JAL/JTA[JTA/RAC| 36,000 38%
Eo% 7% (%) [JTA/RAC|JAL/JTA] 36,000 38%
RRCHE)=FE [EZFCHMA)F|HE@BH) [JAL/JTA[ JTA 36,300 43%
AiEHE  [EERE)| JTA [JAL/JTA[ 36,300 43%
KBr (B8R | JTA JAL 36,300 49%
KR (FRFH =% 51 | KBR (FRFH S| RRE CRE) | JAL JAL 34,800 45%
HIREFFR) | JAL JAL 34,800 44%

LA FE |[RERCHHE)| JAL JAL 34,800 45%
KBR (BA7E) =% Al | KBR (BEFE) S| R CRIH) | JAL JAL 34,800 45%

HIREFFR) | JAL JAL 34,800 44%
ZiAF |[ERECHHE)| JAL JAL 34,800 45%
HIRFFR) | JAL JAL 34,800 44%

K (FFH =1 [ KB () F| /R CHH) | JAL JAL 32,700 47%
fBII%E [HECHHE)| JAL JAL 32,700 47%
K (B7E) =81l [ KPR (BH7E) F|ER_FCHE)| JAL JAL 32,700 47%
JBJI%E [EFECHHE)| JAL JAL 32,700 47%
KB (RFH) =8Ig% | KBR (FF) [ RFCHAE)|  JAL JAL 33,500 45%
HIEEHE [HFERCHHEH)| JAL JAL 33,500 45%
K (B7E) =48I3% [ KB (BF) F|ER_FCHAE)| JAL JAL 33,500 45%
HIEEHE [HFERCHHEH)| JAL JAL 33,500 45%
KBR (RFH) =%IE | KBR R #[RFCHAE) | JAL JAL 32,700 46%

HhFE |[EFECEA)| JAL JAL 32,700 46%
K (BdE) =5 [ KB (BF) F|ER_FCHAE)| JAL JAL 32,700 46%
HhFE |[EFECHAE)| JAL JAL 32,700 46%
KB (RFH) =&fE | KBR (FF) [ RFCHE) | JAL JAL 32,400 40%

BHEER [HECHHE)| JAL JAL 32,400 40%
KBR (RFH ==iR [ KBR(RFD) F[R/FACHE)| JAL JAL 30,200 42%
ZR% [HFGAE)] JAL JAL 30,200 42%

KBx (BFR) ==iR SR |[HEFECHAE)| JAL JAL 30,200 42%
KR (FFH =Rk [ KBR(FFDF| HE JAC JAC 19,500 38%
[ETES HE JAC JAC 19,500 38%

KRR =BFE|XRUFEHH| EES JAC JAC 31,000 21%
BETEX BERS JAC JAC 31,000 21%

KR (RFH =& [ KBR R F [P GRE) | JAL |JTA/RAC| 34,400 33%
EEE  [EB(ERE) [JTA/RAC]  JAL 34,400 33%
KR (BE) == [ KB (BFE) F|:Hh4E (BBF) [JAL/JTA[JTA/RAC| 34,400 33%
Eo% 7% (%) [JTA/RAC|JAL/JTA[ 34,400 33%
KR (RFH =F1E | KBR RFH) F[ b (&) | JAL JTA 36,100 37%
RiEH  [HMEEGRE)| JTA JAL 36,100 37%
KB (B8dR) =R [XBx (BHF) | H#8 (BRER) |JAL/JTA]  JTA 36,100 37%
AEFE  [EERE)| JTA [JAL/JTA[ 36,100 37%
ZHE (P =% m5| B E (P8 R ALREFFR) | JAL JAL 31,900 46%
Zimpl%E [AE@FHTFR)]  JAL JAL 31,900 46%
L2EHE (P =G (a2 PM B @ERFH)| JTA [JTA/RAC| 34200 39%
EEE  [EB(ERE) [JTA/RAC]  JTA 34,200 39%
ZEE (D) =F1E[25E(FM R PE @R JTA JTA 36,200 41%
HiEH [PEEGRE)| JTA JTA 36,200 41%
FLIR (BT F ) =/MA AR TR E[HRCRAE) | JAL JAL 25,800 53%
MAFE [ERFCHA)|] JAL JAL 25,800 53%

IR EFFm) =AU ARFFR R|RRCHE) | JAL JAL 31,300 51%
RS |RFCHA)| JAL JAL 31,300 51%

IR (FFm) =LEREFTFH E([ERCAEH)| JAL JAL 32,100 50%
LEE% |[HEFECHA)| JAL JAL 32,100 50%

HIREFFH) =IOFH R FTFH E([HRCAE) | JAL JAL 33,600 51%

WWOF8%E [RRGAE)|] JAL JAL 33,600 51%
IR (FFm) =HEARFTH E([ERCAEH)| JAL JAL 30,000 54%
HEH |[EFCHHA)| JAL JAL 30,000 54%

IR (FFm) =EEARFTH E([ERCAEH)| JAL JAL 31,200 50%
mEF |[HEFECHAE)| JAL JAL 31,200 50%

IR (FFm) = AR EFTFH E([ERCAE) | JAL JAL 32,000 49%

=% |[EFERCHEAE)| JAL JAL 32,000 49%
IR EFFm) =M ARFTFR R ERCHE | JAL JAL 33,200 49%
=A% |[EFECHAE)| JAL JAL 33,200 49%

IR EFFm) =L ARFTFR) R|RRCHE) | JAL JAL 35,000 46%
W% |[EFERCHAE)| JAL JAL 35,000 46%

AR FFHE) =AM R FHFH) X "FCAHE) | JAL JAL 33,600 52%
JEhME [EFERCHH)| JAL JAL 33,600 52%

IR (FFm) =KD AR EFTFH) E[ERCAE)|  JAL JAL 33,600 51%
AoF |[EFRCHA)| JAL JAL 33,600 51%

IR (FFm) =RBALRFTH Z([ERCAE)| JAL JAL 35,200 51%
% |[HFCHEA)| JAL JAL 35,200 51%

FLOR (BT Fm) =RAARFTFH E([HRAEH)| JAL JAL 34,400 51%
A% |[HFECHA)| JAL JAL 34,400 51%

R BTE) —26| ARG % ma CHE)|_JAL | JAL | 35200 | 50%
=G [EFECHHE)| JAL JAL 35,200 50%

WRFTH) RS IR FHFH X|RFTCAH)|  JAL JAL 39,200 46%
EREX [EFERCHH)| JAL JAL 39,200 46%

AR FFR) =@ e (AR TR R[ERTCHA)| JAL [JAL/JTA| 41,000 45%
KBr (B8FE) | JAL |JAL/JTA| 41,000 46%

ZHEE(PE)|  JAL JTA 41,000 46%

1=k JAL JTA 41,000 48%

R (FRFR) | _RE CRH) [JAL/JTA|  JAL 41,000 45%

KBk (B7E) [JAL/JTA[  JAL 41,000 46%

ZHEE(RE)]  JTA JAL 41,000 46%

1=k JTA JAL 41,000 48%

FHEEE S ¥ wER [EECH)| JAL JAL 39,800 49%
IR @ TR JAL JAL 39,800 45%

ZiAF [ERECHHE)| JAL JAL 39,800 49%
HIRFFR) [ JAL JAL 39,800 45%
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&R =hBJIl EE%E [EFCHAE)| JAL JAL 35,700 53%
fBJI%E [EFECHHE)| JAL JAL 35,700 53%
EHEEE IS EEF%E [EFRCHAE)| JAL JAL 35,200 53%
HIEEFE [HFERCHH)| JAL JAL 35,200 53%
[HEEEDN EE%E [EFCHAE)| JAL JAL 35,700 52%
HhFE |[EFECHA)| JAL JAL 35,700 52%
RS EE%E [EFCHAE)| JAL JAL 39,500 42%
BEfER [HFECHHE)| JAL JAL 39,500 42%
B =F% EE%E [ERCEAE)| JAL JAL 34,300 49%
KRER(FEFD | JAL JAL 34,300 41%
AR [EEH)| JAL JAL 34,300 49%
KRER(FEFD | JAL JAL 34,300 41%
wBR==R EE%E  [EFCAE)| JAL JAL 33,900 49%
=R |[ERCHEHHA)| JAL JAL 33,900 49%
B =145 BE% [ KRURFD| JAL JAL 33,100 42%
EER | KBRUEF)| JAL JAL 33,100 42%
&R =FE EEXE [EFCAE)| JAL JAL 33,900 45%
MER [EFECHIH)| JAL JAL 33,900 45%
KRER(FEFD | JAL JAL 33,900 38%
&R = LT EE%E [ERCERE)| JAL JAL 29,600 46%
KRER(FEFD | JAL JAL 29,600 45%
W% |[ERCHE)| JAL JAL 29,600 46%
KRB (FEFD | JAL JAL 29,600 45%
&R =%k mEFE [ KBRGUEFD| JAL JAL 29,600 42%
FiR¥E [ ARUEEFD| JAL JAL 29,600 42%
[HEEUSA EEXE [EFCRAE)| JAL JAL 29,500 50%
MAFE [ERFECHA)|[ JAL JAL 29,500 50%
EE=2h EEFE  [PEGRFE| JTA [JTA/RAC| 31,200 31%
EoE  [EB(ERFE) [JTA/RAC]  JTA 31,200 31%
B =H1E wERE [ PEERH| JTA JTA 34,900 31%
HiEH [HMEEGRE)| JTA JTA 34,900 31%
ZimAl=1l& ZEmAFE [AREFTFH| JAL JAL 24,400 51%
WE%  [AE@ETF®R]  JAL JAL 24,400 51%
Zim A=/ ZimAlFE |[RECAE)| JAL JAL 32,700 48%
MAFE |ERFECHAE)| JAL JAL 32,700 48%
i Al =FRa L ZimAlFE |[RECAE)| JAL JAL 36,000 49%
RS |ERFCHA)| JAL JAL 36,000 49%
ZimAl=HE ZimAlFE |[RECAE)| JAL JAL 34,700 52%
HEX |[EFCHHA)| JAL JAL 34,700 52%
Zim Al =0 ZimAlFE |[RECAE)| JAL JAL 39,600 46%
WILFE |[EFERCHAE)| JAL JAL 39,600 46%
JENTEYSA B [EFCAHE)| JAL JAL 32,700 47%
MAFE [ERFECHA)|] JAL JAL 32,700 47%
HBJI=FRE 1L hBJI% [EFECHHE)| JAL JAL 36,000 48%
RS |ERFCHHA)| JAL JAL 36,000 48%
BN=HE B [EFCAHE)| JAL JAL 34,700 51%
HEH [HFERCHH)| JAL JAL 34,700 51%
TBNI=#210 BJIFE [RFECHE)| JAL JAL 39,600 45%
NLUFE  [BRRERCHHE)| JAL JAL 39,600 45%
IRE =/ g% [HEFCRAE)| JAL JAL 32,700 46%
MAFE |ERFCHA)| JAL JAL 32,700 46%
g =m0 g% [HEFCRAE)| JAL JAL 36,000 48%
RS |ERFCHA)| JAL JAL 36,000 48%
Sl =HE g% [HEFCRE)| JAL JAL 34,700 51%
HEH |[EFCHHA)| JAL JAL 34,700 51%
gligg =410 g% [HEFCRAHE)| JAL JAL 39,600 44%
W% |[ERFECHAE)| JAL JAL 39,600 44%
IR = W% |RERFCEA)| JAL JAL 32,700 46%
MAFE |ERFCHA)|] JAL JAL 32,700 46%
HIL=[Ll HaE  |RFCHA)| JAL JAL 36,000 47%
RS |[ERFCHA)| JAL JAL 36,000 47%
BL=HE HaE  |RERFCEA)| JAL JAL 34,700 50%
HEX |[EFCHHA)| JAL JAL 34,700 50%
HIL=#1 W% |RERFCHA)| JAL JAL 39,600 44%
W% |[EFERCHAE)| JAL JAL 39,600 44%
=/ EHEER [HEFECRHE)| JAL JAL 26,800 50%
MAFE |ERFCHA)|] JAL JAL 26,800 50%
EEE=R Ll EEEHR [WEHECRHE)| JAL JAL 34,900 43%
RS |ERFCHA)| JAL JAL 34,900 43%
HEE=HE EEEX [HEFECRHE)| JAL JAL 33,700 46%
HEX |[EFCHHA)| JAL JAL 33,700 46%
EEE=0L EEEHR [HEFECRHE)| JAL JAL 38,400 39%
WILFE |[EFERCHAE)| JAL JAL 38,400 39%
BEfE=Jt A EEER [HFECHHE)| JAL JAL 32,400 52%
HEE=K5 EHEER [WEFECRHE)| JAL JAL 32,400 52%
AnF |[ERCHA)| JAL JAL 32,400 52%
HE=RI& EEER [WEHECRHE)| JAL JAL 33,600 52%
% |[HFCHA)|] JAL JAL 33,600 52%
BHEE=FEX EEEHR [WEFECRHE)| JAL JAL 33,600 51%
BEAZE |[HFECHA)| JAL JAL 33,600 51%
HE=E& EEER [HEFECRHE)| JAL JAL 33,600 51%
=% |[EFECHA)| JAL JAL 33,600 51%
EE=ERS EEEH [HECHHE)| JAL JAL 34,400 51%
EREX [EFERCHH)| JAL JAL 34,400 51%
HFiR=/IH BAXE  |EFCAA)| JAL JAL 25,600 51%
MAFE |ERFCHA)| JAL JAL 25,600 51%
EH=RELL BAXE |EFCAAE)| JAL JAL 28,800 52%
RS |[EFCHA)| JAL JAL 28,800 52%
EHR=IL5 BEAXE  |EFCAAE)| JAL JAL 29,600 51%
LE% [EERGEAE)| JAL JAL 29,600 51%

JAL/JTA/JAC/RAC
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Mmoo S At
G4 g | HERH 2151 | BEE pren
XED | REQ -
EH=ILOFH BEHAXE  [HFCHHAE)| JAL JAL 31,200 52%
WWOF8%E [RRGIAE)|] JAL JAL 31,200 52%
EHR=HE BAE [ERCEE)| JAL JAL 28,800 53%
KRER(FEFD | JAL JAC 28,800 48%
HE# [ERCHH)| JAL JAL 28,800 53%
KR (FEFD|  JAC JAL 28,800 48%
EHR=0E5 BHAXE  |EFCAAE)| JAL JAL 30,600 49%
mEF |[HERFECHAE)| JAL JAL 30,600 49%
EHR=mh BEAE  |EFCAAE)| JAL JAL 28,800 52%
=% |[EFERCHA)| JAL JAL 28,800 52%
AH=m BEAXE  |EFCAAE)| JAL JAL 29,600 52%
=A% |[EFECHAE)| JAL JAL 29,600 52%
HFHR=10L BHAXE  |EFCAA)| JAL JAL 29,600 52%
WILFE |[ERFERCHAE)| JAL JAL 29,600 52%
EH=dhm A% [HEFEROHE)| JAL JAL 31,200 53%
JEhME [EFERCHH)| JAL JAL 31,200 53%
BEHR=K7 BHAE  |EFCAA)| JAL JAL 31,200 53%
AnF |[HEFECHA)| JAL JAL 31,200 53%
EHR=R& BAE [ERCEE)| JAL JAL 33,600 51%
KRER(FFD | JAL JAL 33,600 46%
% |[HFECHEA)|] JAL JAL 33,600 51%
EHR=EX BAE [ERCEE)|] JAL JAL 32,400 51%
KRER(FFD | JAL JAL 32,400 46%
BEAZ |[HFECHA)| JAL JAL 32,400 51%
EHR=E& BAE [EERCEE)|] JAL JAL 32,400 51%
KRER(FFD | JAL JAL 32,400 46%
=BFE [ERCEAE)| JAL JAL 32,400 51%
KRER(FFD | JAL JAL 32,400 46%
BEHR=ERE AR [EEH)| JAL JAL 33,600 51%
KRER(FFD | JAL JAC 33,600 47%
EREH [EFERCHHE)| JAL JAL 33,600 51%
KR (FFD|  JAC JAL 33,600 47%
SiR=/2 =R% |EmCGEA)| JAL JAL 25,600 50%
MAFE [ERFCHAE)| JAL JAL 25,600 50%
=R=RW ZR% |EFmCGEA)| JAL JAL 28,800 52%
RS |ERFCHA)| JAL JAL 28,800 52%
ZR=LE5 SR |[HEFECHHAE)| JAL JAL 29,600 51%
LEE% |HEFECHA)| JAL JAL 29,600 51%
SR=10=F§ =R% |EmCGEA)| JAL JAL 31,200 51%
RRCAE)| JAL JAL 31,200 51%
SR=HZE HRECAE)| JAL JAL 28,800 53%
RECAE)|[ JAL JAL 28,800 53%
ZR=&5 HRECAE)| JAL JAL 30,100 49%
RECAE)|[ JAL JAL 30,100 49%
SiR=a HRECAE)| JAL JAL 28,800 51%
RECAE)|[ JAL JAL 28,800 51%
=iR=a% HRECAE)| JAL JAL 28,800 53%
RECAE)|[ JAL JAL 28,800 53%
=iR=#A0 HRECAE)| JAL JAL 29,600 52%
RECAE)|[ JAL JAL 29,600 52%
ZiR=4thM SR |[EFECHAE)| JAL JAL 31,200 53%
JEhME [EFERCHH)| JAL JAL 31,200 53%
ZIR=X% =R |[HEFCHE)| JAL JAL 31,200 52%
AnF |[EFECHA)| JAL JAL 31,200 52%
ZR=RI& SR |[HEFCHHAE)| JAL JAL 33,600 51%
% |[HFCHA)|] JAL JAL 33,600 51%
ZIR=FEX =R% |EFmCGEA)| JAL JAL 32,400 51%
A% |[HFECHA)| JAL JAL 32,400 51%
ZIR=E& =R |[HEFCHHAE)| JAL JAL 32,400 51%
=% |[EFECHA)| JAL JAL 32,400 51%
ZR=ERS =R |[HEFECHHA)| JAL JAL 33,600 51%
EREX [EFERCHH)| JAL JAL 33,600 51%
FUH=/ MEX [EFCHAAE)| JAL JAL 24,800 47%
MAFE [ERFCHA)|] JAL JAL 24,800 47%
#E=RELL MEX [EFCHAA)| JAL JAL 25,600 53%
RS |[ERFCHA)| JAL JAL 25,600 53%
MHEA=L5 MEX [EFCHAHE)| JAL JAL 27,200 51%
LEE% |[HEFECHA)|] JAL JAL 27,200 51%
ME=ILAF EHE [HEFERCHHEH)| JAL JAL 29,600 50%
WWOF8%E [RRGIA)|] JAL JAL 29,600 50%
ME=HE MEX [ERCHAE)| JAL JAL 25,600 54%
KRER(FFD | JAL JAC 25,600 51%
HEH [ERCHH)| JAL JAL 25,600 54%
KR (FFD|  JAC JAL 25,600 51%
MHE=E5 MEX [EFCHAHE)| JAL JAL 25,600 53%
mER |[HEFECHA)| JAL JAL 25,600 53%
MHE=EH MEX [EFCHAA)| JAL JAL 27,200 50%
=% |[EFERCHAE)| JAL JAL 27,200 50%
MHE=5 MEX [EFCAHE)| JAL JAL 27,200 51%
=A% |[EFRCHAE)| JAL JAL 27,200 51%
#E=#10 W% [ERFCHE)| JAL JAL 28,800 49%
ALF  [BRFERCHHE)| JAL JAL 28,800 49%
FE=dL M S [ERCEAE)| JAL JAL 29,600 52%
JEhMFE [EFECHH)| JAL JAL 29,600 52%
MHE=X" MEX [ERCEAE)| JAL JAL 29,600 51%
KRER(FEFD | JAL JAL 29,600 43%
Xa%FE [ERCEA)| JAL JAL 29,600 51%
KERFFD|  JAL JAL 29,600 43%

JAL/JTA/JAC/RAC
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X Ex3z:5:u10) BESM 2/1-3/1 fﬁé "E
XED | RE@ -
MHA=RI& MEX [ERCHAE)| JAL JAL 31,200 51%

KRER(FEFD | JAL JAL 31,200 47%
RB% [ERCEAE)| JAL JAL 31,200 51%
KRER(FEFD | JAL JAL 31,200 47%

MHA=8EX MEX [ERCEE)| JAL JAL 31,200 49%
RER(FEFD | JAL JAL 31,200 45%
BAZE [ERCEAE)| JAL JAL 31,200 49%
KRER(FEFD | JAL JAL 31,200 45%

MHA=2& MEX [ERCEE)| JAL JAL 31,200 49%
KRER(FEFD | JAL JAL 31,200 45%

=BFE [ERCEAE)| JAL JAL 31,200 49%

KRER(FEFD | JAL JAL 31,200 45%

MH=ERS MEHR [EFERCHIH)| JAL JAL 32,400 49%

KRER(FEFD | JAL JAC 32,400 46%
EREH [ERERCHHE)| JAL JAL 32,400 49%
KR (FFD|  JAC JAL 32,400 46%

Lz =2 W% |ERERCHE)| JAL JAL 23,700 41%
MAFE |ERFCHA)|] JAL JAL 23,700 41%

Iz =R W% |EREFCHE)| JAL JAL 24,800 49%
RS |ERFCHA)| JAL JAL 24,800 49%

W =1L58 Wifz%  |ERECHE)| JAL JAL 27,100 45%
LEE% |[HEFECHA)| JAL JAL 27,100 45%

IR =1LOF§ W% |EREFRCHE)| JAL JAL 28,800 45%
WWOF8%E [RRGA)|] JAL JAL 28,800 45%

Iz =HZE WWiRs% | mRECHE)| JAL JAL 27,100 45%
KRER(FFD | JAL JAC 27,100 47%

HEH [ERCHH)| JAL JAL 27,100 45%

KR (FFD|  JAC JAL 27,100 47%

W= W% |ERERCHE)| JAL JAL 25,800 46%
mEF |[EFECHA)| JAL JAL 25,800 46%

ILfz =5 W% |ERECHE)| JAL JAL 24,800 48%
=% |[EFECHEA)| JAL JAL 24,800 48%

IRz =% W% |RERCHE)| JAL JAL 25,600 48%
=A% |[EFECHA)| JAL JAL 25,600 48%

Lz =#A0 W% |ERECHE)| JAL JAL 25,600 49%
W% [EFERCHAE)| JAL JAL 25,600 49%

Rz =dk A JEhME [EFRCHH)| JAL JAL 29,600 46%
IRz =K% WWiRs% | RECHE)| JAL JAL 28,800 46%

KRER(FFD | JAL JAL 28,800 44%
Xa%FE [ERCEAE)| JAL JAL 28,800 46%
KRER(FFD | JAL JAL 28,800 44%

1L =R WWiRs% | mRECHE)| JAL JAL 31,200 45%
KRER(FFD | JAL JAL 31,200 46%
% [ERCEAE)| JAL JAL 31,200 45%
KRER(FFD | JAL JAL 31,200 46%

ILfz=8EX WWiRs% | mRECHE)| JAL JAL 29,600 46%
KRER(FFD | JAL JAL 29,600 47%

BAZE [ERCGEAE)| JAL JAL 29,600 46%

KRER(FFD | JAL JAL 29,600 47%

1L == WWiRs% | mRECHE)| JAL JAL 29,600 46%
KRER(FFD | JAL JAL 29,600 47%

=BFE [ERCEAE)| JAL JAL 29,600 46%

KRER(FEFD | JAL JAL 29,600 47%

L =ERS R % | mRECHE)| JAL JAL 31,200 45%

KRER(FEFD | JAL JAC 31,200 47%
EREH [ERECHHE)| JAL JAL 31,200 45%
KR (FFD|  JAC JAL 31,200 47%

WE=HE ez [XKERURFD| JAL JAC 25,600 49%
HERX | KERUEF)| JAC JAL 25,600 49%

WE=X% W&Es [KERURFD| JAL JAL 28,800 43%
AoFE | KRUEFFD|[ JAL JAL 28,800 43%

e =R& ez [XERURFD| JAL JAL 31,200 45%
RIGS | KBRUFF)| JAL JAL 31,200 45%

(=R W&Es [XERURFD| JAL JAL 29,600 45%
AR | KBRUF)| JAL JAL 29,600 45%

&= ez [XERURFD| JAL JAL 31,200 43%
=R | KBRUF)| JAL JAL 31,200 43%

WE=ERS EsH [KERURFD| JAL JAC 31,200 46%
EREX |[XIRUEFD| JAC JAL 31,200 46%

FR=HE #in% [ KRURFD| JAL JAC 23,200 52%
HERX | KERUEF)| JAC JAL 23,200 52%

FR=K7 #in% [ KROURFD| JAL JAL 27,200 44%
AoFE | KRUEFFD|[ JAL JAL 27,200 44%

FR=R& #in% [ KRURFD| JAL JAL 29,600 46%
RIS | KBRUFF)| JAL JAL 29,600 46%

FR=EEX % [ KRURFD| JAL JAL 28,800 45%
AR | KBRUFF| JAL JAL 28,800 45%

FR=E& #in% [ KRURFD| JAL JAL 28,800 45%
=R | KBRUFF)| JAL JAL 28,800 45%

FR=ERS % [ KRURFD| JAL JAC 29,600 47%
EREX |[XKIRURFD| JAC JAL 29,600 47%

INA=FALL RN HRECAHE)| JAL JAL 24,200 53%
RS |EREFCHA)| JAL JAL 24,200 53%

INA=IRE IR HRECAE)| JAL JAL 24,800 53%
LEE% |[HEFECHA)| JAL JAL 24,800 53%

PRAEES MAFE [ERFCHA)|] JAL JAL 27,800 51%
WWOF8%E [RRCIAE)|] JAL JAL 27,800 51%

IMNA=HE M |RFCEEA)| JAL JAL 25,200 53%

HE RRCHE)| JAL JAL 25,200 53%
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Mmoo S At
G4 g | HERH 2151 | BEE pren
XED | REQ -
INA=TES M |RFCEA)| JAL JAL 26,400 49%
mEH |[HEFECHA)| JAL JAL 26,400 49%
INA=F Me%  |RFCEA)| JAL JAL 23,700 54%
=% |[EFERCHA)| JAL JAL 23,700 54%
INA=F M [RFCEA)| JAL JAL 25,200 53%
=A% |[EFECHA)| JAL JAL 25,200 53%
INA=FAL M |RFCEA)| JAL JAL 25,600 52%
WILFE |[EFERCHAE)| JAL JAL 25,600 52%
r=dE R MAFE |ERFECHA)| JAL JAL 29,500 50%
JEhME [EFECHH)| JAL JAL 29,500 50%
INR=K5 M |RFCEEA)| JAL JAL 28,600 50%
AnF |[HEFECHA)| JAL JAL 28,600 50%
IMNA=FIF M |RFCEA)| JAL JAL 31,200 49%
% |[HFECHA)|] JAL JAL 31,200 49%
INA=EER M |RFCEA)| JAL JAL 29,500 50%
A% |[HFECHA)| JAL JAL 29,500 50%
INA=TF I M |RFCEA)| JAL JAL 29,500 50%
=% |[EFECHA)| JAL JAL 29,500 50%
IMA=ERE M |RFCEEA)| JAL JAL 31,200 49%
EREH [HRCHA)| JAL JAL 31,200 49%
IMA=ET ASE 4B (BBF)|  JTA |JTA/RAC| 36,000 38%
EEE  [EB(ERE) [JTA/RAC]  JTA 36,000 38%
IMA=FR1E IVHRFE iR (EBER) | JTA JTA 36,300 43%
FiEH [HPEEGRE)| JTA JTA 36,300 43%
FEIL=2% L%  [HEGRE) | JTA [JTA/RAC| 34,400 33%
EEE  [EB(ERE) [JTA/RAC]  JTA 34,400 33%
EL=%"E EIES TS (EBER) | JTA JTA 37,000 35%
aiEH  [HEEH)| JTA JTA 37,000 35%
BH== [SEa = JAL JAC 26,300 39%
S = JAC JAL 26,300 39%
BERE=5H/ | EBEAESH® | HDKkBE [ JAC JAC 18,700 30%
5% ok B E JAC JAC 18,700 30%
BEXRE=HKkBEH| BEEXEH 55k JAC JAC 16,000 46%
Ak BEBSE 55k JAC JAC 16,000 46%
EAR) =FH [ GRH) F|RECHE) [JAL/JTA|  JAL 37,200 48%
BEHAXE  |mmCAE)] JAL [JAL/JTA[ 37,200 48%
iR (BRER) ==IR 8 (BRER) F| /T CHH) [JAL/JTA[  JAL 37,200 47%
ZR%¥E |HEZECHHE)| JAL [JAL/JTA[ 37,200 47%
B (AR =R [ GRE) | RE CHE) [JAL/JTA|  JAL 36,000 45%
FE¥X |[ERCHAE)|] JAL [JAL/JTA[ 36,000 45%
iR (BRER) =L s (BRER) F| R CBH) [JAL/JTA[  JAL 36,000 39%
WAZ%  |EmCRE)| JAL |JAL/JTA[ 36,000 39%
R (R =& E@@EE|l & JTA JAL 38,900 45%
=3 & JAL JTA 38,900 45%
iR (IRER) =/ [ (BRER) F& | SR CBH) [JAL/JTA[  JAL 34,900 44%
M |ERFECHE)| JAL  [JAL/JTA[ 34,900 44%
SRR =24 ME@SEE| ' JTA JAL 25,200 51%
[SEES = JAL JTA 25,200 51%
SRR (RER) =L ChE@REFE| & JTA JAC 24,000 50%
[AIIE: 1= JAC JTA 24,000 50%
HRCPA) =EEXAS|KR (PR K| ERS JAL JAC 41,700 33%
KER(FEFD | JAL JAL 41,700 29%
EEXER | BES JAC JAL 41,700 33%
KRR | JAL JAL 41,700 29%
BER(PH)=ERAS|RRPHEK| ERES JAL JAC 41,800 34%
TEXE JAL JAC 41,800 25%
EREH BRE JAC JAL 41,800 34%
EEXE | JAC JAL 41,800 25%
BAR(PH) =#zE|RRPH K| ERES JAL JAC 42,800 35%
TBEXE JAL JAC 43,600 27%
[T BERS JAC JAL 42,800 35%
EEXE | JAC JAL 43,600 27%
HR(PA) =FkRHB|ERRCHE#| ERS JAL JAC 44,600 35%
HKBRERE | BRES JAC JAL 44,600 35%
EEXE | JAC JAL 44,600 29%
RROPE) =5 [EERHA) | BRS JAL JAC 45,000 36%
5% BERS JAC JAL 45,000 36%
EEXE | JAC JAL 44,900 32%
KR (R =EEXS| KRB K| ERS JAC JAC 36,000 28%
| 000000 | BEXEH | ERS JAC JAC 36,000 28%
KRB =ERE| KR (FMFE| _EBES JAC JAC 37,100 27%
TEXE JAL JAC 37,100 19%
EREH BERS JAC JAC 37,100 27%
EEXE | JAC JAL 37,100 19%
KR (D =Fz5| KR(FMHFE| _EBRES JAC JAC 38,100 29%
TEXE JAL JAC 39,000 21%
[T BRE JAC JAC 38,100 29%
EEXE | JAC JAL 39,000 21%
KR (D) =Kk BE| KRR K| ERS JAC JAC 39,600 30%
HKBERE | BES JAC JAC 39,600 30%
KR (D =5 [(KERFEXEK| BES JAC JAC 39,900 31%
5% ERS JAC JAC 39,900 31%
BR=EXKS FEEES ERS JAC JAC 29,300 30%
EEXER | BRES JAC JAC 29,300 30%
EE=E85 FEEES BERS JAC JAC 30,600 29%
EEXE | JAC JAC 30,600 26%
EREH BERS JAC JAC 30,600 29%
EEXE | JAC JAC 30,600 26%

JAL/JTA/JAC/RAC
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o O N s
X L= 0)) BRERH 2/1-3/1 fh;i w=
XED | REQ -
EE=fz5 FEEES BERS JAC JAC 30,700 32%
EEXE | JAC JAC 30,700 32%
[T BRE JAC JAC 30,700 32%
EEXE | JAC JAC 30,700 32%

& =Hk BE FEEES ERS JAC JAC 32,200 33%
HKBRERE | BRES JAC JAC 32,200 33%

EEXE | JAC JAC 32,200 34%
B =5 FEEES ERS JAC JAC 32,600 34%
CE:T3 BRE JAC JAC 32,600 34%

EEXE | JAC JAC 32,600 37%




rE#EISI28 1 EER(2A1 A ~29HEFRS) JALITATIAG/RAG
EEEAA : 2011/11/29 ~
ey 2/1-2 [ [ [ [ [
XF Zai® BERH 2/5-9 *Ilélg w5 2/3 g];g 2/4 g];g 2/10 g];g 2/11 g];g 2/12 g];g
XEO [ KM@ | 2/13-29 = = = = =
RRCIHE) =2% [EZJ (;im) JAL/JTA|JTA/RAG| 25,600 56% 25,600 56% 25,600 56% 25,600 56% 25,600 56% 25,600 56%
) [JTA/RAC[JAL/JTA| 25,100 57% _ £:24900, H:27.600 25,100 57% 24,900 57% 25,100 57% 24,900 57% 27,600 53
RRCHE) =R [EZJ JAL /JTA|_JTA 25,200 61% % 1:26,400 26,400 59% 26,400 59% 26,400 59% 26,400 59% 25,200 61
JTA__[JAL/JTA[ 26,400 59% 2 26,400 59% 25,200 1 26,400 59% 25,200 1 27,300 57
JTA JAL 25,700 64% 25,700 4 25,700 4 25,700 4 25,700 4 27,000 62
PGSBS S-FIIPS ) AL JAL 22,800 64% 3,600, % T 24,800 H:26000 4,800 24,800 1 4,800 24,800 1 26,000 59%
)| JAL JAL 25,600 59% 27,200 7.200 27,200 7 7.200 27,200 7 25,600 59%
ESGES FIE) AL JAL 22,100 65% 23,300, £:22,900, H:26,000 3,300 22,900 4 3,300 22,900 4 26,000 59%
ENACEESFIPNACEES FE)|  JAL JAL 22,800 64% 3,600, % +:24.800, H:26,000 4,800 4,800 1 4,800 4,800 1 26,000 59%
[ JAL JAL 25,600 59% 7,200 7,200 7 7,200 7,200 7 25,600 59%
S ES V[ JAL JAL 22,100 65% 523,300, £:22.900, F:26.000 .300 3 4 .300 3 4 26,000 59%
REHFR)|  JAL JAL 23,600 62 ,600 62% 62 ,600 62% 62 4,800 60%
A (B =Rl [ X8R (B F[RR CHE) | JAL JAL 23,200 00, £:23,800. £:23,100. H:21,600 ,800 62% 800 62% .600 65%
FENIES CRE)[  JAL JAL 22,400 & H:23.600 ,600 62% ,600 62% ,600 62%
AW (BETE) =fe)Il [ ARk (BH78) &R CRE)| JAL JAL 23,200 600, £:23,800, £:23,100. H:21,600 ,800 62% 800 62% 65%
JEIIE:S [€2L::D) AL JAL 22,400 :23,600 ,600 62% | ,600 62% | 62%
KRB (75 =9IEg | KB (FFH) SR FCRA) | JAL JAL 21,000 66! 00, £:22,600, £:22,200, H:24,200 ,600 ,600 61%
FEES CHE)| JAL JAL 22,600 63% ,800 800 59%
ENACGEEE T kﬂ&(E&lE)% TR CRE)|  JAL JAL 21,000 66% ,600 ,600 61%
HIER- [€2L::D) AL JAL 22,600 63% ,800 3 ,800 3 59%
AR (B =L kﬂ&(ﬁ*ﬂ)% R CHE)| JAL JAL 21,200 65% 21,600, +:20400, 22400 .200 65% 7 .200 65% 7 63%
CRE)[  JAL JAL 20,400 67% #:21,600, H:21,200 ,600 65% 7 ,600 65% 7 65%
PAG BTN kﬂ&(E&lE)% R CHE)| JAL JAL 21,200 65% :21,600, 1:20,400, H:22,400 .200 65% 7 .200 65% 7 63%
CRE)[  JAL JAL 20,400 67% #:21,600. 200 ,600 65% 7 ,600 65% 7 65%
AR (B =it kﬂ&(ﬁ*ﬂ)% R CRE)| JAL JAL 21,500 60% 24,000, +:23,200, H22.300 4,000 55% 7 4,000 55% 7 59%
CRE)[  JAL JAL 22,300 59% 23,500, H:26,000 500 56% 59% 500 56% 59% 50%
AR (B ==iR kﬂ&(ﬁ*ﬂ)% R CRE)|  JAL JAL 21,000 60% :23,000 .000 60% 60% .000 60% 60% 56%
£ CRE)|[ JAL JAL 22,600 57 :23,800, H:23,400 800 54 57 ,800 54 57 55%
Ak (BIFE) = =IR%E FIE)|  JAL AL 22,600 57 #:23,800, H:23.400 .800 54 57 .800 54 57 55%
KB () =2 JAC AC 15,100 52 :14,200 100 52 52 100 52 52 55%
JAC JAC 15,100 52 100 52 52 100 52 52 52%
AR (B =BF8 JAC AC 20,500 48% .300 46% 46% .300 46% 46% 48%
JAC JAC 20,300 48% 20,300 48% 46% 20,300 48% 46% 45%
AR(BEH =% JAL _|UTA/RAG| 22200 57% ,200 53% 53% 200 53% 53% 7
JTA/RAC| _JAL 22,800 56% 800 56% 56% 56% 56% 3
AR (EE) =2F JAL/JTA[JTA/RAG| 22,200 57% ,200 53% 53% 53% 53% 7
JTA/RAC|JAL/JTA| 22,800 56% 800 56% 56% 56% 56% 3
KR (P =%H1E JAL JTA 1,100 63% 22,700 60% 60% 60% 60%
JTA JAL 4,900 56% 24,900 56% 56% 56% 56%
KB () =HE JAL/JTA[ _JTA 1,100 63% 22,700 60% 60% 60% 60%
EEE NPT JTA _[JAL/JTA| 24,900 564 H 26,500 24,900 56% 56% 56% 56%
B (PE) = Kb | B E () [ AR B T) | JAL JAL 1,200 64% 23,400 60% 64% 60% 64%
A ARETR)|  JAL JAL ,000 63%  £:22800, H:26.600 22,000 63% 63% 63% 63% 1
AHE(FH) =2h|aaE P EPEGFH)| JTA [JTA/RAC ,200 59% % +:25200 25,200 55% 55% 55% 55% 59%
2T 4 (ARF) [JTA/RAC]  JTA ,600 56%  H:27.400 24,600 56% 56% 56% 56% 51%
AHE(FEH) =RE[2EE M EPE@H)| JTA JTA ,900 60% % 1:26,900 26,900 56% 56% 56% 56% 60%
hiER #ERE) | JTA JTA .900 60% H:26.600 24,900 60% 60% 60% 60% 57%
AL (B F &%) = /N[ HLIR (F T %) %[ B (FIH) AL JAL ,600 56% % H:25.300 25,300 54% 56% 4 56% 54%
A CRE)|[ JAL JAL .800 57% % +:25,300, H:24.600 25300 54% 54% 4 54% 56%
AL (T F ) =R *Lﬁ(%i%‘; L CRIE) AL JAL 400 62% 424800, H:26,800 24,800 61% 62% 1 62% 54%
[EIE; CRE)|[ JAL JAL 300 62%  A:25100, £:27,000, 1:24.900 27,000 58% 61% 4 58% 62%
FLIR (T &%) = R B[ HLR FF) %[ 3R (FIH) AL JAL 25,600 60%  H:27.600 25,600 60% 60% 60% 60% 53
LB CRE)|[ JAL JAL 25,300 61%  A:26.100, £:27.800, £:26.000 27.800 57% 60% 53% 58% 61
ARGTR —WAFH | LR FTR X CRE)|[ JAL JAL 26,000 62% _ 2:26, 26,400 61% 64% 61% 64% 54
IN=ET CRE)|[ JAL JAL 25,200 636 & 27,000 60% 62% 55% 59% 62
IR (FF ) = H AR ET E)% L CRIE) AL JAL 27,700 57 £.29.300 29,300 55% 57% 55% 57% 55%
HES CRE)|[ JAL JAL 25,500 61%  A:25,600. £:29,500, £:29.200, H:25900 | 29,500 55% 55% 55% 55% 60%
IR (FHTFm) =EB[LRET E)% TACLED) AL JAL 23,700 62 :25,700 23,700 62% 62% 62% 62% 54%
BER CRE)|[ JAL JAL 23,600 63 2:25,100, £:24.800. H:22.500 25,100 60% 61% 56% 58% 64%
IR (FTF ) =S R HLR G T E)% L CRIE) AL JAL 26,200 58% 7,000, +:25,400. H:28,100 27,000 57% 60% 57% 60% 52%
A CRE)|[ JAL JAL 25,400 60% % +:27.800, H:23,600 27.800 56% 56% 53% 55% 62%
FUMR (B i) = o 2 | £LIR (B T E)% L CRIE) AL JAL 25,200 61%  %:26,400, H:28,000 26,400 59% 61% 59% 61% 53%
| &a% CRE)|[ JAL JAL 25200 61% 300, 300, £:27.200 28,300 56% 58% 51% 56% 61%
HLIR (BT &%) =L AR GRT E)% L CRIE) AL JAL 26,000 60% 8,000, H:29,100 28,000 57% 60% 57% 60% 52%
[AIIE; CRE)|[ JAL JAL 25,300 61 6.400, %:28,600. T:28,400. H:26.100 | 28600 56% 57% 53% 55% 60%
AL (BT ) =L AN [ AR GF T )% R (CHE)|  JAL JAL 26,600 62 8,600, H:29.400 28,600 59% 62% 59% 62% 54
JEINFE CRE)|[ JAL JAL 25,800 6,700, 800. £:29,000, H:26.600 | 29,800 58% 59% 54% 56% 62% |
IR (FHTFm) = HRGT )% L CRIE) AL JAL 26,800 £:27,200. £:26,400, H:29,200 27,600 60% 62% 60% 62% 54
5 CRE)|[ JAL JAL 26,900 K:27.700. #:28,800, £:27,600. H:27.300 | 28,800 58% 60% 54% 59% 61
IR (F T ) = RIG[ LR T E)% L7 CRIE) AL JAL 26,400 H:28,400 26,800 63% 64% 63% 64% 56%
RIGR CRE)|[ JAL JAL 26,900 3% 4:27,700. %:29,400, 1:27.200 29,400 59% 62% 56% 60% 63%
FLIR (T Fa) = R AR AL G T E)% L CRIE) AL JAL 27,200 1 £ 1 H:28,000 28,000 60% 60% 60% 60% 56%
AR CRE)[ JAL JAL 26,000 3 8,600, £:28.400 28,600 59% 60% 55% 59% 63%
IR FTFR) ==\ EHT E)% R CHE)|  JAL JAL 26,000 28,000 60% 61 60% 61% 55%
EIGE CRE)[  JAL JAL 26,100 28,600 59% 61 56% 59% 63%
AR F TR =ERE[ AR GHT ﬁ" R CRA)| JAL JAL 27,800 28,600 60% 62% | 60% 62% 56%
BERES CRE)[  JAL JAL 26.000 28,600 60% 63 56% 60% 62%
AR TR = EEAS LI () %[ Bm CRE) | JAL JAL 39,400 40,200 50% 50% 50% 50% 51%
BERBH CRE)|[ JAL JAL 37.400 53% 439,000, H:38. 200 39,200 1 53 46% 53 52%
AR (3T ) = (B E) | AL (T ) %[ B (E) | JAL |JAL/JTA[ 29,800 60% _ £:31,600, £:29,200, H:30,300 31,600 7 7 55%
ABR (B8FE)| JAL [JAL/JTA| 26,200 65% 27,800, H:28.200 27.800 3 3 63
& AL JTA 27,200 64% % +:29,600 29,600 1 1 57
1B JAL JTA 26,800 66%  2:28,500. H:28.400 28,500 4 66 4 66 62% |
P8 (A ER) FE[R CRE) [JAL/JTA]  JAL 29,200 61% 730,000, £ H:31,700. £:30,300 31,700 7 59% 55% 55% 57
KR (BE7E) [JAL/JTA]  JAL 28,200 63%  H:29.800 29,000 62 63% 62% 63% 61
BEE(HE| JTA JAL 27,200 64%  2:28,.800, H:30,000 28,800 62 64% 62 64% 60%
&l JTA JAL 26,800 66% 2 1:29300, H:27.700 30,300 61 63% 61 63% 65%
1Bk =% 5 EEES RR CRE)|[ JAL JAL 25,200 68%  :30,400, 1:27,200, H:28,800 30,400 61 65% 61 65% 63%
TR | JAL JAL 25,400 65% % +:27,000 28,000 61 63% 61 63% 65%
(TS = CPIH) AL JAL 24,300 69%  :26,100, £:26,900, H:27,400 25,100 68% 65% 68% 65% 65%
@] JAL JAL 25,400 65% H:27.000 25,400 65% 65% 65% 65% 60%
BRI =Rl 1B RCHE)| JAL JAL 200 70%  £:28,000, +:27,100, H:23,600 28,000 63 64% 63 64% 69%
§ENI] CRE)|[ JAL JAL .200 68% @ [H:27,300, £:24,000 27,300 64 69% 64 69% 64%
3R =8I 1B CRE)[  JAL JAL 200 68%  £:28600, £:25400, H:27.000 28,600 62% | 66% 62% | 66% 64%
I CRE)|[ JAL JAL ,400 68%  2:27,400. 1:24.200, H:28.400 27400 64 67% 64 67% 62%
BE=%F% I CHE)| JAL JAL 22,800 70% % H:25,200 25,200 66% 70% 66% 70% 66%
IR CRE)|[  JAL JAL 22,200 70% 2,800 25,200 66% 70% 66% 70% 69%
R 1B (HE)|[ JAL JAL 23,700 65% :27,200, H:25,100 27,200 60% 60% 60% 60% 63%
REER CRE)|[ JAL JAL 25,300 63% 26.300. H:27.800 27.100 60% 61% 60% 61% 57%
BE=F% [EEES CHE)|[ JAL JAL 27,400 59% 26,600, H:28,600 30,200 55% 60% 55% 60% 57%
KRR (] JAL JAL 29,000 51% 29,000 51% 51% 51% 51% 51%
BEHRE  |[RRCHE)| JAL JAL 26,800 60% 728,200, %:30,300, F:26,600 30,300 55% 60% 55% 60% 58%
[ JAL JAL 29,000 51% 2 H:30,600 30,600 48% 51% 48% 51% 48%
BE==R ) AL JAL 24,000 64% 25,000 62% 62% 62% 62% 61
FIE) | JAL JAL 24,400 63% 27.400 59% 62% 59% 62% 61
BRI =15 | JAL JAL 26,600 53 26,600 53 53% 53 53% 53
[ JAL JAL 27400 52 27.400 52 52% 52 52% 52
&k =FE ) AL JAL 100 61 £:26,200, £:23,300, H:24,900 26,200 57 62% | 57 62 59%
FE) | JAL JAL 100 62%  A:23900, $£:26,400, H:23.500 26.400 57 61 57 61 59%
[ JAL JAL 600 57% & H: 24,000 56% 57 56% 57 56%
&R =07 FIE) | JAL JAL ,800 66 20,600 62% 62 62% 62% | 4%
[ JAL JAL 26,600 51% 26,600 51% 51 51% 51 4%
FIE) | JAL JAL 9,600 64%  2:20,400. £:20,000 20.400 63% 64% | 63% 64 4%
[ JAL JAL 7,400 49% % H:28,200, £:25.800 28,200 48% 52% | 48% 52% | 8%
B =35 [ JAL JAL ,600 63% @ [H:20,200 20,200 60% 63 60% 63 60%
[ JAL JAL ,200 56% 800 22,200 56% 57 56% 57 56%
B =/ )| JAL JAL ,600 60% 800, £:24,000. H:26,000 26,800 54% 59 54% 59 56%
[ JAL JAL ,600 60% 400, %:26,500, H:25,200 26,500 55% 60% 55% 60% 57%
BR=E2d ) JTA [JTA/RAC| 20,700 54% 800 800 49% 54% 49% 54% 54%
JTA/RAC| _JTA ,000 51% % H:23,600 ,600 48% 51% 48% 51% 48%
BR=01E JTA JTA ,400 56%  2:24,100 100 52% 56% 52% 56% 56%
JTA JTA 400 56% 400 56% 56% 56% 56% 56%
ESRIETTE &3l TR | JAL JAL 400 55% :23.400 400 55% 55% 55% 55% 53%
il & TR JAL JAL 20,400 59% £:22,800 800 54% 54% 54% 54% 59%
SRRV S RCRA)| JAL JAL ,900 62% 4,700, £:24.500. H:27.800 700 61% 61% 61% 61% 56%
IV CRE)|[ JAL JAL ,800 62 £:26,600, H:27.300 26,600 58% 58% 58% 58% 57%
ESRIE EFES CRE)|[ JAL JAL .700 7 4,600, H:26,800 23,700 67% 65% 67% 65% 62%
i LLY (CPIH) AL JAL ,600 7% £+ H:25600 26,400 63% 63% 63% 63% 62%
THB=HE R 5E CRE)|[ JAL JAL 26,200 4% %:28,00, £:27.400. H:31.300 28,200 61% 62% 61% 62% 57%
HE: CPIH) AL JAL 26,300 4% % 129,600, H:29.500 29,600 59% 59% 59% 59% 59%
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| &
iR =Hl %; ) JAL 25,300 65%  £::26,900. H:30,000 26,900 63% 25,300 65% 26,900 63% 25,300 65% 59%
[ [ JAL JAL 26,000 64% %t H:28,000 28,000 62% 28,000 62% 28,000 62% 28,000 62% 62%
TBIII=/M 18 )|_JAL JAL 24,200 61% 25,000 59% 24,200 61% 25,000 59% 24,200 61% 56%
/N [ _JAL JAL 22,400 64% 27,000 56% 26,300 57% 27,000 56% 26,300 57% 64%
FENI=Fal 78 )| _JAL JAL 24,000 66% H:25700 24,000 66% 24,000 66% 24,000 66% 24,000 66% 63%
53] [ JAL JAL 22,500 68%  £:25800. £:25.100 26,500 62% 26,100 63% 26,500 62% 26,100 63% 68%
TElil=HE 18 [ JAL JAL 24,900 65% 4,900 65% 24,900 65% 4,900 65% 24,900 65% 65%
H [ _JAL JAL 24,300 66% % +:27,200 7,200 62% 27,200 62% 7,200 62% 27,200 62% 66%
FENI=H21L 78 )| JAL JAL 25,600 64% 7,200, H:27.600 7.100 62% 25,600 64% 7.100 62% 25,600 64% 61%
HL [ JAL JAL 25,600 64% 7,600, £:27,100, H:24,000 7,800 61% 62% 7,800 61% 7,100 62% 66%
g =/ SIE8: ) JAL JAL 24,400 60% : 25,200 59% 63% 25,200 59% ,600 63% 53%
M [ JAL JAL 22,800 63% % +:24800, H:25500 24,800 59% 59% 24,800 59% 800 59% 58%
B =Fa L I )| _JAL JAL 24,200 65% H:27.400 24,200 65% 65% 24,200 65% .200 65% 60%
FELL ) AL JAL 21,800 68% £+ H:23800 24,600 64% 64 24,600 64 63%
S =HE I )|_JAL JAL 26,700 62% _ £::28,700, H:30,900 28,700 59% 62% | 28,700 62% | 56%
= [ JAL JAL 25,300 64% 2 H:27,700, 27,700 61 61 27,700 61 61%
g =42l SIB8: ) JAL JAL 25,800 64%  #:27,400, H:29.300 27,400 61 64 27,400 64 59%
[T [ JAL JAL 4,200 66% %t H:26,200 63 63 26,200 63 63%
WIR=/M2 I [ JAL JAL 200 63% % H:23,000, £:20,400 62 66 ,000 66 62%
IV [ _JAL JAL 400 65% 23,700 65% 65% 65% 61%
FHIE=RL IR )|_JAL JAL ,000 68% 68% 68% 68% 68%
FEL [ _JAL JAL ,200 69% 22,00 69% 69% 69% 66%
FLE=HE Bl )| _JAL JAL 500 65% % H:26,500 62% 65% 65% 62%
= ) AL JAL ,900 66% % +:25200, H:25,900 64% 64% 64% 63%
L= L ) JAL JAL ,600 66% = [H:25,200 64% 66% 66% 64%
AL [ JAL JAL 600 66% 24,40 66% 66% 66% 65%
AR =/ S [ JAL JAL .100 55% 4,900, £:23,900, H:26.300 53% 55% 55% 51%
A ) AL JAL ,300 56% 25,800, H:24,000 52% 52% 52% 55%
EER=RL S ) JAL JAL ,000 61%  H:27.600 61% 61% 61% 55%
[EIES ) AL JAL 100 62% 25,600 58% 58% 58% 62%
RE=HE S )| JAL JAL 26,800 57% _ £::28.400, H:32.100 55% 57% 57% 49%
HE: ) AL JAL 25,500 59% & 129,600 53% 53% 53% 59%
AR =L S [ JAL JAL 25,500 60% 7,100, H:30.800 57% 60% 60% 51%
NIIE] ) AL JAL 23,900 62% £ 1:26400. H:24,300 58% 58% 58% 62%
AR =dt Ao S [ JAL JAL 26,900 60% 7,700, H:29.800 59% 60% 60% 56%
=K% EfE ) JAL JAL 26,300 1 0,000 61 61 61 55%
ADE [ JAL JAL 26,300 1 28,800, H:25.900 57 57 57 61%
EHiE=RIA EE ) JAL JAL 26,300 3 00 63 63 63 58%
EIGE ) JAL JAL 25,300 4 62 62 62 63%
EHEE=fEA EE ) JAL JAL 27,100 60% 59% 59% 59% 58%
BEAR ) JAL JAL 23,500 65% 62% 62% 62% 64%
EHEE=E5 EE ) JAL JAL 25,900 62% 60% 60% 60% 56%
G ) JAL JAL 25,500 63% 59% 59% 59% 3%
HE=ERE EES ) JAL JAL 27,700 61% 58% 61% 61% 7%
ERER ) JAL JAL 24,900 65% 61% 61% 61% 4%
HE=BEXE EES ) JAL JAL 39,300 49% 48% 48% 48% 9%
BEAGH ) JAL JAL 36,700 53% 52% 53% 53% 51%
FEHR=/IR FHiE ) JAL JAL 25,100 52% 52% 52% 52% 52%
IVEY )| _JAL JAL 25,100 52% 52% 52% 52% 52%
EHR=RL Hix ) JAL JAL 26,600 56% 54% 58% 58% 56%
R )|_JAL JAL 25,100 58% 56% 57% 57% 55%
EHR=LB Hix [ JAL JAL 26,600 56% 26,200, H:27,400 54% 57% 57% 55%
L5 )| JAL JAL 27.400 55% 5,800, H:27.800 54% 58% 58% 54%
FEHR=LOFH BHE ) JAL JAL 28,200 56% 55% 61% 61% 56%
WO FEFE ) JAL JAL 28,200 56% 56% 56% 56% 55%
EHR=HE AHE ) JAL JAL 27,500 55% 55% 55% 55% 55%
)|_JAL JAC 25,800 54% 54% 54% 54% 54
HESR FIEH) AL JAL 28,300 54% 54% 54% 54% 54
)| __JAC JAL 25,000 55% 55% 55% 55% 52% |
EH=15 [_#&& FIE) AL JAL 25,500 57% 56% 60% 60% 57
5 [ JAL JAL 25,500 57% 57 57% 57% 57
EHR=mR | && ) AL JAL 28,300 53% 3 56% 56% 53
I )|_JAL JAL 26,800 55% % +:27.600, H:26.200 4 54% 54% 56
EHx=mH i ) JAL JAL 27400 55% 220,000, +:25.800. H:28,200 3 58% 58% 54%
B )|_JAL JAL 27.400 55% 53% 55% 55% 53%
EH=l & ) JAL JAL 28,200 55% 53% 57% 57% 53%
[T} )|_JAL JAL 28,200 55% _ H:27.800 55% 55% 55% 55%
EFR=TAM HiE [ JAL JAL 28,800 57% _ #:30,700, £:27.200 54% 59% 59% 57%
JEAINFE [ JAL JAL 28,800 57% % H:30,000 55% 57% 57% 55%
BEHR=KD Hix ) JAL JAL 29,000 56% %29, 55% 58% 58% 56%
A5 )| _JAL JAL 29,000 56% % H:29.800, 1:28,600 55% 56% 56% 55%
EHR=RA HH ) JAL JAL 27,000 61%  2:20,000, +:26.600. H:28,200 58% 61% 61% 59%
)|_JAL JAL 28,200 55% &t H:29, 54 54% 54% 54%
RIF% HH) AL JAL 29,000 58% £ H:29. 57 58% 58% 57%
HEHR=MX BERE HE)[ JAL JAL 26,600 60%  #:29,000. H:28.200 57 59% 59% 58%
[ JAL JAL 29,000 52% 52% | 52% 52% 52%
AR FE)|  JAL JAL 29,000 57%  #:29,400. H:29.300 56! 57% 57% 56%
EHR=EK AHRE )| JAL JAL 27400 59%  #:30,600, H:29.000 54% 59% 59% 57%
)| JAL JAL 29,800 50%  £:31,800, H:31.400 47% 50% 50% 48%
EEES )| JAL JAL 28,200 58% % H:28,600 57% 58% 58% 57%
)| JAL JAL 30,100 50%  £:30900, H:31,900 49% 50% 50% 47%
EHR=BRE AHRE HE)|[ JAL JAL 28,600 59% 20,800, £:28,000. H:29,000 57% 59% 59% 58%
)| JAL JAC 29,800 53% % +:30,600 52% 52% 52% 53%
ERB% )| JAL JAL 29,000 58% 229400, H:30,300 57% 58% 58% 56%
)| __JAC JAL 30,600 52%  £:31,800, H:33.100 50% 52% 52% 48%
BEH=EEXE EHR SFIH) AL JAL 38,800 49% £ 1:39,600 48% 48% 48% 49%
BERER [RRCAE)| JAL JAL 40,400 7 :40,800, H:41,600 7 47% 47% 45%
NG AL JAL 38,800 7 :41,200 7 47% 47% 43%
R(AM)| JAL JAL 400 3  :25.100, :22,600 1 56% 56% 51%
CRE)| JAL JAL 600 4 24,300 4 54% 54% 53%
CRE)|[ JAL JAL .200 59 59 59% 59% 59%
CRE)|[ JAL JAL 400 61% 61% 61% 61% 61% 59%
CRE)|[  JAL JAL .200 60% % H:24.400 60% 60% 60% 60% 60%
CRE)|[ JAL JAL ,200 60% % H:25000 59% 60% 59% 60% 59%
CRE)|_ JAL JAL 25,800 60% 4,600 60% 62% 60% 62% 60%
CRE)|_JAL JAL 25,800 60% 6,600 60% 60% 60% 60% 59%
CRE)[ JAL JAL 26,700 56% % H:28,300 54% 56% 54% 56% 54%
CRE)|[ JAL JAL 25,800 58% % +:27,400 55% 55% 55% 55% 58%
CRE)|[__JAL JAL 23,100 61% 61% 61% 61% 61% 61%
CRE)|_JAL JAL 22,600 62% 62% 62% 62% 62% 62%
CRE)|[ JAL JAL 26,000 56%  2:26,400. £:24,800 55% 58% 55% 58% 56%
CRE)|[ JAL JAL 25,200 57% 2 +:26,000. H:24,200 56% 56% 56% 56% 59%
CRE)|[__JAL JAL 25,000 59% 58% 59% 58% 59% 58%
CRE)[  JAL JAL 22,600 63% £ +:23400 62% 62% 62% 62% 63%
CRE)|[_ JAL JAL 25,800 58% % H:27.400 55% 58% 55% 58% 55%
CRE)|_JAL JAL 25,000 59% 59% 59% 59% 59% 59%
CRE)|__JAL JAL 26.400 60% _ £::28000 58% 60% 58% 60% 60%
CRE)|[ JAL JAL 25,600 61%  H:24,600 61% 61% 61% 61% 63%
CRE)|[__JAL JAL 26,600 59% _ +£:25000 59% 62% 59% 62% 59%
CRE)|JAL JAL 26,600 59% 59% 59% 59% 59% 59%
CHE)[ JAL JAL 25,000 62% 63% 62% 63% 62%
CRE)|[ JAL JAL 26,600 61% 61% 61% 61% 61%
CRE)|[ JAL JAL 25,800 % 126,600, H:25.400 60% 60% 60% 60% 62%
CRE)|[ JAL JAL 23,800 H:25,400 64% 4 64% 4 62%
CRE)|[ JAL JAL 24,600 £:27,400. H:26.600 59% 59% 60%
CRE)|[ JAL JAL 25,800 61% 61% 61%
CRE)|[ JAL JAL 26,400 £:28,000. H:26.600 59% 59% 61%
CRE)|_JAL JAL 26,200 62 62% 62% | 62% 62% | 62%
CRE)|[ JAL JAL 38,000 50% % :38,800 49% 49 49% 49 50%
CRE)|_JAL JAL 38,000 50% :38,800 50% 50% 50% 50% 49%
ME=M [__#EA CRE)|[__JAL JAL 700 51% % H:24.300 48% 51% 48% 51% 48%
M CRE)[  JAL JAL 700 51% _ £:23500, H:23.400 49% 51% 49% 51% 50%
FE=RL #E CRE)|[__JAL JAL 500 59% % H:23,300 57% 59% 57% 59% 57%
FELL [€2L::D) AL JAL .700 60% _ £:22,500 57% 59% 57% 59% 57%
ME=LEE [ _#EA CRE)|__JAL JAL .300 58% % H:24,100 56% 58% 56% 58% 56%
LE CRE)[  JAL JAL ,300 58%  £:24,900, H:24.100 55% 58% 55% 58% 56%
ME=WLOFH | REX CRE)| JAL JAL 100 59% % [H:24,900, £:23,700 X 58% 60% 58% 60% 58%
\LOFEE CPIH) AL JAL ,900 58% £ H:25700 25,700 57% 58% 57% 58% 57%
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wERH EEH EEH EEE EEH EEE EEE
=44 fid::}::0) 2/579  gmie #%E 23 o 24 gmm | Y10 mEm | YV mmm | Y2 mEs
ME=HE #EE  [RECH JAL . 55% 25,100 55% 25,100 55% 55% 55% 55%
KB (2 AL JAC 20,000 62%  £1:21,200 21,200 59% 21,200 59% 59% 59% 62%
HER  [HECHH)| JAL JAL 25,100 55% 25,100 55% 25,100 55% 55% 55% 55%
KR (fF)[  JAC JAL 20,000 62% £ H:20400, £:19,200 20,400 61% 19,200 63% 61% 63% 61%
HE=f8 | _ #A RCHEE)| JAL JAL 21,400 60% :22,200 22,200 59% 21,400 60% 59% 60% 59%
& CRE)|_JAL JAL 20,100 63% :20,600 20,100 63% 63% 63% 63% 62%
mE=7HR | #A CRE)[  JAL JAL ,300 55%  #:25,500, 1:23,100, H:25,100 25,500 53% 57% 53% 57% 54%
s CRE)[ JAL JAL ,300 57% _ %:24,100 24,100 55% 57% 55% 57% 57%
HE=5 | #km@ CHE)| JAL JAL ,300 58% @ [H:24,900 24,900 56% 58% 56% 58% 56%
£ CRE)|[ JAL JAL 100 57% _ £:25700, H:24.900 25,700 54% 57% 54% 57% 56%
#E=twl | P& CHE)|  JAL JAL .100 57% % [H:26,500 26,500 53% 57% 53% 57% 53%
] CRE)|[ JAL JAL 100 57% 4,900 24,900 56% 57% 56% 57% 57%
ME=ILAN | __BE CRE)|[ JAL JAL .700 60% 7,100, H:25.500 27,100 56% 60% 56% 60% 58%
EZLES (CPIH) AL JAL 25,500 58% 7,100, H:26.300 27,100 56% 58% 56% 58% 57
HE=K5 WMER  [EECHE)| JAL JAL 24,900 59% % H:25.700, £:24.100 25,700 57% 60% 57% 60% 7
AR (FFH) AL JAL 22,800 56% 4,800, + H:24,000 24,800 53% 54% 53% 54% 4
An%  [RECHE)| JAL JAL 25,700 57% 26,200 56% 58% 56% 58% 7
pAGEE) AL JAL 24,000 54% 24,400 53% 56% 53% 56% 3
HE=RE BEE [ERRCHE)| JAL JAL 24,100 62% 24,900 61% 62% 61% 62% 1
KB (2 AL JAL 22,400 62% 24,400 58% 58% 58% 58% 60%
RiE%E  [RECAE)| JAL JAL 25,700 60% 26,200 59% 60% 59% 60% 60%
KB (2 AL JAL ,000 59% 24,800 58% 58% 58% 58% 56%
HE=fX BEE [ERRCHE)| JAL JAL ,900 59% 25,700 58% 58% 58% 58% 59%
KB (2 AL JAL ,700 58% :24,100 24,900 56% 56% 56% 56% 57%
AR [RECHE)| JAL JAL ,300 62% 3,700, H:24,500 23,700 61 62% 61 62% 60%
KB (2 AL JAL ,000 58%  3:24,400, £:23,600, H:25,200 24,400 57 58% 57 58% 55%
HE=51 MER [REREH)| JAL JAL ,700 61% R 0. H:25,700 26,500 57% | 59% 57% | 59% 58%
KB (2 AL JAL ,000 58%  #:27,200, £:25,200, H:25,600 27,200 52 55% 52 55% 55%
BEE  [ERCEE)| JAL JAL ,900 59%  #:25,700 25,700 58% 59% 58% 59% 59%
KB (2 AL JAL 25,100 56% £ H:26,300, £:25,200 26,300 53% 55% 53% 55% 53%
HE=ERE #ER [REREEH)| JAL JAL 26,200 59%  #:27,100. H:26.300 27,100 57% 59% 57% 59% 59%
PN [ JAL JA 24,000 60% % +:26,000 26,000 57% 57% 57% 57% 60%
R(CHEE)| JAL JAL 25,300 60% _ £:26,100 26,100 59% 60% 59% 60% 60%
FH|__JAC JAL 25,600 57% % H:27,200, £:24.800 7,200 55% 59% 55% 59% 55%
HE=BEXE FE)|  JAL JAL 37,100 48% 37,900 7,900 46% 46% 46% 46% 48%
)| JAL JAL 37,100 48% % H:37,900 7.900 46% 48% 46% 48% 46%
F|_ JAL JAL 33,800 51% _ £::34,200, £:33,000, H:35.000 4,200 51% 52% 51% 52% 49%
Wi =/ FIE) AL JAL 20,000 50% £ H:20,800, +:18,200 20,800 48% 55% 48% 55% 48%
)|_JAL JAL .200 52% _ H:19.900 .200 52% 52% 52% 52% 50%
Wil =R ) AL JAL ,300 62% ,300 62% 62% 62% 62% 62%
)|_JAL JAL ,000 61% ,000 61% 61% 61% 61% 61%
W =K5& ) JAL JAL 400 62% £ H:19,600 ,600 60% 62% 60% 62% 60%
)|_JAL JAL 600 62% 600 62 62% 62 62% 62% |
W =WAFH [ JAL JAL ,800 63% & H:20,600 20,600 61 63% 61 63% 61
)|_JAL JAL .800 63% 19,800 63 63% 63 63% 63
Wi =HE ) AL JAL 100 57% 21,100 57 57% 57 57% 57
)|_JAL JAC 26,600 48% 26,600 48 48% 48 48% 48
[ JAL JAL 1,400 7% % £:23,000 23,000 4 4 4 4 7
)| _JAC JAL .200 3% % H:25,000 25,000 1 3 1 3 1
W =85 ) JAL JAL 700 1 700 1 1 1 1 1
)|_JAL JAL .200 62 .200 62 62 62 62 62
wWE=sn ) AL JAL ,000 60% ,000 60% 60% 60% 60% 60%
)|_JAL JAL .800 58% .800 58% 58% 58% 58% 58%
WL ==A [ JAL JAL ,000 62% £ H:19,800 800 60% 62% 60% 62% 60%
)|_JAL JAL .200 63% % ,000 62% 62% 62% 62% 63%
Witz =#xl ) AL JAL ,000 62% & 800 60% 62% 60% 62% 60%
)| _JAL JAL .800 60% A .800 60% 60% 60% 60% 59%
Wity =4k A ) AL JAL .200 61% H: .200 61% 61% 61% 61% 63%
Wiz =K% )| _JAL JAL 20,600 62% 20,600 62% 62% 62% 62% 62%
[ JAL JAL 28,200 45% % H:28,300, 1:26,600 27,400 46% 48% 46% 48% 45%
R CHE) [ JAL JAL 22,200 59% _H:20.600 22,200 59% 59% 59% 59% 62%
PN D[ JAL JAL 28,200 45% % H:28,300 28,300 45% 45% 45% 45% 45%
Wiz =R HHECAE)| JAL JAL 19.400 66% = H:21,400 21,400 63% 66% 63% 66% 63%
PN D[ JAL JAL 27,400 52% % +:28200, H:26,600 28,200 51% 51% 51% 51% 54%
R CHE) | JAL JAL 20,200 65% 20,200 65% 65% 65% 65% 65%
PN [ JAL JAL 29,000 50% _H:27.400 29,000 50% 50% 50% 50% 52%
\Lfs =fEAR W% [RECHA)| JAL JAL 20,200 63% _ £:20,600 20,600 62% 63% 62% 63% 63%
KB (2 FH) AL JAL 29,100 47% _ +:28200 28,200 49% 49% 49% 49% 47%
AR [RECHE)| JAL JAL 19.400 65% 19.400 65% 65% 65% 65% 65%
KB (2 FH) AL JAL 27,800 50% _ H:26,200 27,800 50% 50% 50% 50% 53%
\Lfty == Wifs%E (RS CHA)| JAL JAL 20,200 63% % 1:21.400 21,400 61% 61% 61% 61% 3
KB (2 FH) AL JAL 29,100 47% 29,100 47% 47% 47% 47% 7
BEE  [ERCEE)| JAL JAL 19.400 65%  H:21,400 19.400 65% 65% 65% 65% 1
KB (2 FH) AL JAL 29,100 47% 29,100 47% 47% 47% 47% 7
it =ERE W% [RECHA)| JAL JAL 19,400 66% % H:21.800 21,800 62% 66% 62% 66% 62% |
KB (2 FH AL JAC 29,000 51% % 1:29800, H:28,600 29,800 49% 49% 49% 49% 51
ERBR [HECHE)| JAL JAL 20,600 64% 20,600 64% 64% 64% 64% 64
ABRERFD] JAC JAL 29,800 49%  #H:30,700 30,700 48% 49% 48% 49% 48%
WE=HE [ KR (P JAL JAC 600 55% 22,600 55% 55% 55% 55% 55%
HE: KB (#FH)| JAC JAL ,800 62%  £:20,200, £:19,400 20,200 60% 61% 60% 61% 62%
E=Xx% & KRR JAL JAL .400 53% H:24.200 4,200 52% 52% 52% 52% 52%
) KBR (7 AL JAL .000 58% 1,800 56% 56% 56% 56% 58%
e =FiE [ AREFE[ JAL JAL ,600 60% 3,400 59% 59% 59% 59% 59%
FED [ JAL JAL 400 59% 4,200 57% 59% 57% 59% 55%
i =fEA FFD| JAL JAL 800 56% 25,000 54% 54% 54% 54% 55%
FED [ JAL JAL 400 57% 24,200 55% 57% 55% 57% 55%
e =25 AFHD[ JAL JAL 25,000 54% ,200. H:27.000 27,800 49% 52% 49% 52% 50%
FED [ JAL JAL 500 55% 100 26,100 52% 55% 52% 55% 52%
le=ERE AFHD[ JAL JAC ,600 57% 00, H:25400 26,600 54% 54% 54% 54% 56%
FFD [ JAC JAL 800 59% 25,800 55% 57% 55% 57% 59%
WE=8%XE FFD| JAL JAL .200 50%  #1:34,000 34,000 49% 49% 49% 49% 50%
FED [ JAL JAL 30,800 54% %+ H:31,600 31,600 3 53% 3 53% 53%
HB=HE AR | JAL JAC .800 55% _ £::22,700, H:22.200 22,700 3 55% 3 55% 54%
FFH)|  JAC JAL ,800 61% 4 20,600 7 61% 7 61% 59%
HB=R5 FA[ JAL JAL ,000 52% % H:23,800, 1:22,600 .800 1 53% 1 53% 51%
RFY) AL JAL 400 52% 400 52 52% 52 52% 52%
FE=R& AR | JAL JAL ,000 58% %t H:23,800 .800 56 56% 56 56% 56%
FED [ JAL JAL ,800 56%  2::24,600, H:25.000 600 55% 56% 55% 56% 54
FE=RA AR | JAL JAL .900 54% 4 .900 54% 55% 54% 55% 54
RFY) AL JAL ,800 55% 4 ,600 53% 55% 53% 55% 5.
FE=25 AR | JAL JAL 25,400 52% 26,600 49% 49% 49% 49% 52% |
FED [ JAL JAL ,900 53% 26,500 50% 53% 50% 53% 51
HR=ERE FFD| JAL JAC ,600 56% @ 1:25400 25,400 54% 54% 54% 54% 56
FFD [ JAC JAL ,800 57% % H:25800, 1:24,800 25,800 54% 56% 54% 56% 54%
A=A VB R(FME)| JAL JAL ,000 58%  H:22.700 ,000 58% 58% 58% 58% 56%
FEL CRE)|[ JAL JAL ,600 57% 3,600, T:22,500, H:23400 ,600 55% 57% 55% 57% 55%
MA=IEE INEY CRE)|[ JAL JAL 200 58%  £::23,200, £:22.800, H:22,900 .200 56% 57% 56% 57% 57%
L& CRE)|[ JAL JAL 600 55% 4 300 54% 57% 54% 57% 54%
MA=ILOFE IMRFE CHE)|  JAL JAL 400 60% 22,800 60% 60% 60% 60% 58%
WO FER5 CPIH) AL JAL 400 57% % 25,200 55% 59% 55% 59% 54%
MA=HE N CRE)|[  JAL JAL 500 54%  H:24, 500 54% 54% 54% 54% 54%
HE CPIH) AL JAL 700 54%  +:24200 700 54% 55% 54% 55% 54%
IMA=FE i CRE)[ JAL JAL .700 58% @ H:22,500 500 56% 58% 56% 58% 56%
CRE)|[ JAL JAL .700 58% % H:22500, 1:22,400 500 56% 56% 56% 56% 56%
IME=F I CRE)[  JAL JAL ,200 55% ,200 55% 55% 55% 55% 55%
& CRE)|[ JAL JAL ,000 55% % H:23,200 ,200 55% 55% 55% 55% 55%
ME=FH VY CRE)|[__JAL JAL .200 60% _ £:22,000, H:22.700 ,000 59% 60% 59% 60% 57%
=4l CRE)|[ JAL JAL ,600 56% %t H:24,700 700 54% 54% 54% 54% 54%
A=A N CRE)|__JAL JAL 600 56% 25,100 53% 56% 53% 56% 53%
HALL [€2L::D) AL JAL 400 55% 25,100 53% 53% 53% 53% 53%
A=A N CRE)|[__JAL JAL 25,000 57% 27.400 53% 57% 53% 57% 56%
EZIES [€2L::D) AL JAL 25,000 57% 26,600 55% 55% 55% 55% 55%
INA=K5 INE CRE)|__JAL JAL 23,000 60% 24,400 58% 58% 58% 58% 56%
X5 [€2L::D) AL JAL 25,200 56% 26,400 54% 57% 54% 57% 54%
ML =FRI5 A CHE)|  JAL JAL 22,800 63% 23,600 61% 62% 61% 62% 60%
R CRE)|[ JAL JAL 25,200 59% 26,000 57% 59% 57% 59% 57%
IMA=FER VB CRE)|[ JAL JAL 23,600 60% 4,400, H:23.100 24,400 58% 58% 58% 58% 61%
S CRE)|_JAL JAL 25,200 57% 25,300 25,300 57% 57% 57% 57% 56%
IMA=E VB CRE)|[__JAL JAL 23,600 60% _ £::24,400, £:24,000. H:24.300 24,400 58% 59% 58% 59% 59%
B CRE)|[ JAL JAL 24,400 58% % H:25200 25,200 57% 58% 57% 58% 57%
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EEH EEH EEE EEH EEE EEE
= =EHO #51% i 23 i | V4 mEm | Y0 mmm | YV mEE | Y2 mEx
ME=ERE I CHH) . 60% ,600. H:24,700 25,800 58% 24,600 60% 25,800 58% 60% 59%
ERB%E (CPIH) 25,200 59% ,600, H:27,400 26,000 57% 23,600 61% 26,000 57% 61% 55%
MA=EEXE VB CRIH) 34,800 49% .200 36,600 46% 36.200 47% 36,600 46% 47% 49%
BERES (PIH) 36,600 46% ,800, H:38,200 37,400 45% 34,800 49% 37,400 45% 49% 44%
IMA=EE IV 8 GIRER) 26,000 55% 28,400 51% 28,400 51% 28,400 51% 51% 55%
B #8 (&) [JTA/RAC]  JTA 22,900 61% 22,900 61% 22,900 61% 22,900 61% 61% 61%
INA=F1E /I 8 GRED | JTA JTA 300 62% 26,700 58% 26,700 58% 26,700 58% 58% 62%
& @ (EE) | JTA JTA 300 62% 24,300 62% 24,300 62% 24,300 62% 62% 62%
Al==& [} @ (IF)| JTA |JTA/RAC 600 54% 26,000 50% 50% 26,000 50% 50% 54%
B #8 (A8 [JTA/RAC] A ,600 54% 23,600 54% 54% 23,600 54% 54% 50%
Al=a%E [} @ (RE) | JTA JTA .900 62% 24,300 58% 58% 24,300 58% 58% 62%
A8 AT JTA A 900 56% 24,900 56% 56% 24,900 56% 56% 52%
BHN=E5 B 40 12 AL JAC 25,600 41% _ £:23,000. H:25.200 25,600 41% 47% 25,600 41% 47% 42%
=i & JAC AL 25,600 41% :22,200, % F:25,800, H:21.400 25,800 41% 41% 25,800 41% 41% 51%
BERE=5# |EXXEH | BRI [ JAC JAC 500 38% 500 38% 38% 500 38% 38% 38%
5@®% | AKBEH | JAC AC 500 38% 500 38% 38% 500 38% 38% 38%
BERE=1KRB EEXER 5 JAC JAC 500 48% 500 48% 48% 500 48% 48% 48%
ik B AR FE 5 JAC AC 500 48% 500 48% 48% 48% 48% 48%
SR GIRE) =F & |48 GIRE) K| IR CREA) [JAL/JTA[  JAL ,300 56% :31,700, £:30,100, H:34.200 .700 55% 58% 55% 58% 52%
EHFE CRIE)[ JAL |JAL/JTA[ 30,100 58% 200, £:31,300 200 52% 56% 52% 56% 58%
SRR GRE) ==R [0 CRIE)[JAL/JTA| _JAL 28,900 59% 1400 28,900 59% 59% 59% 59% 55%
R CRE)| JAL [JAL/JTA] 28,400 60% ,400, 1:27.800 29,400 58% 60% 58% 60% 50%
SR GIRER) =TAE |48 GIRE) | SR CRIE) [JAL/JTA[  JAL 28,000 57% 00, 1:26.800. H:30,500 28,800 56% 59% 56% 59% 53%
FRE5E CRIE)[ JAL |JAL/JTA[ 27500 58% 100, +:26,900 30,100 54% 59% 54% 59% 57%
SRR (BRER) =\Lfy [ BB [ BOR CRIE) [JAL/JTA]  JAL 23,300 61% 00 23,300 61% 61% 61% 61% 59%
3 CRE)| JAL [JAL/JTA] 23,300 61% 23,300 61% 61% 61% 61% 61%
SHERGRE) =Ile [ECRE %l 18 JTA JAL 28,500 60% @+ H:29.400 29,400 59% 59% 59% 59% 59%
=S FE JAL JTA 30,200 57% 30,200 57% 57% 57% 57% 57%
SRR IR =/ R GIRR) %[ BUm CRIE) [JAL/JTA]  JAL 27,500 56% _ £::28,300. £:26.300. H:30.800 28,300 55% 58% 55% 58% 51%
=P AL__[JAL/JTA[ 26,300 58%  2:30400, £:27.900, H:27.500 30,400 52% 56% 52% 56% 56%
SRR BB == JTA AL .700 52% .700 52% 52% 52% 52% 52%
AL TA 700 52 700 52 52 52 52 52%
SRR IR =1l JTA JAC 500 500 1 1 1 1 51%
[NITES = JAC TA ,500 ,500 1 1 1 1 51%
AR (PE) =BEAS| R (HE) F| ER JAL JAC 26,800 H:27.800 26,800 7 7 7 7 55%
KB (R FH AL JAL 33,800 7K:34,700. £ 1:35,600 35,600 39% 39% 39% 39% 42%
BERER | BF JAC JAL 26,800 x F:28,300 28,300 54% 57% 54% 57% 54%
KB (R FH AL JAL 32,000 45% :35,200 32,000 45% 45% 45% 45% 40%
R CHE) =ER B[R (FE) F|_ER JAL JAC 31,400 50% 2,300 32,300 49% 50% 49% 50% 50%
BEXE AL JAC 34,200 39% 35,100 37% 37% 37% 37% 39%
ERER BER JAC JAL 30,100 52% 30,300 52% 52% 52% 52% 52%
BEKE | JAC JAL 34,200 39% 34,200 39% 39% 39% 39% 37%
R (HE) =Bz B|RR (HE) % _ER JAL JAC 31,300 52% 31,300 52% 52% 52% 52% 51%
BEXE AL JAC 36,500 39% 37,400 37% 37% 37% 37% 39%
JAC JAL 30,600 53% 30,800 53% 53% 53% 53% 53%
& | JAC JAL 36,500 39% 36,500 39% 39% 39% 39% 37%
KB JAL JAC 34,200 50% _ H:33,100 34,200 50% 50% 50% 50% 52%
JAC JAL 31,800 54%  £:32,600. H:34,200 32,600 52% 54% 52% 54% 50%
& | JAC JAL 38,700 39% _H:39.600 38,700 39% 39% 39% 39% 3% |
RE(CHER)=5# AL JAC 34,700 50% _ H:33,600 34,700 50% 50% 50% 50% 52% |
JAC JAL 32,700 53% 32,700 53% 53% 53% 53% 53
& | JAC AL 40,400 39% _ H:41,300 40,400 39% 39% 39% 39% 37
KR () =B EAB[ KR (B %[ ER JAC JAC 25,900 48% _ £::26,800. 1:26.300 26,800 46% 47% 46% 47% 48
BEAGE | BER JAC AC 25,300 49% 25,300 49% 48% 49% 48% 46%
AR (B =BERG| KR (B E|_ER JAC JAC 28,000 45% @ 1:28,900 28,900 43% 43% 43% 43% 45%
ESN] AL AC 28,800 37% % +:29700 29,700 35% 35% 35% 35% 37%
ERER ER JAC JAC 28,500 44% 29,900 41% 44% 41% 44% 41%
EIN] AC AL 28,800 37% 28,800 37% 37% 37% 37% 35%
KR () =82 B KR (FFH %|_ER. AC JAC 29,000 46% 29,900 44% 44% 44% 44% 46%
ESN] AL AC 31,100 7 32,000 35% 35% 35% 35% 37%
A ER JAC JAC 29,800 4 29,800 44% 44% 44% 44% 42%
|BEKE | JAC AL 31,100 7 31,100 37% 37% 37% 37% 35%
R (7)) =k RE KR (FFD %[ B JAC JAC 29,900 7 30,800 45% 45% 45% 45% 7
Sk EAFE | B JAC AC 30,300 46% 30,300 46% 45% 46% 45% 4
AR (B =5 |KR(FHE| & JAC JAC 30,400 47% .300 46% 46% 46% 46% 7
5#% 3 JAC AC ,300 16% % 700 43% 46% 43% 46% 3
BRI=EZXE EHEES B JAC JAC .500 48% .500 48% 48% 48% 48% 48%
BEABE | B JAC AC .500 48% .500 48% 48% 48% 48% 48%
BR=ER5 [HEES B JAC JAC 100 46% 100 46% 46% 46% 46% 46%
BEKRE | JAC AC 22,900 45% 22,900 45% 45% 45% 45% 45%
ERER ERE JAC JAC 22,700 47% 22,700 47% 47% 47% 47% 47%
BEKRE | JAC AC 22,900 45% 22,900 45% 45% 45% 45% 45%
BR=FEz5 FHEES ERE JAC JAC 25,500 25,500
‘BEKRE | JAC AC 25,200 25,200
[EFAE ERE JAC JAC 25,300 25,300
‘BEKRE | JAC AC 25,200 25,200
18R =K RE 1B % ERE JAC JAC 26,000 46! 26,000 46! 46 46 46 46
HkEEE | ER JAC AC 26,000 46% 26,000 46% 46% 46% 46% 46%
BEKE | JAC JAC 27.400 44% 27.400 44% 44% 44% 44% 44%
BE=5H [EIEES ER JAC AC 25,500 49% 25,500 49% 49% 49% 49% 49%
5 ERE JAC JAC 25,500 49% 25,500 49% 49% 49% 49% 49%
BEARE | JAC JAC 29,100 44% 29,100 44% 44% 44% 44% 44%
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E—P e 2
=40 oo | BERR | 55  BER C 08 %
XED | KEQ i =
RRECHA) =52 [RECHA)F| 4 GB%) |JAL/JTA[JTA/RAC| 25,600 56% 58%
EEF |48 (FBF) |[UTA/RAC|JAL/JTA| 25,100 57% 59%  +:24,900, H:27,600
RRECHE)=FE [REZECHHA)F| P GREH) [JAL/JTA[ JTA 25,200 61% 62% % 1:26,400
RiIEH [PEGBEH)| JTA |JAL/JTA| 26400 59% 61%  1:25,200, H:27,300
KB (BEFE)| JTA JAL 26,500 63% 65% | H:27,800
KR (R FH =% Bl | KBR (R FH S| BRE CRHE) | JAL JAL 22,800 64% 66% | H:23,600, % +:24,800. H:26,000
AR TR | JAL JAL 25,600 59% 62% | & 1:27,200
ZiEpFE |RECHHE)| JAL JAL 22,100 65% 67% | A%:23300. £:22,900. H:26,000
KR (B87E) =% Bl | KBR (B8 7E) S| B CFIH) | JAL JAL 22,800 64% 66% | H:23,600, % 1:24,800. H:26,000
AR EF TR | JAL JAL 25,600 59% 62% | & 1:27,200
TiEAlFE |[RECHHE)| JAL JAL 22,100 65% 67% | A%:23300, £:22,900. H:26,000
AR EF TR | JAL JAL 23,600 62% 65%
KR (FFH =N [ KR () F|R/RRCHHE) |  JAL JAL 23,200 63% 65% | F:23,600, %:23,800, £:23,100, H:21,600
nBJI%E  [REECHHE)| JAL JAL 22,400 64% 66% A% H:23600
Kk (B#E) =1l [ KPR (BH7E) F|RTCHAE)| JAL JAL 23,200 63% 65% | F:23,600, %:23,800, £:23,100, H:21,600
JBJIFE [HECHHE)| JAL JAL 22,400 64% 66% A% H:23600
KR (FFH =888 [ KR (P F|R/RRCHHE) | JAL JAL 21,000 66% 68% | F:21,800, %:22,600. £:22,200, H:24,200
HIERFE [HECHH)| JAL JAL 22,600 63% 66%  A%:23,800, H:25,300
Kk (B7E) =8Ip% [ KB (BFE) F|R_TCHAE)| JAL JAL 21,000 66% 68% | F:21,800, %:22,600. £:22,200, H:24,200
HIERFE [HECHH)| JAL JAL 22,600 63% 66%  A%:23,800, H:25,300
KB (RFH =5 | KBR FFH) F|RFCHE)|  JAL JAL 21,200 65% 67% | H:21,600, 1:20,400, H:22,400
WL |RECHEA)| JAL JAL 20,400 67% 69% | A%:21,600, H:21,200
ABx (BA7E) = /5 | ABx (B9FE) | RFCHE)| JAL JAL 21,200 65% 67%  H:21,600, 1:20,400, H:22,400
L% |EECHEA)| JAL JAL 20,400 67% 69% | A%:21,600, H:21,200
KR (FFH =8 [ KR (FFD FE|RRCHHE) | JAL JAL 21,500 60% 63% %:24,000, 1:23,200, H:22,300
BREER  [HHECPH)| JAL JAL 22,300 59% 62%  A%:23500, H:26,000
KR (FFH ==ZR [ KBRUFFD FE|ERCHHE)| JAL JAL 21,000 60% 63% | H:23,000
ZRFE |HEFCHHAE)| JAL JAL 22,600 57% 60%  A%:23,800, H:23,400
AR (BFE) ==iR SRE |[HEECHHAE)| JAL JAL 22,600 57% 60%  A%:23,800, H:23,400
KR (FFH =02k [ KBR(FHFE| HE JAC JAC 15,100 52% 54% | H:14,200
[ECES HE JAC JAC 15,100 52% 54%
KR (BFH =BF&|XREFFHH| EBES JAC JAC 20,500 48% 51% % 1:21,300
BEFERE | BERE JAC JAC 20,300 48% 51% | +:21,300, H:21,800
KR (FFH =5 [ KR (FF) F|H#EGREH)| JAL [JTA/RAC| 22,200 57% 60% % 1:24,200
Eos  |[B(EE) [JTA/RAC] JAL 22,800 56% 59% | H:24,400
Kk (BdE) == [ KB (BFE) 5|48 (FR%F) [JAL/JTA[JTA/RAC| 22,200 57% 60% % 1:24,200
Eo%  [7#(F8%) [UTA/RAC[JAL/JTA[ 22,800 56% 59% | H:24,400
KR (FFH =F1E [ KBRFF) F|HEGREH) | JAL JTA 21,100 63% 65% & 1:22,700
AiEE  [MEERHE)| JTA JAL 24,900 56% 59% | H:26,500
KR (BdE) =H1E [ KBk (BFE) F|h#E (FR%) [JAL/JTA[ JTA 21,100 63% 65% & 1:22,700
AiEF  [HEERE)| JTA [JAL/JTA[ 24,900 56% 59% | H:26,500
ZHE (P =%m5 [ £ EE (P RH[AREGFH |  JAL JAL 21,200 64% 66%
i Bl 5 TR JAL JAL 22,000 63% 65% |4::22,800, H:26,600
ZHE(PE) =25 |[A5E(PH S &) JTA [JTA/RAC| 23,200 59% 61% % 1:25200
Eos  |[EB(EFH) [JTA/RAC] JTA 24,600 56% 59% | H:27,400
ZHE(PE) =RiBE[2ER(PH) X BT JTA JTA 24,900 60% 62% % 1:26,900
RiEE  [MEERHE)| JTA JTA 24,900 60% 62% | H:26,600
AR BT =/MAAURF TR E|RECAE) | JAL JAL 24,600 56% 59% % H:25,300
MAFE |EHERFECHE)| JAL JAL 23,800 57% 60% % +:25300, H:24,600
AR (%) =RIL [ AR TR | RECAE) [ JAL JAL 24,400 62% 64% %:24,800, H:26,800
RS |EFECHH)| JAL JAL 24,300 62% 64% | K:25,100, %:27,800, £:24,900
AR TR =LE[AREFETH X R CAHE)|  JAL JAL 25,600 60% 63% | H:27,600
LEE% |EFECHA)| JAL JAL 25,300 61% 63% | A:26,100, #:27,800., +:26,000
HIRETR) =ILOFH R FFR) E[ERCAE) [ JAL JAL 26,000 62% 64% |%::26,400, £:24,400, H:28,400
WWOF8%E [RRCEA)| JAL JAL 25,200 63% 65%  %:27,800, 1+ H:26,000
AR T =HEAREGTH) X|RECAH)|[  JAL JAL 27,700 57% 60%  %:29,300, H:29,500
= BEECAE)|[ JAL JAL 25,500 61% 63% | A:25,600, £:29,500, 1:29,200, H:25,900
AR TR =ES[AREF TR X|RECAHE)|[  JAL JAL 23,700 62% 65% | H:25,700
®mER [HECHH)| JAL JAL 23,600 63% 65%  %:25,900, 1:24,800, H:22,500
AR TR =R [AURE TR X R CAHE)|[  JAL JAL 26,200 58% 61% %:27,000, £:25,400, H:28,100
=M% |EFECHIA)| JAL JAL 25,400 60% 62% % 1:27,800, H:23,600
AR TR =& [AREF TR X R CAHE) | JAL JAL 25,200 61% 64% %:26,400, H:28,000
=A% |EFECHA)| JAL JAL 25,200 61% 64% | K:25300, %:28,300, £:27,200
AR (%) =AU [ AR TR | RECAE) [ JAL JAL 26,000 60% 63%  %:28,000, H:29,100
wmilFE  [EERCHHE)| JAL JAL 25,300 61% 64% | /:26,400, £:29,300, 1:28,400, H:26,100
HREFFR) =AM AR FFHR[EFCARE) | JAL JAL 26,600 62% 64% | 4::28,600, H:30,200
JdEAMFE [RECHH)| JAL JAL 25,800 63% 65% | A:26,700, %:30,000, £:29,000. H:26,600
AR TR =KD [AUREF TR X R CAHE) [ JAL JAL 26,800 61% 63% | $:27,200, 1:26,400, H:29,200
AHFE |HFECHHAE)| JAL JAL 26,900 61% 63% | A:27,700, %:28,800. £:27,600, H:27,300
AR TR =RB[ ARG TR X RTCAHE)|[  JAL JAL 26,400 64% 66% | H:28,400
RBE |[HFERCHAE)| JAL JAL 26,900 63% 65% | A:27,700, £:30,200, £:27,200
AR (T =REAR[AURF TR | R CAE) [ JAL JAL 27,200 61% 63% %+ H:28,000
BEAE |[HFECHHA)| JAL JAL 26,000 63% 65% | A:26,900. #:28,800, F:28,400
AR T == [AREF TR X R CAHE) | JAL JAL 26,000 63% 65%  %:28,000, £:27,200, H:29,200
=FE |HEFECHAE)| JAL JAL 26,100 63% 65% | A:26,900. #:28,800, F:27,600
WEFFR) =ERE[ARFTR X[/ FHE)| JAL JAL 27,800 62% 64% |%::28,600, H:28,800
EBREX |[HECHH)| JAL JAL 26,000 64% 66% | A:26,900, %:29,400, 1:26,800, H:27,400
HIREHTR) =EEAS[ARFFR) E[FRCHE)[  JAL JAL 39,400 51% 53% % 1:40,200, H:37,400
EEASH [RFECHAE)| JAL JAL 37,400 53% 55%  %:40,000, H:38,200
LR (T8 = B8 [ IR T | R CHE) | JAL |JAL/JTA| 29,100 61% 63% |%:31,600, £:29,200, H:30,300
KR (B87E) [ JAL [JAL/JTA[ 26,200 65% 67% % 1:27,800, H:28,200
ZEE(hE) | JAL JTA 27,200 64% 66% % 1:29,600
12 JAL JTA 26,800 66% 68% |4::28,500, H:28,400
PR (FRER) | _RE CRIH) [JAL/JTA|  JAL 29,200 61% 63% | A:30,000, %:32,500, £:30,300, H:31,700
KB (BETE) [JAL/JTA[  JAL 28,200 63% 65% | H:29,800
ZEE (&) JTA JAL 27,200 64% 66% |4:28,800, H:30,000
12 JTA JAL 26,800 66% 68% % 1:29,300, H:27,700
[ EE S F] wE%E [EECHHE)| JAL JAL 26,000 67% 68%  %:30,400, 1:26,600, H:28,800
AR TR | JAL JAL 25,400 65% 67% |%&1:27,000
TiEAlFE |[RECHHE)| JAL JAL 24,300 69% 70% | %:25,100, 1:26,900, H:27,400
AR TR | JAL JAL 25,400 65% 67% | H:27,000
&R =he )il BE%E [RECHHE)| JAL JAL 23,200 70% 71% % 1:28,000, H:23,600
BN [EECHHE)| JAL JAL 24,200 68% 70%  #H:27,300, 1:24,000
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=40 mane | BERE | 55  BER C 08 %
EED | EE@ = =
12 = S B JAL JAL 24,200 68% 70% %:28,600, 1:26,400, H:27,000
JAL JAL 24,400 68% 70% |%:27,400, £:24,200, H:28,400
& =5 JAL JAL 22,800 70% 71% % H:25,200, +:23,800
JAL JAL 22,200 70% 72% _|%::25200, £:22,800
12 = EE JAL JAL 23,700 65% 67% | A:24,500, & +:27,200. H:25,100
JAL JAL 25,300 63% 65% 27,100, £:26,300, H:27,800
ER=F% JAL JAL 27,400 59% 62% |£::30,200, £:27,600, H:28,600
JAL JAL 29,000 51% 54%
JAL JAL 26,800 60% 62% | A:28,200, %:30,300, +:26,600
JAL JAL 29,000 51% 54% % H:30,600
& ==iR JAL JAL 24,000 64% 66% | % 1:26,000, H:25,800
JAL JAL 24,400 63% 65% | 4::27,400, £:25,000
1E2f =165 JAL JAL 26,600 53% 57%
JAL JAL 27,400 52% 55%
2R =FE JAL JAL 24,100 61% 63% %:27,300, 1:24,300, H:24,900
JAL JAL 23,100 62% 65% | A:23,900, %:26,400, H:23,500
JAL JAL 23,600 57% 60% % H:24,000
& = L JAL JAL 19,600 64% 67% | % 1:21,600, H:21,000
JAL JAL 26,600 51% 54% | H:25,000
JAL JAL 19,600 64% 67% |%:20,400, £:20,000
JAL JAL 27,400 49% 53% % H:28,200, :25,800
&R =% JAL JAL 18,600 63% 66% % H:20,200
JAL JAL 22,200 56% 60% | +:21,800
R =/ = (P JAL JAL 23,600 60% 63% |%::26,800, £:24,000, H:26,000
M [RFECHA)| JAL JAL 23,600 60% 63% | A:24,400. %:26,500, H:25,200
RE=En =% [P JTA [JTA/RAC| 20,700 54% 57% | %::22,800
Eos  |B(EF) [JTA/RAC] JTA 22,000 51% 54% % H:23,600
EE=haiE EEF  [MEGRE)| JTA JTA 22,400 56% 58% | %:24,100
RiEE MBS JTA JTA 22,400 56% 58%
=& EmAIFE  [AREFTHE| JAL JAL 22,400 55% 59% | H:23,400
WEeEFE  [HREFH)| JAL JAL 20,400 59% 62% % 1:22,800
i = /MR iR |RECHHE)| JAL JAL 23,900 62% 65%  %:24,700, 1:24,500, H:27,800
MMAFE |ERFECHA)| JAL JAL 24,600 61% 64% $:26,600, 1:25,800, H:27,300
i Bl = e L LA |RECHHE)| JAL JAL 23,700 67% 69%  +:24,600, H:26,800
FEWL |EFCHH)| JAL JAL 23,600 67% 69% %+ H:25,600
il =HE iR |RECHHE)| JAL JAL 26,200 64% 66%  $:28,200, 1:27,400, H:31,300
HES |EZECHH)| JAL JAL 27,100 63% 65% % 1:29,600, H:29,500
il =4l TRl |RECHHE)| JAL JAL 25,300 65% 67% %:26,900, H:30,000
wmilFE  [HERCHHE)| JAL JAL 26,000 64% 66% %+ H:28,000
JENTETSA neJIFE [REECHHE)| JAL JAL 24,200 61% 63%  %:25,000, H:27,100
M |ERERFECHAE)| JAL JAL 22,400 64% 66%  %:27,000, 1:26,300
JBJII=FRAL0 nBJIFE [HECHHE)| JAL JAL 24,000 66% 68% | H:25,700
FEL |EFCHH)| JAL JAL 22,500 68% 70%  %:25,800, 1:25,100
RBII=HE neJIFE [REECHHE)| JAL JAL 24,900 65% 67%
HES |EFECHH)| JAL JAL 24,300 66% 68% | #1:27,200
TENI=#x10 nBJIFE [HEECHHE)| JAL JAL 25,600 64% 66%  %:27,200, H:27,600
milFE  [HECHHE)| JAL JAL 25,600 64% 66% | £:27,600, £:27,100, H:24,000
SEE = /M HIERFE [HECHH)| JAL JAL 24,400 60% 63% 25,200, 1:22,600, H:28,800
M |ERFECHE)| JAL JAL 22,800 63% 65% % +:24,800, H:25,500
SI¥E =10 SRR [RECHH)| JAL JAL 24,200 65% 67% | H:27,400
FEL  |EFCHH)| JAL JAL 21,800 68% 70% %+ H:23,800
SR =HE HIEEFE [HECHH)| JAL JAL 26,700 62% 64% %:28,700, H:30,900
HES |ERECHH)| JAL JAL 25,300 64% 66% % H:27,700, 1:27,300
S =410 SRR [HECHH)| JAL JAL 25,800 64% 66%  %:27,400, H:29,300
milFE  [HERCHHE)| JAL JAL 24,200 66% 68% %+ H:26,200
L=/ HwLaF  |EFECHA)| JAL JAL 22,200 63% 66% % H:23,000, +:20,400
MMAFE [ERFECHE)| JAL JAL 21,400 65% 67% | H:23,700
HE=El wLa%  |EECHEA)| JAL JAL 22,000 68% 70%
Rl |EFCHH)| JAL JAL 21,200 69% 71% | H:22,000
HLh=HE HmLaF  |EECHA)| JAL JAL 24,500 65% 67% % H:26,500
HES |EFECHH)| JAL JAL 23,900 66% 68% % 1:25200, H:25,900
HLE=H wLaF  |EECHEA)| JAL JAL 23,600 66% 68% % H:25,200
WmilFE  [HECHHE)| JAL JAL 23,600 66% 68% | H:24,400
BEEE =/ BREER [HHECPRH)| JAL JAL 24,100 55% 58%  %:24,900, 1:23,900, H:26,300
MAFE |EHERFECHAE)| JAL JAL 23,300 56% 60% % +:25800, H:24,000
EEE= Ll BREER [HHECPRH)| JAL JAL 24,000 61% 64% | H:27,600
fELFE  |EFCHH)| JAL JAL 23,100 62% 65% % 1:25,600
HE=HE BREER [HHECPRH)| JAL JAL 26,800 57% 60%  %:28,400, H:32,100
HES |ERECHH)| JAL JAL 25,500 59% 62% % 1:29,600
EEE=#1l BREER [HHECPRH)| JAL JAL 25,500 60% 62% #:27,100, H:30,800
WmilFE  [HECHHE)| JAL JAL 23,900 62% 65% % 1:26,400, H:24,300
EREE =LA BREER [HHECPRH)| JAL JAL 26,900 60% 63%  %:27,700, H:29,800
HEEE=X5 BREER [HHECPRH)| JAL JAL 26,300 61% 63% | H:30,000
AnFE |HFECHHAE)| JAL JAL 26,300 61% 63% % 1:28,800, H:25,900
HEE=RIE BREER [HHECPRH)| JAL JAL 26,300 63% 65% | H:29,200
RBE |[HECHAE)| JAL JAL 25,300 64% 66% % 1:26,800, H:25,900
EEE=FEX BREER [HHECPRH)| JAL JAL 27,100 60% 63% |2 7,900, H:28,800
BEAE |[HFECHHAE)| JAL JAL 23,500 65% 68% |2 6,000, H:24,700
EE==I& BREER [HHECPRH)| JAL JAL 25,900 62% 64% £ +:27,100. H:30,000
=E |HERFCHAE)| JAL JAL 25,500 63% 65% % 1:28,000
HE=ERS BHEER [HHECPHE)| JAL JAL 27,700 61% 63%  %:29,300, H:30,000
EBREX |[HECHH)| JAL JAL 24,900 65% 67% % +:27,200, H:25,500
HE=BXKXE BREER  [HHECPRH)| JAL JAL 39,300 49% 52% % 1:40,100
EEASH [RECHHE)| JAL JAL 36,700 53% 55%  %:37,300, H:38,100
BFR=/H BEHA%  [ERRECHHE)| JAL JAL 25,100 52% 55%
MAFE [EHERFECHAE)| JAL JAL 25,100 52% 55%
FH=FLL BHa%  |[ERFCHHE)| JAL JAL 26,600 56% 59% |4::27,400, £:25,000
FEl  |EFCHH)| JAL JAL 25,100 58% 61%  %:25,400, H:25,600
EH=L5 EHE  [EmCEE)| JAL JAL 26,600 56% 59% | 428,200, 1:26,200, H:27,400
LEE% |EFECHIHA)| JAL JAL 27,400 55% 58% |#:28,000, £:25,800. H:27.800
EH=ILOFE BHAX |[ERRECHHE)| JAL JAL 28,200 56% 59% | £:29,000, F:25,400
IOF8M% [RRCEIAE)| JAL JAL 28,200 56% 59%  %:28,600, H:29,400
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E—P I s 2
=40 mane | BERE | 55  BER C 08 %
EED | EE@ = =
FH=-HE 5% [EmCEE)| JAL JAL 27,500 55% 58%
RERRFD|  JAL JAC 25,800 54% 56%
HES |[EZRCHH)| JAL JAL 28,300 54% 57%
AR (BEFD]  JAC JAL 25,000 55% 58% | H:26,600
EH=S BHA% |[ERECHHE)| JAL JAL 25,500 57% 60% |%::26,300, £:23,900
wmER [HECHH)| JAL JAL 25,500 57% 60% % H:25,900
FH=mi EH%E  [EmCEE)| JAL JAL 28,300 53% 56% | 1:26,000
=% |EFECHA)| JAL JAL 26,800 55% 58% % 1:27,600, H:26,200
EH=aH BEHA% |[ERECHHE)| JAL JAL 27,400 55% 58% |4::29,000, £:25,800, H:28,200
=A% |EFECHA)| JAL JAL 27,400 55% 58%  %:29,100, H:28,600
HHR=0L BEHA%  [ERECHHE)| JAL JAL 28,200 55% 58% % H:29,100, +:26,600
milFE  [HECHHE)| JAL JAL 28,200 55% 58% | H:27,800
EH=dAM BHAX |RRCHHE)| JAL JAL 28,800 57% 60% | £:30,700, 1:27,200
JdEAMFE [RECHH)| JAL JAL 28,800 57% 60% % H:30,000
BEHR=K7 BEHa%  [ERCHHE)| JAL JAL 29,000 56% 59% |4::29,800, £:27,000
AHnFE |HFECHHAE)| JAL JAL 29,000 56% 59% % H:29,800, 1:28,600
EH=RI& BHAX  [ERCEHE)| JAL JAL 27,000 61% 63% |£:29,000, £:26,600, H:28,200
AR (BEFD]  JAL JAL 28,200 55% 58% % 1 H:29,000
RBE |[HFERCHA)| JAL JAL 29,000 58% 60% % H:29,400
BEHR=EX BHAX  [ERCEAE)| JAL JAL 26,600 60% 63% |£::29,000, H:28,200
KRR RFD|  JAL JAL 29,000 52% 55%
BEA% |EFECHHA)| JAL JAL 29,000 57% 59% |4::29,400, H:29,300
EHR=EE BHAX  [ERCEAE)| JAL JAL 27,400 59% 62% |4::30,600, H:29,000
AR (BEFD]  JAL JAL 29,800 50% 54% | %:31,800, H:31,400
=R [ERCHA)| JAL JAL 28,200 58% 60% % H:28,600
AR (BEFD]  JAL JAL 30,100 50% 53% |£::30,900, H:31,900
BER=ERS BHAX  [ERCEAE)| JAL JAL 28,600 59% 61% |£:29,800, £:28,000, H:29,000
AR (BEFD][  JAL JAC 29,800 53% 56% | % 1:30,600
EBREX [EECHH)| JAL JAL 29,000 58% 60%  %:29,400, H:30,300
AR (BEFD]  JAC JAL 30,600 52% 55% | £:31,800, H:33,100
EH=BEXE BHA% (R CHHE)| JAL JAL 38,800 49% 52% | % 1:39,600
EERSH [RECHE)| JAL JAL 40,400 47% 50% | 4::40,800, H:41,600
AR (BEFD][  JAL JAL 38,800 47% 50% | H:41,200
ZiR=/2 HECHHE)| JAL JAL 24,400 53% 56% % H:25,100, 1:22,600
BEECAE)|[ JAL JAL 23,600 54% 58% | H:24,300
ZiR=FL HECHHE)| JAL JAL 24,200 59% 62%
BEECAE)|[ JAL JAL 23,400 61% 63%
=R=L5 BEECAE)|[ JAL JAL 24,200 60% 63% % H:24,400
BEECAE)|[ JAL JAL 24,200 60% 63% | % H:25,000
ZR=LAFH HECHHE)| JAL JAL 25,800 60% 62% | 1:24,600
BEECAE)|[ JAL JAL 25,800 60% 62% | H:26,600
ZR=HZ=E HECHHE)| JAL JAL 26,700 56% 59% % H:28,300
BEECAE)|[ JAL JAL 25,800 58% 60% | & 1:27,400
SR=E5 HECHHE)| JAL JAL 23,100 61% 64%
BEECAE)|[ JAL JAL 22,600 62% 64%
ZR=m BEECAE)|[ JAL JAL 26,000 56% 59% |4::26,400, 1:24,800
BEECAE)|[ JAL JAL 25,200 57% 60% | % 1:26,000, H:24,200
=R==% HECHHE)| JAL JAL 25,000 59% 62%
BEECAE)|[ JAL JAL 22,600 63% 65% | & 1:23,400
ZiR=#0 HECHHE)| JAL JAL 25,800 58% 61% £ H:27,400
BEECAE)|[ JAL JAL 25,000 59% 62%
ZiR=dnM ZRE |[HEFCHHAE)| JAL JAL 26,400 60% 63% |%:28,000
JdEAMFE |[RECHH)| JAL JAL 25,600 61% 64% | H:24,600
ZiR=X% ZRE |[HEFCHHAE)| JAL JAL 26,600 59% 62% | £:25000
BEECAE)|[ JAL JAL 26,600 59% 62%
ZR=RK& HECHHE)| JAL JAL 25,000 63% 66%
BEECAE)|[ JAL JAL 26,600 61% 63%
SiR=8%X HECHHE)| JAL JAL 25,800 61% 63% % 1:26,600, H:25,400
REECAE)|[ JAL JAL 23,800 64% 66% | H:25,400
ZiR=E’ HECHHE)| JAL JAL 24,600 63% 65%  %:27,400, H:26,600
BEECAE)|[ JAL JAL 25,800 61% 63%
ZR=ERS HECHHE)| JAL JAL 26,400 61% 64% %:28,000, H:26,600
BEECAE)|[ JAL JAL 26,200 62% 64%
ZIR=BEXE BEECAE)|[ JAL JAL 38,000 50% 53% % 1:38,800
BEECAE)|[ JAL JAL 38,000 50% 53% | H:38,800
FE =/ REECAE)|[ JAL JAL 22,700 51% 55% | H:24,300
BEECAE)|[ JAL JAL 22,700 51% 55% | %:23,500, H:23,400
FE=[/Ll HECHHE)| JAL JAL 22,500 59% 62% % H:23,300
BEECAE)|[ JAL JAL 21,700 60% 63% |%:22,500
MHE=LE8 BEECAE)|[ JAL JAL 23,300 58% 61% % H:24,100
BEECAE)|[ JAL JAL 23,300 58% 61% |£::24,900, H:24,100
MEBE=LOFH HECHHE)| JAL JAL 24,100 59% 62% % H:24,900, 1:23,700
BEECAE)|[ JAL JAL 24,900 58% 61% | % H:25,700
ME=HE HECHHE)| JAL JAL 25,100 55% 58%
AR (BEFD]  JAL JAC 20,000 62% 64% | & 1:21,200
HE HECHHE)| JAL JAL 25,100 55% 58%
KR (BEFD]  JAC JAL 20,000 62% 64% | % H:20,400, 1:19,200
MHA=ES FEFE [HECHH)| JAL JAL 21,400 60% 63% % H:22,200
®mER [HECHH)| JAL JAL 20,100 63% 66% | H:20,600
MEA=5K FEFE [HECHH)| JAL JAL 24,300 55% 58% |4::25500, £:23,100, H:25,100
=% |EFECHA)| JAL JAL 23,300 57% 60% | £:24,100
MEA=540 EFE [HECHH)| JAL JAL 23,300 58% 61% % H:24,900
=A% |EFECHA)| JAL JAL 24,100 57% 60%  %:25,700, H:24,900
#E=#1 RS [BRECPHE)| JAL JAL 24,100 57% 60% % H:26,500
LU [BRECPHE)| JAL JAL 24,100 57% 60% |%:24,900
FE =AM IR [BRECPHE)| JAL JAL 24,700 60% 62% %:27,100, H:25,500
JdEAMFE |[RECHH)| JAL JAL 25,500 58% 61% %:27,100, H:26,300
MEA=X% MER [EECHH)| JAL JAL 24,900 59% 61% % H:25700, +:24,100
AR (BEFD]  JAL JAL 22,800 56% 60% | %:24,800, T H:24,000
Ao |[ERCEHA)| JAL JAL 25,700 57% 60% |%::26,200, £:25,300
AR (B[ JAL JAL 24,000 54% 58% | % H:24,400, 1:23,200
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=40 mane | BERE | 55  BER C 08 %
EED | EE@ = =
MA=FIE MEF [ERCHHE)| JAL JAL 24,100 62% 65% % H:24,900
KRR RFD|  JAL JAL 22,400 62% 65% | % 1:24,400, H:23,200
RBFE [ERERCHAE)| JAL JAL 25,700 60% 62% |%:26,200
KB (FFD | JAL JAL 24,000 59% 62% > 1:24,800, H:25,600
MEA=RX MER [EECHH)| JAL JAL 24,900 59% 62% £:25,700
KRB (FFD | JAL JAL 23,700 58% 61% |2 1:24900, H:24,100
REA% [ERCGHA)| JAL JAL 23,300 62% 65% |::23,700, H:24,500
RERRFD|  JAL JAL 24,000 58% 61% |%::24,400, £:23,600, H
MEA=2 MEF [ERCHHE)| JAL JAL 23,700 61% 64% | £:26,500, 1:24,900.
RERRFD|  JAL JAL 24,000 58% 61% |%:27,200, £:25,200, H
=R [ERCHEA)| JAL JAL 24,900 59% 62% | £:25700
KRR (RFD|  JAL JAL 25,100 56% 59% | % H:26,300, 1:25,200
MHE=ERS MEF [ERCHHE)| JAL JAL 26,200 59% 61% |%:27,100, H:26,300
RERFFD|  JAL JAC 24,000 60% 63% | % 1:26,000
EBREX [EECHH)| JAL JAL 25,300 60% 63% |%:26,100
KR (FFD|  JAC JAL 25,600 57% 60% | % H:27,200, 1:24,800
ME=EXXS MEF [FERCHHE)| JAL JAL 37,100 48% 51% % 1:37,900
EBERSH [RECHE)| JAL JAL 37,100 48% 51% % H:37,900
KRR RFD|  JAL JAL 33,800 51% 54% 434,200, £:33,000, H:35,000
Wi =hin W% |EECHHE)| JAL JAL 20,000 50% 55% % H:20,800, 1:18,200
MAFE [ERFECHAE)| JAL JAL 19,200 52% 57% | H:19,900
LRz =Rl W% |EECHHE)| JAL JAL 18,300 62% 65%
FEL  |EFECHH)| JAL JAL 19,000 61% 64%
W =1L8 W% |EECHHE)| JAL JAL 18,400 62% 66% % H:19,600
LEE% |HFECHHAE)| JAL JAL 18,600 62% 65%
Wtz =1L O3 WAz |EECHHE)| JAL JAL 19,800 63% 65% % H:20,600
WWOF8E [RRERCEA)| JAL JAL 19,800 63% 65%
Iifz=H=E % | EZECHHE)| JAL JAL 21,100 57% 61%
AR RFD|  JAL JAC 26,600 48% 51%
HEX |EZCHEH)| JAL JAL 21,400 57% 60% % 1:23,000
KRR (FFD|  JAC JAL 24,200 53% 56% | % H:25,000
=5 W% |EECHHE)| JAL JAL 18,700 61% 64%
®mER [HECHH)| JAL JAL 18,200 62% 65%
L == W% |EECHHE)| JAL JAL 19,000 60% 64%
=M% |EFECHA)| JAL JAL 19,800 58% 62%
WL ="=4n W% |EECHHE)| JAL JAL 19,000 62% 65% | #H:19,800
=A% |EFECHA)| JAL JAL 18,200 63% 66% % 1:19,000
iRz =420 Wfz%  |EECHHE)| JAL JAL 19,000 62% 65% $H:19,800
WmilFE  [EECHHE)| JAL JAL 19,800 60% 64% | H:20,600
itz =dk JdEAMFE |[RECHH)| JAL JAL 21,200 61% 64% | H:20,200
=K% % | EZECHHE)| JAL JAL 20,600 62% 65%
KRR FFD|  JAL JAL 28,200 45% 49% % H:28,300, 1:26,600
Ao |[ERCEEA)| JAL JAL 22,200 59% 62% | H:20,600
KRR FFD|  JAL JAL 28,200 45% 49% £ H:28,300
L =R % | EZECHHE)| JAL JAL 19,400 66% 68% % H:21,400
KRR FFD|  JAL JAL 27,400 52% 56% | % 1:28,200, H:26,600
RBFE [ERERCHAE)| JAL JAL 20,200 65% 67%
KRR FFD|  JAL JAL 29,000 50% 53% | H:27,400
Iifz=8EK W |RERCHHE)| JAL JAL 20,200 63% 66% |%:20,600
KB (FEFD|  JAL JAL 29,100 47% 51% | 1:28,200
BAE [EERCHHAE)| JAL JAL 19,400 65% 67%
RERFFD|  JAL JAL 27,800 50% 54% | H:26,200
I == W | RERCHHE)| JAL JAL 20,200 63% 66% & 1:21,400
KRR FFD|  JAL JAL 29,100 47% 51%
=R [ERERCEEA)| JAL JAL 19,400 65% 67% | H:21,400
KRR FFD|  JAL JAL 29,100 47% 51%
L=ERS % | EZECHHE)| JAL JAL 19,400 66% 68% | #H:21,800
KRR FFD|  JAL JAC 29,000 51% 54% | % 1:29,800. H:28,600
BREX |[EECHH)| JAL JAL 20,600 64% 67%
AR (REFD| JAC JAL 29,800 49% 53% | % H:30,700
&E=HE e [ KEROFFD| JAL JAC 22,600 55% 58%
HER | XRUEFEM)| JAC JAL 18,800 62% 65%  %:20,200, 1:19,400
&E=xX% WwEaEH [KERUFRFD| JAL JAL 23,400 53% 57% % 1t H:24.200
A% | KBRUFFH| JAL JAL 21,000 58% 61% #1:21,800
&E=RKig WEH [KERURFD| JAL JAL 22,600 60% 63% % 1 H:23,400
RBE | KROFFD|[ JAL JAL 23,400 59% 62%  %:24,200, H:25,400
& =rX WeFx [ KEROFFD| JAL JAL 23,800 56% 59% % +:25,000, H:24,600
REARK | KIRUFAFH| JAL JAL 23,400 57% 60%  %:24,200, H:24,300
&E==1k WweHx [ KEROFFD| JAL JAL 25,000 54% 57% % 1:26,200, H:27,000
EEF [ KBRUFFD|  JAL JAL 24,500 55% 58% % H:26,100
WE=ERS e [ KEROFFD| JAL JAC 24,600 57% 60% % 1:26,600, H:25,400
BREX |XRUEFD| JAC JAL 23,800 59% 62%  %:25,800, 1:25,000
WE=8EXKXS WweHx [ KEROFFD| JAL JAL 33,200 50% 54% % 1:34,000
BEAEH |[KRURFD| JAL JAL 30,800 54% 57% %+ H:31,600
FR=HE e [ ARURFD| JAL JAC 21,800 55% 58% |4::22,700, H:22,200
HE AR (RFD| JAC JAL 18,800 61% 63% |£:20,600, H:19,800
FiR=X% Fia% [ ABRURFD| JAL JAL 23,000 52% 56% % H:23,800, +:22,600
AnFE | KRUFFD|[ JAL JAL 23,400 52% 56%
FiR=RE Fia% [ ABRURFD| JAL JAL 23,000 58% 61% |4 1+ H:23,800
RBE [ KROFFD|[ JAL JAL 23,800 56% 60%  %:24,600, H:25,000
Fim=HEX iR | KERUFFD| JAL JAL 23,900 54% 58% | 1:23,800
REARK | KIRUFAFH| JAL JAL 23,800 55% 58% % H:24,600
Fin==& Fia% [ ABRURFD| JAL JAL 25,400 52% 55% | %::25800
EEF | KBRUFFD|  JAL JAL 24,900 53% 56%  %:26,500, H:25,700
HR=ERS FiR% [ ARURFD| JAL JAC 24,600 56% 59% % 1:25400
BREX |KIRUEFD| JAC JAL 23,800 57% 60% % H:25,800, 1:24,800
Y=Ll MAFE |EHERFECHE)| JAL JAL 22,000 58% 61% | H:22,700
L% |RERCHHE)| JAL JAL 22,600 57% 60% |£:23,600, £:22,500, H:23,400
IMR=]EE MM |ERFECHE)| JAL JAL 22,200 58% 61% |£:23,200, £:22,800, H:22,900
LEE% |HFECHHAE)| JAL JAL 23,600 55% 59% % H:24,300, 1:22,800
MA=1LOFH MAFE |ERFECHE)| JAL JAL 22,400 60% 63%  %:22,800, H:23,500
IOF8M% [RRECEIAE)| JAL JAL 24,400 57% 60% | %:25,200, 1:23,200, H:26,000
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o O SE L 2
=40 mane | BERE | 55  BER C 08 %
[ EEO | REQ i i
IMA=HE MMAFE |HERFECHAE)| JAL JAL 24,500 54% 58% | H:24,700
HE HECHHE)| JAL JAL 24,700 54% 57% | 1:24,200
MA=1ES MM |EHERFECHAE)| JAL JAL 21,700 58% 61% $#H:22,500
wmER [HECHH)| JAL JAL 21,700 58% 61% & H:22500, 1:22,400
INR=E MMAFE |EHERFECHAE)| JAL JAL 23,200 55% 58%
=M% |EFECHA)| JAL JAL 23,000 55% 59% % 1 H:23,200
INR=TZ40 MMAFE |EHERFECHAE)| JAL JAL 21,200 60% 63%  %:22,000, H:22,700
=A% |EFECHA)| JAL JAL 23,600 56% 59% &+ H:24,700
M=l MAFE |ERFECHE)| JAL JAL 23,600 56% 59% % H:25,100
wmilFE  [HERCHHE)| JAL JAL 24,400 55% 58% &+ H:25,100
IMRA=JE M MAFE [ERFECHA)| JAL JAL 25,000 57% 60%  %:27,400, H:25,800
JdEAMFE |[RECHH)| JAL JAL 25,000 57% 60% % H:26,600, 1:26,200
M=K MMAFE |ERFECHE)| JAL JAL 23,000 60% 63% | A%£:24,400, 1:24,000. H:25,100
AnFE |HEFECHHAE)| JAL JAL 25,200 56% 59% % H:26,400, 1:24,800
M=K M |ERFECHE)| JAL JAL 22,800 63% 65% | %:23,600, 1:23,200, H:24,300
RBE |[HFECHA)| JAL JAL 25,200 59% 61% % H:26,000
INY=FEXR MM |EHERFECHAE)| JAL JAL 23,600 60% 63% % 1:24,400, H:23,100
BEAE |[HFECHHA)| JAL JAL 25,200 57% 60% %+ H:25300
INA= I MMAFE |EHERFECHAE)| JAL JAL 23,600 60% 63% $:24,400, 1:24,000, H:24,300
=E |HERFECHAE)| JAL JAL 24,400 58% 61% % H:25,200
IMA=REIRE MAFE |ERFECHE)| JAL JAL 24,200 60% 63% 25,800, 1:24,600, H:24,700
BREX |[HECHH)| JAL JAL 25,200 59% 61% |#:26,000. £:23,600. H:27.400
INR=BEXE MMAFE |ERFECHE)| JAL JAL 34,800 49% 52%  %:36,600, 1:36,200
EEASH |[RECHE)| JAL JAL 36,600 46% 50% |#:37,400. £:34,800. H:38,200
INA=EH Ma%  [FE@ERE) | JTA [JTA/RAC] 26,000 55% 58% | & 1:28,400
EoE | ERE) [JTA/RAC]  JTA 22,900 61% 63% | A H:25.300
IMA=F1E MAFE B ERER) | JTA JTA 24,300 62% 64% % 1:26,700
AiEE  [MEERHE)| JTA JTA 24,300 62% 64% | H H:26,700
El=2% FELF | GRE)| JTA [JTA/RAC| 23,600 54% 57% % 1:26,000
Eosx  |[B(EE) [JTA/RAC] JTA 23,600 54% 57% | H:26,000
fEIL=%h1E RELF | GRE) | JTA JTA 21,900 62% 64% % 1:24,300
AiEE  [MEERHE)| JTA JTA 24,900 56% 59% | H:27,300
BH=EE = & JAL JAC 25,600 41% 46% | 1:23,000, H:25,200
HEFE & JAC JAL 25,600 41% 46% | H:22,200, % 1:25,800, H:21,400
BEREB=5H | BEXAEHE | HKkBEH JAC JAC 16,500 38% 38%
5% Aok R JAC JAC 16,500 38% 38%
BEBERS=HKREH| EEXEHX 5 JAC JAC 15,500 48% 48%
Ak RABSE 5k JAC JAC 15,500 48% 48%
RGN =55 [ GREH) K| RECHE) [JAL/JTA|  JAL 31,300 56% 58%  %:31,700, £:30,100, H:34,200
EfR%  |mm=CAE)|] JAL [JAL/JTA[ 30,100 58% 60% | £::34,200, £:31,300
iR (BBER) ==R [ = CHE) |[JAL/JTA|  JAL 28,900 59% 61% | H:31,400
RCEAE)[ JAL [JAL/JTA[ 27,700 61% 63% | %:29,400, 1:27,800
iR (BRER) =FE [ = CHE) |[JAL/JTA|  JAL 28,000 57% 60% |#£:28,800. £:26,800. H:30,500
HCEAE)[ JAL  [JAL/JTA[ 26,800 59% 62% | £:30,100, 1:26,900
iR (BRER) = Lfs s (BRER) FE| R CHHE) [JAL/JTA[  JAL 23,300 61% 63%
W% |RECHAHE)| JAL  [JAL/JTA| 23,300 61% 63%
R (RER) =& [PEGREE| & JTA JAL 28,500 60% 62% %+ H:29,400
& F & JAL JTA 30,200 57% 60%
R (BRER) =/ [ (BRER) FE| R CHHE) [JAL/JTA[  JAL 27,500 56% 59%  %:28,300, 1:26,300, H:30,800
MaFE  [ERECHE)| JAL  |JAL/JTA[ 26,300 58% 61% %:30,400, £:27,900, H:27,500
RGNS ==M PRSI X =E JTA JAL 24,700 52% 55%
=5 12l JAL JTA 24,700 52% 55%
R (BRER) =l B GRE | B JTA JAC 23,500 51% 55%
[NITES fak JAC JTA 23,500 51% 55%
RRCPB) =EEXB|ER (PR K| ERS JAL JAC 26,800 57% 60% | H:27,800
KRR RFD|  JAL JAL 33,800 42% 46% | AK:34,700, £ 1:35,600
EEXER | BERS JAC JAL 26,800 57% 60% % H:28,300
KRR RFD|  JAL JAL 32,000 45% 49% | H:35.200
HR(PHE)=ERAS|RRPIH) %] ERES JAL JAC 31,400 50% 52% |£:32,300
BEAE | JAL JAC 34,200 39% 41% |2 1:35100
ERER RS JAC JAL 30,100 52% 54% % H:30,300
BEKE | JAC JAL 34,200 39% 41% | H:35,100
HRPHE)=FzE5|RRPH %] EBRES JAL JAC 31,300 52% 55% | H:32,400
BEAE | UAL JAC 36,500 39% 41% | % 1:37,400
wEZER BERS JAC JAL 30,600 53% 56% % H:30,800
TEAE | JAC JAL 36,500 39% 41% | H:37,400
FROPE) =4KkRB|RECHRE| ERS JAL JAC 34,200 50% 52% | H:33,100
HKREE | ERS JAC JAL 31,800 54% 55%  %:32,600, H:34,200
EEKRE | JAC JAL 38,700 39% 41% | H:39,600
RROHBE)=5# [RECHA)%E| EBRES JAL JAC 34,700 50% 52% | H:33,600
Bm% ERS JAC JAL 32,700 53% 55%
BEKRE | JAC JAL 40,400 39% 41% | H:41,300
KR () =BEXE| ARFEME| ERS JAC JAC 25,900 48% 52%  %:26,800, 1:26,300
BEEAER | BRS JAC JAC 25,300 49% 53%
KR (FFH =ERS| KR(FFH| ERES JAC JAC 28,000 45% 47% % 1:28,900
BEAS JAL JAC 28,800 37% 40% % 1:29,700
ERERE RS JAC JAC 28,500 44% 47% £ H:29,900
EBEKRE | JAC JAL 28,800 37% 40% | H:29,700
KR (BFH =@z 8| KIR(FEFHH| EBRES JAC JAC 29,000 46% 50% % 1:29,900
EBEAS JAL JAC 31,100 37% 40% | % 1:32,000
wEZER BRS JAC JAC 29,800 44% 49% | H:31,300
BEKRE | JAC JAL 31,100 37% 40% | H:32,000
K () =k RE| KBR (RFH %| EIR JAC JAC 29,900 47% 49% |2 1:30,800
AKREHE | BERS JAC JAC 30,300 46% 48% | 1:30,800, H:31,800
KR(FFH =55 [KRUFDFE| EBRES JAC JAC 30,400 47% 49% % 1:31,300
CEE3 BEIRE JAC JAC 31,300 46% 48% £ H:32,700
BE=EXKXES FERES BEIRE JAC JAC 21,500 48% 53%
EEAER | BRS JAC JAC 21,500 48% 53%
BHE=E/5 EEFES ERS JAC JAC 23,100 46% 49%
EEAE | JAC JAC 22,900 45% 45%
ERER BEIRE JAC JAC 22,700 47% 50%
EEXE | JAC JAC 22,900 45% 45%
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ELT P =1 2
=40 mane | BERE | 55  BER C 08 %
XED | KEQ i i
BR=Ez5 EEFES BRE JAC JAC 25,500 44% 49%
BEAE | JAC JAC 25,200 44% 44%
w2ER BERS JAC JAC 25,300 44% 49%
BEAE | JAC JAC 25,200 44% 44%
13 =K RED FERES ERS JAC JAC 26,000 46% 48%
HKRERE | ERS JAC JAC 26,000 46% 48%
BEAE | JAC JAC 27,400 44% 44%
12t = 53R [ERES ERS JAC JAC 25,500 49% 51%
Bm% ERS JAC JAC 25,500 49% 51%
HEEKXKE | JAC JAC 29,100 44% 44%
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rEfEEI5128 JEER(SA16H~24HERS) JAL/JTAZJAC/RAC
EE#EAR 2011/11/29 ~
E—P _ °__ °__
< mann | PR e % 20 Sla
EED | EEQ@ i -
RRECHA) =5 [RZECHHA)F| 4 GB%) |JAL/JTA[JTA/RAC| 28,100 54% | H:28,700 28,100 54%
Eos  [8(E8%F) [JTA/RAC[JAL/JTA[ 27,900 55%  +:27,700, H:30,300 30,300 51%
RRECHE)=FE [REZECHHA)F| P GREH) [JAL/JTA[ JTA 27,200 59%  #1:29,200, H:28,000 27,200 59%
RIEH [PEGBEH)| JTA |JAL/JTA| 29,200 56%  +:27,200, H:30,800 29,800 56%
KB (B3FE) | JTA JAL 29,800 60% | H:33,000 — —
KR (R FH =% Bl | KBR (P S| BRECRHE) | JAL JAL 23,600 65% | H:24,400, £ +:25600, H:26,800 23,600 65%
AR TR JAL JAL 26,400 61% % 1:28,000 26,400 61%
ZiEpFE |RECHHE)| JAL JAL 22,900 66% | A#£:24,100, £:23,700. H:26,800 26,000 62%
Kix (BA7E) =% Bl | KBR (B8 7E) S| B CRIH) | JAL JAL 23,600 65% | H:24,400, £ +:25600, H:26,800 23,600 65%
AR TR JAL JAL 26,400 61% % 1:28,000 26,400 61%
iR |[RECHHE)| JAL JAL 22,900 66% | A#£:24,100, £:23,700. H:26,800 26,000 62%
AR TR JAL JAL 24,400 64% 24,400 64%
KR (FFH =N [ KR () F|R/RRCHHE) | JAL JAL 24,000 64% | F:24,400, £:24,800, £:24,100, H:22,400 24,000 64%
JBJIFE [HECHHE)| JAL JAL 23,200 65% | A%:24,400, H:24,600 23,200 65%
KR (B#E) =he )1l [ KPR (BH7E) F|R/TCHAE)| JAL JAL 24,000 64% | F:24,400, £:24,800, £:24,100, H:22,400 24,000 64%
JBJIZE [HECHHE)| JAL JAL 23,200 65% | A%:24,400, H:24,600 23,200 65%
KR (FFH =888 [ KR (P F|R/RCHHE) |  JAL JAL 21,800 67% | F:22,600, £:23,400, £:23,000, H:25,000 23,400 64%
HIERFE [RECHH)| JAL JAL 23,400 64% | K%£:24,600, H:26,300 26,300 60%
KR (B7E) =8Ip% | KB (BFE) F|R_TCHEAE)| JAL JAL 21,800 67% | F:22,600, £:23,400, £:23,000, H:25,000 23,400 64%
HIERFE [HECHH)| JAL JAL 23,400 64% | AR%:24,600, H:26,300 26,300 60%
KB (RFH =5 [ KBR R F|RFCHE) | JAL JAL 22,000 66% | H:22,400, 1:21,200, H:23,200 22,000 66%
L |REECHEA)| JAL JAL 21,200 67% | K%£:22,400. H:22,000 21,200 67%
ABx (BA7E) = /5 | ABx (B9FE) | RFCHE)|  JAL JAL 22,000 66% | H:22,400, 1:21,200, H:23,200 22,000 66%
L% |REECHEA)| JAL JAL 21,200 67% | K%£:22,400. H:22,000 21,200 67%
KR (FFH =8 [ KR (FFD E|RRCHHE)| JAL JAL 22,300 62% |%:24,800, 1:24,000, H:23,100 22,300 62%
BREER [HHECPRHE)| JAL JAL 23,100 60% | A%:24,300, H:26,800 26,800 54%
KR (FFH ==R [ KBRUFFD FE|ERCHHE)| JAL JAL 21,800 61% | H:23,800 21,800 61%
ZRE |HEFCHHAE)| JAL JAL 23,400 58%  A%:24,600, H:24,200 23,400 58%
Ak (BFE) ==iR ZRE |[HEFECHHAE)| JAL JAL 23,400 58%  A%:24,600, H:24,200 23,400 58%
KR (FFH =2 [ KR (FF) F|H#EGRE)| JAL [JTA/RAC| 27.200 51% % 1:29,200 27,200 51%
Eos  |[B(EE) [JTA/RAC] JAL 26,000 53% | H:27,600 27,200 51%
KR (BdE) == [ KB (BFE) 5| ih#E (FB%F) |JAL/JTA[JTA/RAC| 27,200 51% % 1:29,200 27,200 51%
Eo % [7# (%) [UTA/RAC[JAL/JTA[ 26,000 53% | H:27,600 27,200 51%
KB (BFH =R1E [ ARG R PEGRE) | JAL JTA 25,900 57% £ +:27,500 25,900 57%
AiEE  [MEERHE)| JTA JAL 28,900 52% | H:31,300 28,900 52%
Kk (BdE) =FH1E [ KBk (BFE) F|h#E (FR%) [JAL/JTA[ JTA 25,900 57% % 1:27,500 25,900 57%
aiEH  [FE@E@H)| JTA [JAL/JTA[ 28900 52% | H:31,300 28,900 52%
ZHE (P =%m5 | £ EE (P83 R[AREGFH |  JAL JAL 23,600 63% 23,600 63%
i Bl 5 1 E TR JAL JAL 24,400 61% |%:25,200, H:29,000 29,000 54%
Z2HE(PE) =25 (242 (P P FHE)| JTA [JTA/RAC| 27,200 54% % 1:29,200 27,200 54%
Eos  |[B(EE) [JTA/RAC] JTA 27,800 53% | H:30,600 27,800 53%
ZHE (D) =RiBE[2ER(PH) X PE T JTA JTA 28,900 55% % 1:30,900 28,900 55%
RiEE  [MEERHE)| JTA JTA 28,900 55% | H:30,600 28,900 55%
AR BT =/MA[ AR TR | RECAHE) [ JAL JAL 25,400 57%  %:26,600, H:29,000 28,100 53%
MAFE |EHERFECHAE)| JAL JAL 24,600 59% %:29,500, 1:26,600, H:25,400 24,600 59%
AR (%) =RIL [ ARG TR | R CAE) [ JAL JAL 25,600 62%  |%:26,000, H:28,000 28,400 58%
RS |EFECHH)| JAL JAL 25,500 62% | 7K:26,300, £:28,200, 1:26,000 25,500 62%
AR TR =LE[AREFTH X RICAHE)|  JAL JAL 26,800 61% | H:28,800 28,400 59%
LEE% |EFECGIHA)| JAL JAL 26,500 61% | A:27,300. £:29,200, F:27,200 26,500 61%
HIREFTR) =ILOFH AR FFR) E[ERCAE) [ JAL JAL 28,000 61% | £:28,400, 1:26,400, H:30,400 30,800 57%
WOF8% [RRERCEA)| JAL JAL 27,200 62%  |%:29,000, 1 H:28,000 27,200 62%
AR ) =HEAREGTH) H|RTCAH)|[  JAL JAL 28,900 58%  %:30,500, H:32,100 30,100 57%
HES |EFECHH)| JAL JAL 26,700 61% | K:27,600. £:30,900, £:30,400, H:27,100 26,700 61%
AR T =ES[AREF TR X R CAH)|[  JAL JAL 24,900 63% | H:26,900 27,300 59%
®mER |[HECHH)| JAL JAL 24,800 63% |%:26,300, 1:26,000, H:23,700 24,800 63%
AR TR =R [AURE TR X R CAHE)|[  JAL JAL 28,200 58% | %:29,000, 1:27,400, H:30,600 30,600 55%
=M% |EFECHIA)| JAL JAL 27,400 59% £ +:29,800, H:25,600 27,400 59%
AR TR =& [AREF TR X R CAHE) | JAL JAL 27,200 61% |%:28,400, H:30,000 29,200 58%
=A% |EFECHIA)| JAL JAL 27,200 61% |A:27,300. £:30,600, F:29,200 27,200 61%
AR (%) =AU [AR TR | RE CAE) [ JAL JAL 28,000 60% _ |%:30,000, H:31,600 30,600 56%
wmilFE  [HERCHHE)| JAL JAL 27,300 61% | 7:28,400, £:30,600, 1:30,400, H:28,100 27,300 61%
AREFFR) =AM AR FFHR[EFCAHE) | JAL JAL 29,000 61% |£:31,000, H:31,800 31,800 57%
Az [FRERCHE)| JAL JAL 28,200 62% | K:29,400. £:32,200, £:31,400, H:29,000 29,000 61%
AR TR =KD [AUREFTH) X R CAHE) | JAL JAL 29,200 60% |%:29,600, 1:28,800, H:31,600 32,000 56%
AonFE |HFECHHAE)| JAL JAL 29,300 60% | K:30,100. %:31,800, £:30,000, H:29,700 29,300 60%
AR T =RB[AREF TR H|RFECAHE)|[  JAL JAL 28,800 62% | H:30,800 30,000 61%
RBE |[HFECHAE)| JAL JAL 29,300 62% | X:30,100, £:31,800, +:29,600 29,300 62%
AR Fm%) =REAR[AURF TR | RECAE) [ JAL JAL 29,600 60% %+ H:30,400 29,200 61%
BEAZE |[HFECHHAE)| JAL JAL 28,400 62% | A:29,300. £:31,000, 1:30,800 28,400 62%
AR (T == [ AR TR X RECAHE)|[  JAL JAL 28,400 62% |%:30,400, 1:29,600, H:31,600 30,400 59%
=E |[HEFECHHAE)| JAL JAL 28,500 62% | A:29,300. £:31,000, $:30,000 28,500 62%
LEFFR) =ERE[ARFTFR) X[/ FHE)| JAL JAL 30,200 61% |%:31,600, H:31,200 30,800 60%
BREX |[HECHH)| JAL JAL 28,400 63% | K:29,300. £:31,000, £:29,200, H:29,800 28,400 63%
LR TR = B8 [ IR T | R CHE) | JAL |JAL/JTA| 30,300 61% | £:33,600, £:31,200, H:32,300 31,900 59%
ABR(BEFE) [ JAL [JAL/JTA[ 30,200 62% % 1:31,800. H:31,400 30,200 62%
ZEE(hE) | JAL JTA 32,000 60% | % +:34,400 32,000 60%
F=E) JAL JTA 27,600 67% |£:29,300, H:29,200 27,600 67%
PR (BRER) H | _RE CRHA) [JAL/JTA|  JAL 31,200 60% | K:32,000, £:33,700, £:31,500, H:33,600 33,600 57%
KB (BETE) [JAL/JTA[  JAL 31,400 61% | H:33,000 33,000 59%
ZEE(HE)|]  JTA JAL 32,000 60%  %:33,600, H:34,800 32,000 60%
FElE) JTA JAL 27,600 67% % 1:30,100. H:28,500 27,600 67%
[HEEE S F] BE%E [EECHHE)| JAL JAL 28,400 65% 32,800, 1:29,000, H:31,200 29,200 64%
AR TR | JAL JAL 25,400 67% % 1:27,000 25,400 67%
iR |[RECHHE)| JAL JAL 26,700 68% |#:27,500, 1:29,300, H:29,800 29,800 64%
AR TR JAL JAL 25,400 67% | H:27,000 25,400 67%
&R =he )il BE%E  [RECHHE)| JAL JAL 25,600 68% | +:30,400, H:26,000 26,400 67%
nBJIFE [HECHHE)| JAL JAL 26,600 67% % H:30,300. 1:26,400 26,600 67%
1= =8I E% BE%E  [HECHHE)| JAL JAL 26,600 67% 31,000, £:28,500, H:29,400 27,400 66%
SRR [HECHH)| JAL JAL 26,800 67% |%:29,800, 1:27,000, H:30,800 30,800 62%
&=k BE%E  [RECHHE)| JAL JAL 25,200 68% % H:27,600, 1:25,900 26,000 67%
wLF  |EECHEA)| JAL JAL 24,600 69% |£:27,600, £:25,200 24,600 69%
12 = EHEE BE%E  [RECHHE)| JAL JAL 26,100 64% |7X:26,900, £ 1:29,600, H:27,500 27,500 62%
EEER [EECHHE)| JAL JAL 27,700 62% |%:29,500, 1:28,700, H:30,200 30,200 58%
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RE=7% B%E  [RECHHE)| JAL JAL 29,800 58% | £:32,600, 1:29,700, H:31,000 30,600 57%
BHA%  |[ERFECHHE)| JAL JAL 29,200 59% | A:30,600. £:33,300., 1:29.000 29,200 59%
BRE==iR BE%E [RECHHE)| JAL JAL 26,400 63% % +:28,100, H:28,200 28,200 60%
% |EFECHEA)| JAL JAL 26,800 62% | £:29,800, 1:27,400 26,800 62%
2R =FE HECRHE)| JAL JAL 27,300 58% | %:30,500, +:27,200, H:28,100 28,100 57%
BEFECRAE)|[ JAL JAL 26,300 60%  A:27,100, £:30,400, H:26,700 26,300 60%
KRERFFD|  JAL JAL 24,400 50% | % H:24,800 24,400 59%
2R = L fz BE%E  [RECHHE)| JAL JAL 22,000 63% % +:23,700, H:23,200 22,400 62%
W% |RERCHE)| JAL JAL 22,000 63% |%:22,800, 1:22,400 22,000 63%
B =% BEFE [ KRUEPEFD| JAL JAL 19,400 65% % H:21,000 19,400 65%
Hin% [ KROURFD| JAL JAL 23,000 58% | 1:22,600 23,000 58%
[ EUSA B%E  [RECHHE)| JAL JAL 26,800 57% % H:30,000, 1+:27,200 29,200 54%
MAFE |RFECHA)| JAL JAL 26,800 57% |7:27,600, £:30,500, H:28,400 26,200 58%
RE=En =% [AEERE)| JTA [JTA/RAC| 22700 53% |£:24,400 22,700 53%
Eosk  |8(EF) [JTA/RAC] JTA 23,600 51% | % H:25.200 25,200 48%
&R =Hh1E |  [AE@EE3)| JTA JTA 24,400 55% |%:25,700 24,400 55%
RiEE  [MEERHE)| JTA JTA 24,400 55% 24,400 55%
=& ZEAIFE  [AREFTH| JAL JAL 22,400 59% | H:23,400 23,400 57%
WEeEFE  [HREFH)| JAL JAL 20,400 62% % 1:22,800 20,400 62%
i = /MR LA |RECHHE)| JAL JAL 24,700 63%  |%:25,500, 1:25,300, H:28,600 27,800 59%
MMAFE |ERFECHAE)| JAL JAL 25,400 62% |%:27,400, 1:26,600, H:28,100 25,400 62%
i Bl = e L TR |RECHHE)| JAL JAL 24,900 67% | +:25,800, H:28,000 28,000 63%
FEL  |EFCHH)| JAL JAL 25,600 66% | %:27,600, 1:26,800, H:28,400 25,600 66%
il =HE LR |RECHHE)| JAL JAL 27,400 64% 29,400, 1:28,600, H:32,500 30,500 60%
HEX |EFECHH)| JAL JAL 28,300 63% % +:30,800, H:30,700 28,300 63%
il =H 0l iR |RECHHE)| JAL JAL 27,300 65% |%:28,900, H:32,000 30,400 61%
wmilFE  [HECHHE)| JAL JAL 28,000 64% % T H:30,000 28,000 64%
JENTETSA neJIFE [REECHHE)| JAL JAL 25,000 62% |%:25,800, H:28,100 25,000 62%
M |EHERFECHAE)| JAL JAL 23,200 65% |%:28,000, 1:27,300 23,200 65%
JBJII=FRALL nBJIFE [HEECHHE)| JAL JAL 25,200 66% | H:27,200 25,200 66%
FELE  |EFCHH)| JAL JAL 23,600 68% & 1:27,600 23,600 68%
BII=HE neJIFE [RECHHE)| JAL JAL 26,100 65% 26,100 65%
HES |ERECHH)| JAL JAL 25,500 66% | 1:28,600 25,500 66%
TENI=#x1l nBJIFE [RECHHE)| JAL JAL 27,600 64%  |%:29,200, H:30,100 27,600 64%
wmilFE  [HECHHE)| JAL JAL 27,600 64% £::30,300, £:29,600, H:26,000 27,600 64%
EEEINA HIERFE [RECHH)| JAL JAL 25,200 61% |%:26,000, 1:23,400, H:29,800 28,300 57%
MAFE [ERFECHE)| JAL JAL 23,600 64% % +:25,600, H:26,300 24,400 63%
S¥E =10 HIERFE [RECHH)| JAL JAL 25,400 65% | H:28,900 28,900 61%
L |EFCHH)| JAL JAL 23,800 68% % 1:25800. H:26,600 24,600 66%
SR =HE HIERFE [HECHH)| JAL JAL 27,900 63%  |%:29,900, H:32,400 31,900 57%
HES |EFECHH)| JAL JAL 26,500 65% |5 H:28,900, 1:28,500 27,000 64%
S =410 SRR [RECHH)| JAL JAL 27,800 63% |%:29,400, H:31,800 30,800 59%
milFE  [EECHHE)| JAL JAL 26,200 65% 26,200 65%
L=/ HLaF  |EFECHA)| JAL JAL 23,000 64% % H:23,800, 1:21,200 23,000 64%
MM |ERFECHE)| JAL JAL 22,200 66% | H:24,500 22,200 66%
HE=El HmLa%  |EECHEA)| JAL JAL 23,200 68% 23,200 68%
FEL  |EFCHH)| JAL JAL 22,400 69% | H:24,.800 22,400 69%
Hh=HE HmLaF  |EECHA)| JAL JAL 25,700 65% % H:27,700 25,700 65%
HES |ERECHH)| JAL JAL 25,100 66% | +:26,400, H:27,100 25,100 66%
HLE=H wLaF  |EECHA)| JAL JAL 25,600 66% | % H:27,200 25,600 66%
WmilFE  [EECHHE)| JAL JAL 25,600 66% | H:26,400 25,600 66%
BEEE =/ BREER [HHECPRH)| JAL JAL 24,900 57% %:25,700, 1:24,700, H:29,400 28,600 50%
M |HERFECHAE)| JAL JAL 24,100 58% % 1:26,600, H:24,800 24,100 58%
EEE=E Ll BREER [HECPRH)| JAL JAL 25,200 62% | H:28,800 28,800 56%
fELFE  |EFCHH)| JAL JAL 24,300 63% % 1:26,800. H:24,700 24,300 63%
HE=HE BREER [HHECPRH)| JAL JAL 28,000 58%  %:29,600, H:33,300 31,300 53%
HE HECHHE)| JAL JAL 26,700 60% | 1:30,800 26,700 60%
EEE=#1l BREER [HECPRH)| JAL JAL 27,500 59% %:29,100, H:32,800 31,200 54%
WmilFE  [EECHHE)| JAL JAL 25,900 62% % 1:28,400. H:26,300 26,300 61%
BREE =LA M BEEER [HHECPRH)| JAL JAL 29,300 60% |%:30,100, H:32,200 32,200 56%
HEE=X5 BREER [HHECPRH)| JAL JAL 28,700 60% | H:32,400 32,400 55%
AnFE |HFECHHAE)| JAL JAL 28,700 60% % +:31,200, H:28,300 28,700 60%
HEE=RI& BREER [HECPRH)| JAL JAL 28,700 62% 30,400 59%
RBE |[HECHAE)| JAL JAL 27,700 63% H:28,300 28,300 62%
EEE=FEX BREER [HECPRH)| JAL JAL 29,500 59% H:31,200 29,600 59%
BEAZE |[HECHHAE)| JAL JAL 25,900 64% H:27,100 25,900 64%
HE=2I& BREER [HHECPRH)| JAL JAL 28,300 61% H:32,400 30,400 58%
=E |HEFECHHAE)| JAL JAL 27,900 62% | 1:30,400 27,900 62%
EE=ERS BREER [HECPRH)| JAL JAL 30,100 60%  |%:31,700, H:32,400 32,000 57%
EREX |HECPH)| JAL JAL 27,300 63% % +:29,600, H:27,900 27,900 63%
BFR=/H BEA% [ERCHHE)| JAL JAL 27,600 51% |%:29,200, 1:27,200, H:28.400 27,600 51%
MMAFE [ERERFECHA)| JAL JAL 26,800 52%  %:27,200, H:27,900 26,800 52%
=L BHA%  |[ERFECHHE)| JAL JAL 27,800 57%  %:28,600, 1:26,200 27,800 57%
FEL  |EFECHH)| JAL JAL 27,000 58% |%£:27,400, H:28,200 27,000 58%
EH=L5 EH%E  [EmCEE)| JAL JAL 27,800 57% | £::29,400, 1:27,400, H:28,600 27,800 57%
LEE% |EFEEIHA)| JAL JAL 28,600 56%  %:29,200, +:27,000, H:29,000 28,600 56%
BEH=LOFY BHAX (R CHHE)| JAL JAL 30,200 56%  %:31,000, 1:27,400 30,200 56%
WOF8%E [RRERCEA)| JAL JAL 30,200 56%  %:30,600, H:31,400 30,200 56%
EHR=HE BEHA% [ERCHHE)| JAL JAL 28,700 56% 28,700 56%
HE HECHHE)| JAL JAL 29,700 55% % H:30,500 29,700 55%
EH=S BHA%  |[ERRECHHE)| JAL JAL 26,700 58% |£:27,500, 1:25,100 26,700 58%
wmER [HECHH)| JAL JAL 26,700 58% | #H:27,100 26,700 58%
FH=mi EHE  [EmCEE)| JAL JAL 30,400 53% 231,600, 1:28,000 30,400 53%
=M% |EFECHA)| JAL JAL 28,800 55% % +:29,600, H:28,200 28,800 55%
EH=aH BA%  |[ERFECHHE)| JAL JAL 29,400 55%  %:31,000, 1:27,800, H:30,200 29,400 55%
=A% |EFECHA)| JAL JAL 29,400 55%  %:31,400, H:30,600 29,400 55%
HHR=0L BEHA%  [ERRECHHE)| JAL JAL 30,200 55%  £:32,600, 1:28,600, H:31,800 30,200 55%
wmilFE  [HECHHE)| JAL JAL 30,200 55% | H:29,800 30,200 55%
BHE=dLAM BHAX |RERECHHE)| JAL JAL 31,200 56%  %:33,600, 1:29,600 31,200 56%
dEhms [RRERCHAE)| JAL JAL 31,200 56% % H:32,400 32,000 55%
BEHR=K7 BEHa%  [EFECHHE)| JAL JAL 31,400 55% |£:32,200, 1:29.800 31,400 55%
Xo%E [EECHE)| JAL JAL 31,400 55% % H:32,200, 1:31,000 31,400 55%
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EH=RI& ERCHE)| JAL JAL 29,400 60% _ |%:30,200, 1:29,000 29,400 60%
BEECAE)|[ JAL JAL 31,400 57% £ H:31,800 31,400 57%
EHR=ER ERCHE)| JAL JAL 29,000 59% % 1:29,800, H:28,600 29,000 59%
BEECAE)|[ JAL JAL 31,400 56% £ H:31,800 31,400 56%
EHR=8& ERCHE)| JAL JAL 29,800 58%  %:33,000, H:31,400 29,800 58%
BEECAE)|[ JAL JAL 30,600 57% £ H:31,000 30,600 57%
BER=ERS BEECAE)|[ JAL JAL 31,000 58% |£:32,200, 1:30,400. H:31,400 31,000 58%
BEECAE)|[ JAL JAL 31,400 57% |%:31,800, H:33,200 31,400 57%
ZIR=/2 BEECAE)|[ JAL JAL 25,200 55% £ H:26,000, :23,400 25,200 55%
BEECAE)|[ JAL JAL 24,400 56% | H:25,100 24,400 56%
ZiR=FL HECHHE)| JAL JAL 25,400 60% 25,400 60%
BERECAE)|[ JAL JAL 24,600 62% | H:25400 24,600 62%
=R=L5 BEECAE)|[ JAL JAL 25,400 61% % H:25,600 25,400 61%
BEECAE)|[ JAL JAL 25,400 61% | % H:26,200 25,400 61%
ZR=ILAFH HECHHE)| JAL JAL 27,800 59% | 1:26,600 27,800 59%
BEECAE)|[ JAL JAL 27,800 59% | H:28,600 27,800 59%
ZR=HZE HECHHE)| JAL JAL 27,900 57% % H:29,900 27,900 57%
BEECAE)|[ JAL JAL 27,000 59% | % 1:28,600 27,000 59%
ZR=ES HECHHE)| JAL JAL 24,300 62% 24,300 62%
BEECAE)|[ JAL JAL 23,800 62% 23,800 62%
ZiR=2 BEECAE)|[ JAL JAL 28,000 56% |%::28,400, 1:26,800 28,000 56%
BEECAE)|[ JAL JAL 27,200 57% £ +:28,000, H:26,200 27,200 57%
=R==% HECHHE)| JAL JAL 27,000 59% £ H:27,800 27,000 59%
BEECAE)|[ JAL JAL 24,600 62% | % 1:25.400 24,600 62%
ZiR=#0 HECHHE)| JAL JAL 27,800 58% % H:29,400 27,800 58%
BEECHAE)|[ JAL JAL 27,000 59% 27,000 59%
ZiR=dtnm B HECHHE)| JAL JAL 28,800 59% |%:30,400 28,800 59%
A [RFERCHE)| JAL JAL 28,000 60% | H:27,000 27,000 62%
ZiR=X% ZRE |HEFCHHAE)| JAL JAL 29,000 58% | 1:27,400 29,000 58%
AHFE |HFECHHAE)| JAL JAL 29,000 58% 29,000 58%
ZR=RK& ZRFE |HEFCHHAE)| JAL JAL 27,400 62% % H:28,200 27,400 62%
RBE |[HFERCHAE)| JAL JAL 29,000 60% 29,000 60%
ZiR=8%X SRE |HEECHHAE)| JAL JAL 28,200 60% % +:29,000, H:27,800 28,200 60%
BEAZE |[HFECHHAE)| JAL JAL 26,200 63% | H:27,800 26,200 63%
ZiR=E’ ZRE |HEFCHHAE)| JAL JAL 27,000 62% |%:29,800, 1:28,200, H:29,000 27,000 62%
=E |[HEFECHA)| JAL JAL 28,200 60% 28,200 60%
ZR=ERS ZRE |[HEFCHHAE)| JAL JAL 28,800 60% _ |%:30,400, H:29,000 28,800 60%
EREX |[HECHH)| JAL JAL 28,600 61% 28,600 61%
BE=/ FEFE [HECHH)| JAL JAL 24,300 52% % H:25,900 24,300 52%
MM [EHERFECHE)| JAL JAL 24,300 52%  %:25,100, H:25,000 24,300 52%
FE=[LL FEFE [HECHH)| JAL JAL 24,500 59% % H:25,300 24,500 59%
FELS  |EFECHH)| JAL JAL 24,500 59% | % H:25,300 24,500 59%
MHE=LE8 FEFE [HECHH)| JAL JAL 25,300 58% £ H:26,100 25,300 58%
LEE% |EFECHIHA)| JAL JAL 25,300 58%  %:26,900, H:26,100 25,300 58%
MEBE=LOFH EFE [HECHH)| JAL JAL 26,900 58%  #H:27,700, 1:26,500 26,900 58%
WWOF8%E [RRERCEA)| JAL JAL 27,700 56% % H:28,500 27,700 56%
MA=HE MER [EECHH)| JAL JAL 27,400 55% 27,400 55%
RERFFD|  JAL JAC 20,000 64% & 1:21,200 20,000 64%
HEH |[ERECEH)| JAL JAL 27,200 55%  |%::28,400, H:27,600 27,200 55%
KRR FFD|  JAC JAL 20,000 64% % H:20,400, £:19,200 20,000 64%
MH=ES5 FEFE [HECHH)| JAL JAL 23,400 60% % H:24,200 23,400 60%
wmER [HECHH)| JAL JAL 22,100 62% | H:22,600 22,100 62%
MEA=51K EFE [HECHH)| JAL JAL 27,100 54% %:28,300, 1:25,900, H:27,900 27,100 54%
=M% |[EFECHA)| JAL JAL 26,100 55%  |%::26,900 26,100 55%
MEA=540 EFE [HECHH)| JAL JAL 26,100 57% £ H:27,700 26,100 57%
=A% |EFECHA)| JAL JAL 26,900 55%  %:29,200, H:27,700 26,900 55%
#E=1l RS [BRECPHE)| JAL JAL 26,900 56% % H:29,300 26,900 56%
NLFE  [BRECPHE)| JAL JAL 26,900 56% | £:27,700 26,900 56%
FE =AM IR [BRECPHE)| JAL JAL 27,900 58%  %:30,300, H:28,700 27,900 58%
Az [RRERCHEE)| JAL JAL 28,700 56%  %:30,300, H:29,500 29,500 55%
MHE=X% MER [EECHH)| JAL JAL 28,100 57% % H:28,900, +:27,300 28,100 57%
KRR FFD|  JAL JAL 24,000 58% |£:26,000, * H:25,200 24,000 58%
Ao |[ERCHEHA)| JAL JAL 28,900 55%  |%::29,700, 1:28,500 28,900 55%
KRR FFD|  JAL JAL 25,200 56% £ H:25,600, 1:24,400 25,200 56%
MHE=R& MER [EECHH)| JAL JAL 27,300 60% % H:28,100 27,300 60%
KRR RFD|  JAL JAL 24,200 62% % 1:26,000, H:24,800 24,200 62%
RBFE [ERERCHEA)| JAL JAL 28,900 57% |%:29,700 28,900 57%
KRR FFD|  JAL JAL 25,200 60% % +:26,000. H:26,800 25,200 60%
FHE=FEX MER [EECHH)| JAL JAL 28,100 57% % 1:28,900 28,100 57%
RERRFD|  JAL JAL 24,400 60% % +:25600. H:24,500 24,400 60%
EA% [ERCHA)| JAL JAL 26,500 60% |£:26,900, H:27,700 26,500 60%
RER(FFD|  JAL JAL 25,200 59% |£:25600, T: B:25,700 25,200 59%
MEH==I& MER [EECHH)| JAL JAL 26,900 59%  %:29,700, H:28,900 26,900 59%
KRR RFD|  JAL JAL 25,200 50%  |£:28,400, H:26,800 25,200 59%
=R [ERCEA)| JAL JAL 28,100 57%  |%::28,900 28,100 57%
KR FFD|  JAL JAL 26,300 57% £ H:27,500, 1:26,400 26,300 57%
MH=ERS MER [EECHH)| JAL JAL 29,500 57% %:30,300 29,500 57%
KRR FFD|  JAL JAC 25,200 61% & 1:27.200 25,200 61%
EBREX [HECHH)| JAL JAL 28,500 58% |%:29,300 28,500 58%
KR (FFD|  JAC JAL 26,800 58% £ H:27,200, 1:26,000 26,800 58%
Wi =hin Wz%  |EECHHE)| JAL JAL 20,800 53% % H:21,600, 1:19,000 20,800 53%
MMAFE [ERERFECHAE)| JAL JAL 20,000 55% | H:20,700 20,000 55%
LRz =Rl W% |REECHHE)| JAL JAL 19,500 63% 19,500 63%
FEL  |EFCHH)| JAL JAL 20,200 62% 20,200 62%
W =1L8 W% |EECHHE)| JAL JAL 19,600 63% % H:20,800 19,600 63%
LEE% |HFECHHAE)| JAL JAL 19,800 63% 19,800 63%
IR =105 g% |EECHHE)| JAL JAL 21,800 62% | % H:22,600 21,800 62%
WWOF8%E [RRERCEA)| JAL JAL 21,800 62% 21,800 62%
IifE=HE g% |EECHHE)| JAL JAL 22,300 59% 22,300 59%
HES |EFECHH)| JAL JAL 22,600 58% % 1:24,200 22,600 58%
=5 W% |EECHHE)| JAL JAL 19,900 62% 19,900 62%
®mE% [EECH)| JAL JAL 19,400 63% 19,400 63%
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Lt == Wfz%  |EECHHE)| JAL JAL 21,000 60% 21,000 60%
=M% |EFECHA)| JAL JAL 21,800 58% 21,800 58%
WL ="=4n g% |EECHHE)| JAL JAL 21,000 61% % H:21,800 21,000 61%
=A% |EFECHA)| JAL JAL 20,200 63% % +:21,000 20,200 63%
iz =420 g% |EECHHE)| JAL JAL 21,000 61% | H:21,800 21,000 61%
WmilFE  [HECHHE)| JAL JAL 21,800 60% | H:22,600 21,800 60%
Ltz =dk JdEAMFE |[RECHH)| JAL JAL 23,600 60% | H:22,600 22,600 62%
Iz =K% Wfz%  |EECHHE)| JAL JAL 23,000 60% 23,000 60%
AHFE |HFECHHAE)| JAL JAL 24,600 58% | H:23,000 24,600 58%
L =R Wz%  |EECHHE)| JAL JAL 21,800 65% % H:23,800 21,800 65%
RBE |[HFERCHAE)| JAL JAL 22,600 63% 22,600 63%
Iifz=8EK g% |EFCHHE)| JAL JAL 22,600 62%  |%:23,000 22,600 62%
BEAE |[HFCHHAE)| JAL JAL 21,800 63% 21,800 63%
I == W% |EECHHE)| JAL JAL 22,600 62% % +:23,800 22,600 62%
=E |[HEFECHAE)| JAL JAL 21,800 63% | H:23,800 21,800 63%
L=ERS W% |EECHHE)| JAL JAL 21,800 65% | H:24,200 21,800 65%
BREX |[HECHH)| JAL JAL 23,000 63% 23,000 63%
E=H=E e [ KERUFFD| JAL JAC 22,600 58% 22,600 58%
HES | KERUEFD| JAC JAL 18,800 65%  |%:20,200, 1:19,400 18,800 65%
l&E=xX% e [ KEROFFD| JAL JAL 24,600 55% & 24,600 55%
AaFE | KRUFFD|[ JAL JAL 22,200 59% & 22,200 59%
&E=RKi& WEaER [ KERUEPFD| JAL JAL 24,400 60% %+ H:25,000 24,400 60%
RBEE | KROFFD|[ JAL JAL 24,600 60% |%:25,400, H:26,600 24,600 60%
i =rX e [ KEROFFD| JAL JAL 25,000 57% % 1:26,200, H:25,800 25,000 57%
BAE | KRUFFD|[ JAL JAL 24,600 58%  %:25,400, H:25,100 24,600 58%
&E==1k WweHx [ KEROFFD| JAL JAL 26,200 55% | %:29,000, 1:27,400, H:28,200 26,200 55%
=E | KROFFD|[ JAL JAL 25,700 56% % H:27,300 25,700 56%
WE=ERS e [ KEROFFD| JAL JAC 25,800 58% £ +:27,000, H:26,600 25,800 58%
BREX |XIRUEFD| JAC JAL 25,300 59%  %:27,000, 1:26,200 25,300 59%
FiR=HE #Fin% [ KROUPRFD| JAL JAC 21,800 58%  %:22,800, H:22,200 21,800 58%
HER | KERUEFD| JAC JAL 18,800 63% |%:20,600, H:19,800 18,800 63%
FiR=X% g% [ KRUFFD| JAL JAL 24,200 54% 1:23,800 24,200 54%
AnFE | KRUFFD|[ JAL JAL 24,600 53% 24,600 53%
FR=RE % [ KBROUPRFD| JAL JAL 24,800 58% & 1 H:25,400 24,800 58%
RBE [ KROFFD|[ JAL JAL 25,000 58%  %:25,800, H:26,200 25,000 58%
Fim=REX s | KERUFFD| JAL JAL 25,000 56% 25,000 56%
BEAE | KRUFFD|[ JAL JAL 25,000 56%  %:25800, H:25,100 25,000 56%
Fin==& % [ KROUPRFD| JAL JAL 26,600 53% % 1:27,800 26,600 53%
=EE | KRUFFD|[ JAL JAL 26,100 54%  %£:27,700, H:26,900 26,100 54%
HR=ERS g% [KERURFD| JAL JAC 25,800 57% 25,800 57%
BREX |KIRUEFD| JAC JAL 25,300 58% | %:27,300, 1:26,300, H:26,600 25,300 58%
Y=Ll MAFE |ERFECHE)| JAL JAL 24,000 57% | H:24,700 24,000 57%
FEL |EFCHH)| JAL JAL 24,600 56% £ H:25,600, 1:24,400 24,600 56%
INA=]EE MMAFE |ERERFECHE)| JAL JAL 24,200 58% |%:25200, 1:24,800, H:24.900 24,200 58%
LEE% |HFECHHAE)| JAL JAL 25,600 55%  %:26,600, 1:24,800, H:26,400 25,600 55%
MA=1L0OFH MMAFE |EHERFECHEA)| JAL JAL 25,200 59%  %:25,600, H:26,300 25,200 59%
OF&FE [RRECHH)| JAL JAL 27,200 55% | %:28,000, 1:26,000, H:28,800 27,200 55%
IMA=HE MMAFE |EHERFECHAE)| JAL JAL 26,500 54% | H:27,200 26,500 54%
HE HECHHE)| JAL JAL 26,700 54% %:28,400, 1:26,200, H:27,900 26,700 54%
IMA=1ES MM |ERFECHE)| JAL JAL 23,700 58% % H:24,500 23,700 58%
®mER [HECHH)| JAL JAL 23,700 58% % H:24,500, 1:24,400 23,700 58%
INR=Z MMAFE |HERFECHAE)| JAL JAL 27,400 51% | %:28,600, 1:26,200, H:28,200 27,400 51%
=M% |EFECHIA)| JAL JAL 25,800 54% £ +:26,600, H:26,400 25,800 54%
IMNA=T5 MMAFE |RFECHE)| JAL JAL 24,000 58%  %:24,800, H:25,500 24,000 58%
=A% |EFECEA)| JAL JAL 26,400 54% |£:28,800, 1:27,600. H:28,000 26,400 54%
M=l MAFE |ERFECHEA)| JAL JAL 26,400 55%  %:28,000, H:28,700 26,400 55%
wmilFE  [HECHHE)| JAL JAL 27,200 53% £ H:28,000, 1:28,400 27,200 53%
IMR=JE M MR HECRHE)| JAL JAL 28,200 55%  %:30,600, H:2 28,200 55%
dEhms [FRERCHE)| JAL JAL 28,200 55% 29,000 54%
IMA=K5 MMAFE |EHERFECHAE)| JAL JAL 26,200 58% 26,200 58%
x5 HECRHE)| JAL JAL 28,400 54% % H:29,600, 1:28,000 28,400 54%
IMA=RIE M |ERFECHE)| JAL JAL 26,000 60% |%:26,800, 1:26,400, H:27,500 26,000 60%
RBE |[HFERCHA)| JAL JAL 28,400 56% % H:29,200 28,400 56%
INY=FEXR MMAFE |EHERFECHA)| JAL JAL 26,800 57%  #1:27,600, H:26,300 26,800 57%
BEAE |[HECHHAE)| JAL JAL 28,400 55% % H:29,200, 1:28,800 28,400 55%
IMNA=Z I MM |HERFECHAE)| JAL JAL 26,800 57% | %£:27,600, 1:27,200, H:27,500 26,800 57%
=E |HEFECHAE)| JAL JAL 27,600 56% % H:28,400 27,600 56%
IMA=EIRE MMAFE |EHERFECHAE)| JAL JAL 27,400 58% | %:29,000, +:27,800, H:27,900 27,400 58%
BREX |[RECHH)| JAL JAL 28,400 56% %:29,200, 1:26,800, H:30,600 28,400 56%
IMA=TH RS R (FBER) | JTA |JTA/RAC| 28400 54% % 1:30,800 28,400 54%
=EoE | ERE) [JTA/RAC]  JTA 25,300 59% | B H:27.700 27,700 55%
IMNA=F1E MMAFE B ERE)|[ JTA JTA 26,700 60% % 1:29,100 26,700 60%
AiEE  [MEERHE)| JTA JTA 26,700 60% | HH:29.100 29,100 57%
El=2% FLLFE | GRE)| JTA [JTA/RAC| 26,800 51% % 1:29,200 26,800 51%
Eosx  |[B(EE) [JTA/RAC] JTA 26,800 51% | H:29,200 29,200 47%
EL=R"i= RELFE AR | JTA JTA 25,100 59% | % 1:27,500 25,100 59%
AEE  [MEERHE)| JTA JTA 28,100 54% | H:30,500 30,500 50%
RGN =55 [P GREH) KRR CHE) [JAL/JTA|  JAL 33,300 56%  #:33,700, 1:31,500, H:36,100 35,700 53%
EHE  [Em@E)|[ JAL [JAL/JTA[ 31,800 58% |%£:36,200, 1:33,300, H:32,100 31,800 58%
iR (BRER) = =R [h4E (FR%R) FE| R CHHE) [JAL/JTA[  JAL 30,900 59% | H:33,300 33,300 55%
=R%E [EZ=CEAE)[ JAL [JAL/JTA[ 28,900 61% |%:31,400, *: H:29,700 31,000 58%
R (BRER) =FNE 48 (R%R) F| /R CHHA) [JAL/JTA[  JAL 30,800 56% |%£:31,600 33,200 52%
EFE [ERIHEH)| JAL [JAL/JTA[ 28,800 59% | %:32,900, 1:29,700, H:29,600 30,900 56%
R (BRER) =L fs s (BRER) FE| R CHHE) [JAL/JTA[  JAL 24,500 61% | H:26,300 26,300 58%
Wifs%  [EECHE|[ JAL [JAL/JTA] 24,500 61% | H:25300 24,500 61%
S (RER) =& [hEEGRE E| B JTA JAL 29,300 61% &+ H:30,200 29,300 61%
& F f el JAL JTA 31,000 59% 31,000 59%
PR (BRER) =/ [ (BRER) FE| R CHHE) [JAL/JTA[  JAL 30,300 55% | #:31,100, 1:28,300, H:33,500 32,700 51%
M R CHE)|  JAL  [JAL/JTA[ 28,600 57% _|%:33,200, £:30,700. H:30,300 29,600 56%




